nil= Expand[(1+ (al+a2) *t) *» (1+ (al+a3) »xt) » (1 + (al+a4) xt)
(1+(al+a5) xt) » (1+ (al+a6) »t) » (L + (al+a7) »t) »
(1+(a2+a3) »t) * (1+ (a2+a4) »t) * (L + (a2+ab5) »t) » (1 + (a2 +ab) »t) =
(1+(a2+a7) xt) * (1+ (a3 +a4) »t) * (1L + (a3 +a5) »t) » (1 + (a3 +ab6) »t) =
(1+ (a3 +a7) *t) » (1+ (a4 +a5) xt) » (L + (a4 +a6) »t) » (1 + (a4 +a7) »t) *
(1+ (a5+a6) »t) » (1+ (a5+a7) »t) » (1 + (a6 +a7) »t)]

l+6alt+6a2t+6a3t+6ad4t+6a5t+ +al? a3 a43 a5* a6® a7°® t2! +
2 al a2 a3 a4 a5% a6° a7° t2! + a2? a3 a4> a5% a6° a7% t?! + al a3? a4® a5* a6° a7% t?! + a2 a3? a4® a5* a6° a7® t?!
out[1]=
Size in memory: 194.8 MB 4+ Show more i£f Show all .+« Iconize ¥ @

| Store full expression in notebook

in2l- G8 = SeriesCoefficient[%1, {t, 0, 8}]

10 a1® a2? + 70 al1® a2% + 125 a1* a2* + 70 a1 a2° + 10 a1? a2% + 24 a1® a2 a3 + 310 al® a2? a3 + 950 a1l a2® a3 +
out[2]= +10 a5% a7® + 24 al a6 a7® + 24 a2 a6 a7® + 24 a3 a6 a7® + 24 a4 a6 a7® + 24 a5 a6 a7® + 10 a6? a7°®

Size in memory: 0.8 MB 4+ Show more it Show all +++) Iconize ¥ | | Store full expression in notebook @

inisl= G7 = SeriesCoefficient[%l, {t, 0, 7}]

5al®a2+65al®a2?+200al*a2%+200ala2* +65al1?a2°+5ala2®+5al®a3+154al%>a2a3+
+154 a5 a6 a7’ +65a62 a7’ +5ala7®+5a2a7°+5a3a7®+5a4a7®+5a5a7°%+5a6a7°
Out[3]=
Size in memory: 407.2 kB 4+ Show more 2 Show all .+ lconize v @

| Store full expression in notebook

inl4l:- G6 = SeriesCoefficient[%l, {t, 0, 6}]

outle- al®+31al®a2+175a1*a2? + 300 a1®a2® +175a12a2% +31ala2® +a2® +31al1°a3 +
411 al*a2 a3+ 1280 al®a2?a3 +1280a1?a2®a3+411ala2*a3+31a2°a3+175a1* a3+
1280 al® a2 a3 + 2324 a1? a2? a3? + 1280 al a2 a3%2 + 175 a2* a3 + 300 a1® a3 +
1280 al? a2 a3 + 1280 al a2? a3 + 300 a2® a3® + 175a12 a3* + 411 al a2 a3* + 175 a2% a3* +
3l1ala3®+31a2a3’+a3°+31al’a4+411al*a2 a4+ 1280 al®a22 a4 +1280al%a2’ a4+
411ala2*a4+31a2°a4+411al*a3a4+2981al®>a2a3a4+5398al’a22a3a4+
2981 ala2®a3 a4 +411a2* a3 a4 + 1280 a1l a3 a4 + 5398 a1l a2 a3?a4 + 5398 al a2?a3? a4+
1280 a2> a3% a4 + 1280 al? a3® a4 + 2981 al a2 a3® a4 + 1280 a2? a3® a4 + 411 al a3* a4 +
411 a2 a3*a4 +31a3% a4+ 175al1* a4 + 1280 a1’ a2 a4 + 2324 al? a2? a4’ +
1280 al a2® a4” + 175 a2 a4% + 1280 al® a3 a4® + 5398 al” a2 a3 a4% + 5398 al a2? a3 a4? +
1280 a2> a3 a4? + 2324 al? a3% a4” + 5398 al a2 a3” a4 + 2324 a2” a3? a4? +
1280 al a3> a4® + 1280 a2 a3® a4% + 175 a3* a4? + 300 a1® a4® + 1280 a1? a2 a4> +
1280 al a2? a4® + 300 a2° a4® + 1280 al® a3 a4® + 2981 al a2 a3 a4> + 1280 a22 a3 a4’ +
1280 al a3 a4® + 1280 a2 a3 a4® + 300 a3 a4® + 175 a1 a4* + 411 al a2 a4* + 175 a22 a4* +
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411 al a3 a4* +411a2a3a4* +175a3% a4* +31ala4® +31a2a4°+31a3a4’+

a4® +31al°a5+411al*a2 a5+ 1280 al®a2?a5+1280a1?a2®a5+411ala2*a5+
31a2%°a5+411al*a3 a5 +2981al®a2a3 a5 +5398al?a2?2a3a5+2981ala2®a3 a5+

411 a2% a3 a5 + 1280 al® a3% a5 + 5398 al® a2 a3 a5 + 5398 al a2” a3? a5 + 1280 a2® a3% a5 +
1280 a1?a3®a5+ 298l ala2a3®a5+ 1280 a2?a3*a5+411ala3*a5+411a2a3% a5+
31a3°a5+411al* a4 a5 +2981al®a2 a4 a5+ 5398 al? a2? a4 a5 +2981lala2®a4 a5+

411 a2% a4 a5 + 2981 al® a3 a4 a5 + 12495 al® a2 a3 a4 a5 + 12495 al a2? a3 a4 a5 +

2981 a2® a3 a4 a5 + 5398 al? a3? a4 a5 + 12495 al a2 a3 a4 a5 + 5398 a2? a3? a4 a5 +

2981 ala3®a4a5+2981a2a3%a4a5+411a3% a4 a5+ 1280 al’a4?a5+5398a12a2a4?a5+
5398 al a2? a4” a5 + 1280 a2® a4 a5 + 5398 al? a3 a4® a5 + 12495 al a2 a3 a4” a5 +

5398 a2? a3 a42 a5 + 5398 al a3% a4” a5 + 5398 a2 a3” a4® a5 + 1280 a3 a4% a5 +

1280 al” a4® a5 + 2981 al a2 a4® a5 + 1280 a2? a4® a5 + 2981 al a3 a4> a5 + 2981 a2 a3 a4> a5 +
1280 a32a4®a5+41l1alad*a5+41la2ad4*a5+411a3a4’*a5+31a4”a5+175al1*a5?+
1280 al® a2 a5% + 2324 al? a2? a5 + 1280 al a2® a5 + 175 a2* a5% + 1280 a1® a3 a5° +

5398 al? a2 a3 a5 + 5398 al a2% a3 a5 + 1280 a2° a3 a5% + 2324 al? a3? a5% +

5398 al a2 a3 a5% + 2324 a2 a3? a5% + 1280 al a3%® a5% + 1280 a2 a3® a5° + 175 a3% a52 +

1280 al® a4 a5% + 5398 al? a2 a4 a5° + 5398 al a22 a4 a5 + 1280 a2° a4 a52 +

5398 al? a3 a4 a5 + 12495 al a2 a3 a4 a5 + 5398 a2” a3 a4 a5 + 5398 al a3% a4 a5° +

5398 a2 a3? a4 a5 + 1280 a3® a4 a5 + 2324 al1? a4” a5% + 5398 al a2 a4® a5% +

2324 a2” a4% a5% + 5398 al a3 a42 a5% + 5398 a2 a3 a4” a5% + 2324 a3 a4 a5% +

1280 al a4> a5% + 1280 a2 a4> a5% + 1280 a3 a4® a5 + 175 a4 a5% + 300 a1’ a5° +

1280 al” a2 a5% + 1280 al a2? a5° + 300 a2° a5 + 1280 al” a3 a5% + 2981 al a2 a3 a5° +

1280 a22 a3 a5° + 1280 al a3 a5° + 1280 a2 a32 a5% + 300 a3% a5% + 1280 al? a4 a5° +

2981 al a2 a4 a5% + 1280 a2 a4 a5° + 2981 al a3 a4 a5° + 2981 a2 a3 a4 a5° + 1280 a3% a4 a5° +
1280 al a4” a5% + 1280 a2 a4 a5° + 1280 a3 a4? a5° + 300 a4> a5% + 175 a1? a5” +

411 al a2 a5* +175a22a5% + 411 al a3 a5 + 411 a2 a3 a5* + 175 a3% a5* + 411 al a4 a5* +

411 a2 a4 a5* + 411 a3 a4 a5% + 175 a4? a5% + 31 al a5> + 31 a2 a5° + 31 a3 a5° + 31 a4 a5° +
a5%+31al°a6+411al* a2 a6+ 1280 al®a2? a6 + 1280 al? a2° a6 + 411 al a2* a6 +

31a2° a6 +411al1* a3 a6 +2981al1°a2 a3 a6+ 5398 al? a2” a3 a6 + 2981 al a2 a3 a6 +

411 a2* a3 a6 + 1280 al® a3% a6 + 5398 al? a2 a3 a6 + 5398 al a22 a3 a6 + 1280 a2> a3% a6 +
1280 al? a3® a6 + 2981 al a2 a3® a6 + 1280 a2 a3 a6 + 411 al a3* a6 + 411 a2 a3* a6 +

31a3” a6 +411al* a4 a6 + 2981 al® a2 a4 a6 + 5398 al” a2? a4 a6 + 2981 al a2® a4 a6 +

411 a2* a4 a6 + 2981 al® a3 a4 a6 + 12495 al? a2 a3 a4 a6 + 12495 al a2? a3 a4 a6 +

2981 a2° a3 a4 a6 + 5398 al? a32 a4 a6 + 12495 al a2 a3” a4 a6 + 5398 a2? a3 a4 a6 +

2981 al a3® a4 a6 + 2981 a2 a3% a4 a6 + 411 a3* a4 a6 + 1280 al® a4? a6 + 5398 al? a2 a4% a6 +
5398 al a2? a4” a6 + 1280 a2® a4” a6 + 5398 al? a3 a4® a6 + 12495 al a2 a3 a4” a6 +

5398 a2? a3 a42 a6 + 5398 al a3% a4” a6 + 5398 a2 a3” a4” a6 + 1280 a3> a4% a6 +

1280 al1? a4® a6 + 2981 al a2 a4® a6 + 1280 a2% a4> a6 + 2981 al a3 a4> a6 + 2981 a2 a3 a4> a6 +
1280 a3 a4® a6 + 411 al a4 a6 + 411 a2 a4” a6 + 411 a3 a4* a6 + 31 a4” a6 + 411 a1l a5 a6 +
2981 al® a2 a5 a6 + 5398 al? a2 a5 a6 + 2981 al a2> a5 a6 + 411 a2* a5 a6 + 2981 a1’ a3 a5 a6 +
12495 al?a2 a3 a5 a6 + 12495 al a2? a3 a5 a6 + 2981 a2° a3 a5 a6 + 5398 al? a3 a5 a6 +
12495 al a2 a32 a5 a6 + 5398 a22 a3 a5 a6 + 2981 al a3° a5 a6 + 2981 a2 a3 a5 a6 +

411 a3% a5 a6 + 2981 al® a4 a5 a6 + 12495 al® a2 a4 a5 a6 + 12495 al a2” a4 a5 a6 +

2981 a2% a4 a5 a6 + 12495 al”* a3 a4 a5 a6 + 28821 al a2 a3 a4 a5 a6 + 12495 a2 a3 a4 a5 a6 +
12495 al a32 a4 a5 a6 + 12495 a2 a3 a4 a5 a6 + 2981 a3® a4 a5 a6 + 5398 al? a4? a5 a6 +
12495 al a2 a4? a5 a6 + 5398 a22 a4 a5 a6 + 12495 al a3 a4% a5 a6 + 12495 a2 a3 a42 a5 a6 +
5398 a32 a4% a5 a6 + 2981 al a4® a5 a6 + 2981 a2 a4® a5 a6 + 2981 a3 a4 a5 a6 +
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411 a4* a5 a6 + 1280 al® a5% a6 + 5398 al? a2 a5 a6 + 5398 al a22 a5 a6 + 1280 a2> a5% a6 +
5398 al” a3 a5% a6 + 12495 al a2 a3 a5% a6 + 5398 a22 a3 a5% a6 + 5398 al a3% a5° a6 +

5398 a2 a3? a5% a6 + 1280 a3® a5 a6 + 5398 al” a4 a5% a6 + 12495 al a2 a4 a5 a6 +

5398 a22 a4 a5 a6 + 12495 al a3 a4 a52 a6 + 12495 a2 a3 a4 a52 a6 + 5398 a32 a4 a5% a6 +
5398 al a4? a5° a6 + 5398 a2 a4” a5 a6 + 5398 a3 a42 a5% a6 + 1280 a4® a5 a6 +

1280 al? a5% a6 + 2981 al a2 a5° a6 + 1280 a2% a5° a6 + 2981 al a3 a5° a6 +

2981 a2 a3 a5° a6 + 1280 a3? a5% a6 + 2981 al a4 a5° a6 + 2981 a2 a4 a5° a6 +

2981 a3 a4 a5° a6 + 1280 a4® a5° a6 + 411 al a5* a6 + 411 a2 a5* a6 + 411 a3 a5* a6 +

411 a4 a5 a6 +31a5% a6+ 175 al* a6% + 1280 al® a2 a6 + 2324 al? a2% a6” +

1280 al a2® a6? + 175 a2 a62 + 1280 al® a3 a6% + 5398 al? a2 a3 a62 + 5398 al a2 a3 a6 +
1280 a2> a3 a6% + 2324 al? a3% a6” + 5398 al a2 a3” a6” + 2324 a2” a3? a6% + 1280 al a3® a6” +
1280 a2 a3 a6% + 175 a3* a62 + 1280 al® a4 a6 + 5398 al” a2 a4 a6> + 5398 al a2% a4 a6 +
1280 a2% a4 a6 + 5398 al? a3 a4 a6 + 12495 al a2 a3 a4 a6> + 5398 a2 a3 a4 a62 +

5398 al a3? a4 a62 + 5398 a2 a32 a4 a62 + 1280 a3® a4 a62 + 2324 al? a4 a6? +

5398 al a2 a4” a6” + 2324 a2? a4” a6 + 5398 al a3 a4 a6> + 5398 a2 a3 a4? a6” +

2324 a3” a4% a6% + 1280 al a4® a6” + 1280 a2 a4> a6” + 1280 a3 a4> a62 + 175 a4* a6% +

1280 al® a5 a62 + 5398 al? a2 a5 a6 + 5398 al a2 a5 a62 + 1280 a2° a5 a6 +

5398 al? a3 a5 a6” + 12495 al a2 a3 a5 a6 + 5398 a2 a3 a5 a6> + 5398 al a3% a5 a6” +

5398 a2 a3% a5 a6 + 1280 a3® a5 a6 + 5398 al? a4 a5 a6% + 12495 al a2 a4 a5 a6 +

5398 a2” a4 a5 a6% + 12495 al a3 a4 a5 a6 + 12495 a2 a3 a4 a5 a6> + 5398 a3 a4 a5 a6 +
5398 al a4” a5 a6” + 5398 a2 a4” a5 a6” + 5398 a3 a4” a5 a6> + 1280 a4> a5 a6> +

2324 al? a5% a6” + 5398 al a2 a5° a6 + 2324 a2” a5% a6 + 5398 al a3 a5 a6” +

5398 a2 a3 a5 a6% + 2324 a3 a5 a6% + 5398 al a4 a5° a62 + 5398 a2 a4 a5 a6 +

5398 a3 a4 a52 a62 + 2324 a4 a5 a62 + 1280 al a5° a6% + 1280 a2 a5° a6 + 1280 a3 a5° a6 +
1280 a4 a5° a6% + 175 a5* a6” + 300 a1® a6> + 1280 al® a2 a6> + 1280 al a2% a6> +

300 a2° a6 + 1280 al? a3 a6® + 2981 al a2 a3 a6> + 1280 a2? a3 a6° + 1280 al a3% a6° +

1280 a2 a3 a6° + 300 a3° a6> + 1280 al® a4 a6> + 2981 al a2 a4 a6> + 1280 a2 a4 a6> +

2981 al a3 a4 a6> + 2981 a2 a3 a4 a6°> + 1280 a3? a4 a6> + 1280 al a4” a6> + 1280 a2 a4” a6> +
1280 a3 a4” a6® + 300 a4> a6> + 1280 al? a5 a6 + 2981 al a2 a5 a6 + 1280 a22 a5 a6° +

2981 al a3 a5 a6° + 2981 a2 a3 a5 a6° + 1280 a3% a5 a6> + 2981 al a4 a5 a6> +

2981 a2 a4 a5 a6> + 2981 a3 a4 a5 a6> + 1280 a4 a5 a6> + 1280 al a5° a6° +

1280 a2 a5 a6® + 1280 a3 a5% a6> + 1280 a4 a5% a6° + 300 a5° a6® + 175 a1? a6’ +

411 al a2 a6* + 175 a22 a6* + 411 al a3 a6* + 411 a2 a3 a6* + 175 a32 a6* + 411 al a4 a6* +
411 a2 a4 a6* + 411 a3 a4 a6* + 175 a4% a6* + 411 al a5 a6* + 411 a2 a5 a6* + 411 a3 a5 a6” +
411 a4 a5 a6* + 175 a52 a6* + 31 al a6° + 31 a2 a6° + 31 a3 a6° + 31 a4 a6° + 31 a5 a6° +

a6® +31al®a7+411al*a2 a7+ 1280 al%a2?2a7 +1280al1?a2®a7+411ala2*a7+
31a2°a7+411al*a3a7+2981al1°a2a3 a7 +5398al?a2?a3a7+2981ala2®a3 a7+

411 a2* a3 a7+ 1280 al®a3? a7 + 5398 al® a2 a3? a7 + 5398 al a2? a3% a7 + 1280 a2® a3? a7 +
1280 al? a3* a7 + 2981l al a2 a3® a7+ 1280 a2%a3*a7+411ala3*a7+411a2a3* a7+
31a3°a7+411al* a4 a7 +2981al%a2 a4 a7 + 5398 al? a2? a4 a7 +2981lal a2 a4 a7+

411 a2%*a4a7+2981al*a3a4a7+12495al>a2a3 a4 a7 +12495al a2> a3 a4 a7 +

2981 a2 a3 a4 a7 + 5398 al?a32a4 a7 +12495al a2 a3? a4 a7 + 5398 a2? a3 a4 a7 +

2981 ala3®a4 a7 +2981a2a3%a4 a7 +411a3%a4a7+1280al1%a4”a7+5398a1%a2a4’ a7 +
5398 al a2? a4? a7 + 1280 a2® a4 a7 + 5398 al? a3 a4® a7 + 12495 al a2 a3 a4% a7 +

5398 a2” a3 a4” a7 + 5398 al a3%? a4® a7 + 5398 a2 a32 a4% a7 + 1280 a3 a4’ a7 +

1280 al” a4® a7 + 2981 al a2 a4® a7 + 1280 a2% a4> a7 + 2981 al a3 a4> a7 + 2981 a2 a3 a4> a7 +
1280 a32 a4 a7 +41l1alad* a7 +411a2ad4* a7 +411a3 a4 a7 +31ad’ a7 +41llal*a5a7 +
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2981 al®a2 a5 a7 + 5398 al? a2? a5 a7 + 2981 al a2®a5a7 + 411 a2*a5a7 +2981al1°a3a5a7 +
12495al?a2 a3 a5a7 + 12495 al a2? a3 a5 a7 +2981 a2%a3a5a7 +5398al1?a3?a5a7 +
12495 al a2 a3?2a5a7 + 5398 a22 a3? a5 a7 + 2981 ala3®a5a7+2981a2a3%a5a7 +

411 a3*a5a7 + 2981 al®a4 a5 a7 + 12495 al? a2 a4 a5 a7 + 12495 al a2? a4 a5 a7 +

2981 a2% a4 a5a7 +12495al’ a3 a4 a5 a7 + 28821 ala2a3 a4 aba7 +12495a2% a3 a4a5av +
12495 al a3? a4 a5a7+ 12495 a2 a3?a4a5a7 +2981a3%a4a5a7 +5398a12a4?a5a7 +
12495 al a2 a4 a5 a7 + 5398 a22 a4? a5 a7 + 12495 al a3 a4 a5 a7 + 12495 a2 a3 a4? a5 a7 +
5398 a3? a4% a5 a7 + 2981 al a4> a5 a7 + 2981 a2 a4® a5 a7 + 2981 a3 a4> a5 a7 +

411 a4* a5 a7 + 1280 al® a5 a7 + 5398 al” a2 a5 a7 + 5398 al a2% a5% a7 + 1280 a2® a5% a7 +
5398 al? a3 a5% a7 + 12495 al a2 a3 a5 a7 + 5398 a2? a3 a52 a7 + 5398 al a3? a5% a7 +

5398 a2 a3% a5 a7 + 1280 a3® a5% a7 + 5398 al? a4 a5% a7 + 12495 al a2 a4 a5% a7 +

5398 a2? a4 a5 a7 + 12495 al a3 a4 a5% a7 + 12495 a2 a3 a4 a5% a7 + 5398 a3% a4 a5 a7 +
5398 al a4® a5 a7 + 5398 a2 a4% a5% a7 + 5398 a3 a42 a5% a7 + 1280 a4® a5% a7 +

1280 al” a5% a7 + 2981 al a2 a5° a7 + 1280 a2% a5° a7 + 2981 al a3 a5° a7 + 2981 a2 a3 a5° a7 +
1280 a32 a5% a7 + 2981 al a4 a5% a7 + 2981 a2 a4 a5 a7 + 2981 a3 a4 a5° a7 +

1280 a4? a5% a7 +411ala5* a7 +411a2a5%a7+411a3a5%a7 +411a4a5*a7+31a5°av +
411 al* a6 a7 + 2981 al® a2 a6 a7 + 5398 al? a2? a6 a7 + 2981 al a2® a6 a7 + 411 a2* a6 a7 +
2981 al®a3 a6 a7 +12495al?a2 a3 a6 a7 + 12495 al a2? a3 a6 a7 +2981a2°a3 a6 a7 +

5398 al®? a32 a6 a7 + 12495 al a2 a3 a6 a7 + 5398 a2 a3% a6 a7 + 2981 al a3® a6 a7 +

2981 a2 a3’ a6 a7 +411a3* a6 a7 +2981 al’ a4 a6 a7 + 12495 al’a2 a4 a6 a’ +

12495 al a2? a4 a6 a7 + 2981 a2% a4 a6 a7 + 12495 al> a3 a4 a6 a7 + 28821 al a2 a3 a4 a6 a7 +
12495 a2? a3 a4 a6 a7 + 12495 al a3? a4 a6 a7 + 12495 a2 a3? a4 a6 a7 + 2981 a3% a4 a6 a7 +
5398 al” a4 a6 a7 + 12495 al a2 a4® a6 a7 + 5398 a2 a4% a6 a7 + 12495 al a3 a4” a6 a7 +
12495 a2 a3 a42 a6 a7 + 5398 a32 a4 a6 a7 + 2981 al a4® a6 a7 + 2981 a2 a4® a6 a7 +

2981 a3 a4® a6 a7 + 411 a4” a6 a7 + 2981 al®>a5a6 a7 + 12495 al> a2 a5 a6 a7 +

12495 al a2? a5 a6 a7 + 2981 a2% a5 a6 a7 + 12495 al? a3 a5 a6 a7 + 28821 al a2 a3 a5 a6 a7 +
12495 a22 a3 a5 a6 a7 + 12495 al a3?a5a6 a7 + 12495 a2 a32 a5 a6 a7 + 2981 a3 a5a6 a7 +
12495 al? a4 a5 a6 a7 + 28821 al a2 a4 a5 a6 a7 + 12495 a22 a4 a5 a6 a7 +

28821 al a3 a4 a5 a6 a7 + 28821 a2 a3 a4 a5 a6 a7 + 12495 a3? a4 a5 a6 a7 +

12495 al a4? a5 a6 a7 + 12495 a2 a4% a5 a6 a7 + 12495 a3 a4” a5 a6 a7 + 2981 a4> a5 a6 a7 +
5398 al” a5 a6 a7 + 12495 al a2 a5% a6 a7 + 5398 a2? a5%2 a6 a7 + 12495 al a3 a5° a6 a7 +
12495 a2 a3 a5% a6 a7 + 5398 a32 a52 a6 a7 + 12495 al a4 a5 a6 a7 + 12495 a2 a4 a5% a6 a7 +
12495 a3 a4 a5% a6 a7 + 5398 a4® a5 a6 a7 + 2981 al a5° a6 a7 + 2981 a2 a5° a6 a7 +

2981 a3 a5% a6 a7 +2981 a4 a5% a6 a7 + 411 a5% a6 a7 + 1280 al® a6% a7 + 5398 al? a2 a6% a7 +
5398 al a2? a6 a7 + 1280 a2 a6 a7 + 5398 al a3 a6% a7 + 12495 al a2 a3 a6 a7 +

5398 a22 a3 a62 a7 + 5398 al a32 a6% a7 + 5398 a2 a32 a6% a7 + 1280 a3% a6 a7 +

5398 al? a4 a6% a7 + 12495 al a2 a4 a6 a7 + 5398 a2 a4 a6% a7 + 12495 al a3 a4 a6 a7 +
12495 a2 a3 a4 a6 a7 + 5398 a3 a4 a6% a7 + 5398 al a4” a6% a7 + 5398 a2 a4” a6 a7 +

5398 a3 a4” a6” a7 + 1280 a4> a6 a7 + 5398 al? a5 a6% a7 + 12495 al a2 a5 a6 a7 +

5398 a2? a5 a6 a7 + 12495 al a3 a5 a6 a7 + 12495 a2 a3 a5 a6> a7 + 5398 a3% a5 a6 a7 +
12495 al a4 a5 a6% a7 + 12495 a2 a4 a5 a6 a7 + 12495 a3 a4 a5 a6 a7 + 5398 a4 a5 a6% a7 +
5398 al a5% a6 a7 + 5398 a2 a5% a6 a7 + 5398 a3 a52 a6% a7 + 5398 a4 a52 a6% a7 +

1280 a5° a6% a7 + 1280 al? a6> a7 + 2981 al a2 a6°> a7 + 1280 a2% a6> a7 + 2981 al a3 a6> a7 +
2981 a2 a3 a6> a7 + 1280 a3% a6°> a7 + 2981 al a4 a6> a7 + 2981 a2 a4 a6> a7 +

2981 a3 a4 a6° a7 + 1280 a4” a6> a7 + 2981 al a5 a6° a7 + 2981 a2 a5 a6 a7 +

2981 a3 a5 a6° a7 + 2981 a4 a5 a6°> a7 + 1280 a5% a6> a7 + 411 al a6* a7 + 411 a2 a6* a7 +

411 a3 a6* a7+ 411 a4 a6* a7 +411a5a6* a7 +31a6°a7+175al1*a7?+1280al%a2a7? +
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2324 al? a2? a7? + 1280 al a2® a7? + 175 a2* a7? + 1280 a1®* a3 a7? + 5398 al? a2 a3 a7’ +
5398 al a2? a3 a7? + 1280 a2® a3 a7® + 2324 al® a32a7® + 5398 al a2 a3? a7’ +

2324 a2? a3? a7? + 1280 al a3® a7? + 1280 a2 a3 a7? + 175 a3* a7? + 1280 a1’ a4 a7? +

5398 al? a2 a4 a7% + 5398 al a2 a4 a7%? + 1280 a2® a4 a7? + 5398 al®’ a3 a4 a7? +

12495 al a2 a3 a4 a7?+5398 a2% a3 a4 a7> + 5398 al a3? a4 a7? + 5398 a2 a3’ a4 a7” +

1280 a3% a4 a7 + 2324 al? a4 a7? + 5398 al a2 a4? a7 + 2324 a2 a4? a7 +

5398 al a3 a4 a7? + 5398 a2 a3 a4 a7 + 2324 a3% a4? a7? + 1280 al a4 a7? +

1280 a2 a4> a7% + 1280 a3 a4® a7 + 175 a4* a7% + 1280 al® a5 a7 + 5398 al> a2 a5 a7’ +
5398 al a2 a5a7? + 1280 a2%a5a7? + 5398 al’a3a5a7?+12495ala2al3 a5 a7’ +

5398 a22 a3 a5a7? + 5398 al a32a5a7?+5398 a2 a32a5a7?+ 1280 a3*a5a7? +

5398 al? a4 a5 a7? + 12495 al a2 a4 a5 a7 + 5398 a2? a4 a5 a7? + 12495 al a3 a4 a5 a7 +
12495 a2 a3 a4 a5 a7 + 5398 a3 a4 a5 a7 + 5398 al a4 a5 a7? + 5398 a2 a4® a5 a7’ +

5398 a3 a4% a5 a7? + 1280 a4® a5 a7? + 2324 al® a52 a7% + 5398 al a2 a5% a7? +

2324 a22 a5%2 a7? + 5398 al a3 a52 a7% + 5398 a2 a3 a5% a72 + 2324 a3% a5% a7? +

5398 al a4 a5% a7 + 5398 a2 a4 a5 a7? + 5398 a3 a4 a5% a7% + 2324 a4® a5 a7’ +

1280 al a5% a7 + 1280 a2 a5° a72 + 1280 a3 a5° a7% + 1280 a4 a5% a7? + 175 a5* a7 +

1280 al® a6 a7? + 5398 al? a2 a6 a7 + 5398 al a2 a6 a7 + 1280 a2° a6 a7 +

5398 al® a3 a6 a7’ + 12495 al a2 a3 a6 a7’ + 5398 a2? a3 a6 a7> + 5398 al a3 a6 a7’ +

5398 a2 a3% a6 a7 + 1280 a3 a6 a7? + 5398 al? a4 a6 a7% + 12495 al a2 a4 a6 a7’ +

5398 a2? a4 a6 a7 + 12495 al a3 a4 a6 a7® + 12495 a2 a3 a4 a6 a7 + 5398 a3% a4 a6 a7’ +
5398 al a4® a6 a7? + 5398 a2 a4% a6 a7 + 5398 a3 a42 a6 a7? + 1280 a4 a6 a7’ +

5398 al® a5 a6 a7’ + 12495 al a2 a5 a6 a7? + 5398 a2? a5 a6 a7> + 12495 al a3 a5 a6 a7’ +
12495 a2 a3 a5 a6 a7?+ 5398 a3% a5 a6 a7’ +12495al a4 a5 a6 a7’ + 12495 a2 a4 a5 a6 a7’ +
12495 a3 a4 a5 a6 a72 + 5398 a4? a5 a6 a7 + 5398 al a5 a6 a7 + 5398 a2 a5 a6 a7’ +

5398 a3 a5% a6 a72 + 5398 a4 a52 a6 a7 + 1280 a5% a6 a7? + 2324 al? a6? a7’ +

5398 al a2 a6% a7’ + 2324 a2% a6 a7? + 5398 al a3 a6% a7 + 5398 a2 a3 a6 a7’ +

2324 a3 a6 a7% + 5398 al a4 a6 a7% + 5398 a2 a4 a6” a7 + 5398 a3 a4 a6% a7’ +

2324 a4? a6% a7? + 5398 al a5 a6 a7% + 5398 a2 a5 a6 a7 + 5398 a3 a5 a6% a7’ +

5398 a4 a5 a6% a7 + 2324 a5% a6 a7? + 1280 al a6> a7? + 1280 a2 a6> a7% + 1280 a3 a6> a7’ +
1280 a4 a6> a7% + 1280 a5 a6> a7 + 175 a6* a7? + 300 a1® a7° + 1280 a1? a2 a7° +

1280 al a2? a7 + 300 a2% a7 + 1280 al* a3 a7+ 2981 al a2 a3 a7’ + 1280 a22 a3 a7> +

1280 al a3? a7® + 1280 a2 a3% a7 + 300 a3 a7® + 1280 al? a4 a7® + 2981 al a2 a4 a7’ +

1280 a22 a4 a7® + 2981l al a3 a4 a7 + 2981 a2 a3 a4 a7°> + 1280 a32 a4 a73 + 1280 al a4? a7> +
1280 a2 a4® a7 + 1280 a3 a4 a73 + 300 a4> a7® + 1280 al® a5 a7® + 2981 al a2 a5 a7 +

1280 a22a5a7®+298lala3a5a7®+298la2a3a5a7° +1280a3%a5a7®+2981ala4a5ar’+
2981 a2 a4 a5 a7’ +2981 a3 a4 a5 a7’ + 1280 a4 a5 a7> + 1280 al a5% a7° + 1280 a2 a52 a7’ +
1280 a3 a5% a7% + 1280 a4 a5% a7° + 300 a5° a7® + 1280 al? a6 a7 + 2981 al a2 a6 a7° +

1280 a22 a6 a7®+ 2981l ala3 a6 a7’ +298la2a3a6a7’ + 1280 a3%a6ar’+

2981 ala4 a6 a7’ +2981a2a4a6ar’ +2981 a3 a4a6a7’ + 1280 a4?a6a7’+

2981 al a5 a6 a7’ +2981a2a5a6 a7’ +298la3a5a6a7’ +298la4a5a6ar’ +

1280 a52 a6 a7> + 1280 al a6 a7> + 1280 a2 a62 a7® + 1280 a3 a6% a7> + 1280 a4 a6 a7° +
1280 a5 a6% a7 + 300 a6 a7> + 175al1%a7* +411ala2 a7’ + 175a22a7* +411ala3 a7’ +
411 a2 a3a7*+175a3%2a7*+411alada7* +411a2 a4 a7*+ 411 a3 a4 a7* + 175 a4% a7* +
411ala5a7*+4lla2a5a7*+411a3a5a7*+411a4a5a7*+175a5% a7+
411ala6a7*+411a2a6a7*+411a3a6ar7*+411ad4a6ar7*+411a5a6a7*+
175a6%a7*+31ala7°+31a2a7°+31a3a7°>+31la4a7>+31a5a7>+31a6ar” +ar’
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inisl= G5 = SeriesCoefficient[%1l, {t, 0, 5}]

outls- 6 al®+ 80 al? a2 +250a1%a2? + 250 a1? a2®> + 80 al a2’ +6a2°> + 80 al*a3 +584a1%a2a3 +
1060 al? a22 a3 + 584 al a2® a3 + 80 a2* a3 + 250 a1® a32 + 1060 al? a2 a3? + 1060 al a2? a3? +
250 a2° a3? + 250 a1? a3 + 584 al a2 a3® + 250 a2? a3®* + 80 al a3’ + 80 a2 a3* + 6 a3° +
80 al* a4 + 584 a1 a2 a4 + 1060 al” a2? a4 + 584 al a2° a4 + 80 a2* a4 + 584 a1® a3 a4 +
2463 al’ a2 a3 a4 + 2463 al a2> a3 a4 + 584 a2® a3 a4 + 1060 al” a3? a4 + 2463 al a2 a3% a4 +
1060 a22 a32 a4 + 584 al a3® a4 + 584 a2 a3% a4 + 80 a3* a4 + 250 al® a42 + 1060 al? a2 a4? +
1060 al a2? a4? + 250 a2% a4? + 1060 al? a3 a4? + 2463 al a2 a3 a4 + 1060 a22 a3 a4? +
1060 al a3” a4” + 1060 a2 a3 a4% + 250 a3> a4? + 250 al? a4 + 584 al a2 a4> +
250 a22 a4 + 584 al a3 a4® + 584 a2 a3 a4® + 250 a3 a4® + 80 al a4” + 80 a2 a4” +
80 a3 a4* + 6 a4® + 80 al* a5 + 584 al® a2 a5 + 1060 al? a2 a5 + 584 al a2° a5 + 80 a2* a5 +
584 al® a3 a5 + 2463 al? a2 a3 a5 + 2463 al a2® a3 a5 + 584 a2° a3 a5 + 1060 al” a3 a5 +
2463 al a2 a3? a5 + 1060 a2? a32 a5+ 584 al a3®*a5+584a2a3*a5+80a3*a5+
584 al® a4 a5 + 2463 al” a2 a4 a5 + 2463 al a2 a4 a5 + 584 a2° a4 a5 + 2463 al’ a3 a4 a5 +
5706 al a2 a3 a4 a5 + 2463 a2? a3 a4 a5 + 2463 al a3 a4 a5 + 2463 a2 a3? a4 a5 +
584 a3% a4 a5 + 1060 al” a4 a5 + 2463 al a2 a4 a5 + 1060 a2? a4® a5 + 2463 al a3 a4% a5 +
2463 a2 a3 a4 a5 + 1060 a3 a4% a5 + 584 al a4> a5 + 584 a2 a4% a5 + 584 a3 a4 a5 +
80 a4* a5 + 250 al® a5 + 1060 al” a2 a5% + 1060 al a2 a5% + 250 a2° a5 + 1060 al” a3 a5 +
2463 al a2 a3 a5% + 1060 a2? a3 a5 + 1060 al a3? a5 + 1060 a2 a3 a5% + 250 a3 a5” +
1060 al? a4 a5 + 2463 al a2 a4 a52 + 1060 a2% a4 a5% + 2463 al a3 a4 a5% + 2463 a2 a3 a4 a5% +
1060 a32 a4 a5% + 1060 al a4 a5% + 1060 a2 a42 a5 + 1060 a3 a4 a5 + 250 a4> a52 +
250 al? a5 + 584 al a2 a5° + 250 a2” a5% + 584 al a3 a5° + 584 a2 a3 a5° + 250 a3” a5° +
584 al a4 a5° + 584 a2 a4 a5° + 584 a3 a4 a5° + 250 a4% a5° + 80 al a5* + 80 a2 a5* + 80 a3 a5” +
80 a4 a5% + 6a5° + 80 al? a6 + 584 a1 a2 a6 + 1060 al” a2 a6 + 584 al a2° a6 + 80 a2* a6 +
584 al® a3 a6 + 2463 al” a2 a3 a6 + 2463 al a2” a3 a6 + 584 a2° a3 a6 + 1060 al” a3” a6 +
2463 al a2 a3% a6 + 1060 a2? a3 a6 + 584 al a3® a6 + 584 a2 a3> a6 + 80 a3* a6 +
584 al® a4 a6 + 2463 al” a2 a4 a6 + 2463 al a2® a4 a6 + 584 a2> a4 a6 + 2463 al’ a3 a4 a6 +
5706 al a2 a3 a4 a6 + 2463 a2 a3 a4 a6 + 2463 al a3% a4 a6 + 2463 a2 a3% a4 a6 +
584 a3° a4 a6 + 1060 al” a4 a6 + 2463 al a2 a4” a6 + 1060 a2? a4” a6 + 2463 al a3 a4” a6 +
2463 a2 a3 a4” a6 + 1060 a3? a4” a6 + 584 al a4> a6 + 584 a2 a4> a6 + 584 a3 a4°> a6 +
80 a4 a6 + 584 a1® a5 a6 + 2463 al” a2 a5 a6 + 2463 al a2® a5 a6 + 584 a2% a5 a6 +
2463 al? a3 a5 a6 + 5706 al a2 a3 a5 a6 + 2463 a2 a3 a5 a6 + 2463 al a3% a5 a6 +
2463 a2 a3% a5 a6 + 584 a3> a5 a6 + 2463 al’ a4 a5 a6 + 5706 al a2 a4 a5 a6 +
2463 a2? a4 a5 a6 + 5706 al a3 a4 a5 a6 + 5706 a2 a3 a4 a5 a6 + 2463 a32 a4 a5 a6 +
2463 al a4® a5 a6 + 2463 a2 a4® a5 a6 + 2463 a3 a4> a5 a6 + 584 a4> a5 a6 + 1060 al” a5% a6 +
2463 al a2 a5% a6 + 1060 a2® a5% a6 + 2463 al a3 a5 a6 + 2463 a2 a3 a5° a6 + 1060 a3 a5 a6 +
2463 al a4 a5% a6 + 2463 a2 a4 a5 a6 + 2463 a3 a4 a5 a6 + 1060 a42 a5 a6 + 584 al a5° a6 +
584 a2 a5° a6 + 584 a3 a5° a6 + 584 a4 a5° a6 + 80 a5 a6 + 250 a1® a6 + 1060 al? a2 a6 +
1060 al a22 a6 + 250 a2° a6% + 1060 al® a3 a6% + 2463 al a2 a3 a6 + 1060 a22 a3 a6 +
1060 al a3” a6% + 1060 a2 a3 a62 + 250 a3> a6 + 1060 al” a4 a6 + 2463 al a2 a4 a6> +
1060 a2” a4 a6% + 2463 al a3 a4 a6” + 2463 a2 a3 a4 a6 + 1060 a32 a4 a6 + 1060 al a4” a6” +
1060 a2 a4’ a6 + 1060 a3 a4 a62 + 250 a4> a6% + 1060 al’ a5 a6 + 2463 al a2 a5 a6” +
1060 a22 a5 a62 + 2463 al a3 a5 a62 + 2463 a2 a3 a5 a62 + 1060 a3? a5 a6 +
2463 al a4 a5 a6’ + 2463 a2 a4 a5 a6” + 2463 a3 a4 a5 a6” + 1060 a4” a5 a6” +
1060 al a5 a6 + 1060 a2 a5° a6> + 1060 a3 a52 a6% + 1060 a4 a5% a6 + 250 a5° a6 +
250 al? a6 + 584 al a2 a6> + 250 a22 a6> + 584 al a3 a6> + 584 a2 a3 a6 + 250 a3? a6> +
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584 al a4 a6> + 584 a2 a4 a6° + 584 a3 a4 a6> + 250 a42 a6> + 584 al a5 a6° + 584 a2 a5 a6> +
584 a3 a5 a6> + 584 a4 a5 a6> + 250 a5% a6> + 80 al a6” + 80 a2 a6* + 80 a3 a6* + 80 a4 a6t +

80 a5 a6* +6a6> + 80 al*a7+584a1%>a2a7+1060al%a2?a7 +584ala2’a7+80a2*a7 +
584 al® a3 a7 + 2463 al? a2 a3 a7 + 2463 al a2? a3 a7 + 584 a2® a3 a7 + 1060 al? a3? a7 +

2463 al a2 a3?a7 + 1060 a2? a3? a7 + 584 ala3®a7+584a2a3°a7+80a3"ar +

584 al® a4 a7 + 2463 al® a2 a4 a7 + 2463 al a2 a4 a7 + 584 a2® a4 a7 + 2463 al’ a3 a4 a7 +
5706 al a2 a3 a4 a7 + 2463 a22 a3 a4 a7 + 2463 al a3? a4 a7 + 2463 a2 a32 a4 a7 +

584 a3% a4 a7 + 1060 al” a4 a7 + 2463 al a2 a4” a7 + 1060 a2? a4® a7 + 2463 al a3 a4 a7 +
2463 a2 a3 a4 a7 + 1060 a3 a4 a7 + 584 al a4> a7 + 584 a2 a4® a7 + 584 a3 a4® a7 +

80 a4* a7 + 584 a1® a5 a7 + 2463 al? a2 a5 a7 + 2463 al a2? a5 a7 + 584 a2 a5 a7 +

2463 al’ a3 a5 a7+ 5706 al a2 a3 a5 a7 + 2463 a2? a3 a5 a7 + 2463 al a3’ a5a7 +

2463 a2 a3 a5 a7 + 584 a3 a5 a7 + 2463 al’ a4 a5 a7 + 5706 al a2 a4 a5 a7 +

2463 a2? a4 a5 a7 + 5706 al a3 a4 a5 a7 + 5706 a2 a3 a4 a5 a7 + 2463 a3 a4 a5 a7 +

2463 al a4” a5 a7 + 2463 a2 a4” a5 a7 + 2463 a3 a4” a5 a7 + 584 a4> a5 a7 + 1060 al® a5% a7 +
2463 al a2 a5% a7 + 1060 a2® a5% a7 + 2463 al a3 a5 a7 + 2463 a2 a3 a5° a7 + 1060 a3 a5% a7 +
2463 al a4 a5 a7 + 2463 a2 a4 a5 a7 + 2463 a3 a4 a5% a7 + 1060 a4 a5% a7 + 584 al a5% a7 +
584 a2 a5 a7 + 584 a3 a5° a7 + 584 a4 a5° a7 + 80 a5* a7 + 584 a1® a6 a7 + 2463 al’ a2 a6 a7 +
2463 al a2? a6 a7 + 584 a2> a6 a7 + 2463 al’ a3 a6 a7 + 5706 al a2 a3 a6 a7 +

2463 a2? a3 a6 a7 + 2463 al a3? a6 a7 + 2463 a2 a32 a6 a7 + 584 a3® a6 a7 + 2463 al’ a4 a6 a7 +
5706 al a2 a4 a6 a7 + 2463 a22 a4 a6 a7 + 5706 al a3 a4 a6 a7 + 5706 a2 a3 a4 a6 a7 +

2463 a3 a4 a6 a7 + 2463 al a4” a6 a7 + 2463 a2 a4” a6 a7 + 2463 a3 a4” a6 a7 + 584 a4> a6 a7 +
2463 al? a5 a6 a7 + 5706 al a2 a5 a6 a7 + 2463 a22 a5 a6 a7 + 5706 al a3 a5 a6 a7 +

5706 a2 a3 a5 a6 a7 + 2463 a32 a5 a6 a7 + 5706 al a4 a5 a6 a7 + 5706 a2 a4 a5 a6 a7 +

5706 a3 a4 a5 a6 a7 + 2463 a4 a5 a6 a7 + 2463 al a5% a6 a7 + 2463 a2 a5 a6 a7 +

2463 a3 a5% a6 a7 + 2463 a4 a5% a6 a7 + 584 a5° a6 a7 + 1060 al’ a6% a7 + 2463 al a2 a6> a7 +
1060 a2” a6% a7 + 2463 al a3 a6> a7 + 2463 a2 a3 a6 a7 + 1060 a32 a6 a7 + 2463 al a4 a6 a7 +
2463 a2 a4 a6 a7 + 2463 a3 a4 a6 a7 + 1060 a4” a6% a7 + 2463 al a5 a6% a7 +

2463 a2 a5 a6” a7 + 2463 a3 a5 a6> a7 + 2463 a4 a5 a6 a7 + 1060 a5% a6 a7 + 584 al a6°> a7 +
584 a2 a6> a7 + 584 a3 a6°> a7 + 584 a4 a6> a7 + 584 a5 a6° a7 + 80 a6 a7 + 250 a1® a7% +

1060 al” a2 a7% + 1060 al a2? a7? + 250 a2> a7? + 1060 al? a3 a7 + 2463 al a2 a3 a7’ +

1060 a22 a3 a7 + 1060 al a3? a7? + 1060 a2 a32 a7? + 250 a3% a7 + 1060 al? a4 a7% +

2463 al a2 a4 a7% + 1060 a2® a4 a7 + 2463 al a3 a4 a7 + 2463 a2 a3 a4 a7 + 1060 a3 a4 a7 +
1060 al a4 a7? + 1060 a2 a4 a7% + 1060 a3 a42 a7? + 250 a4> a7? + 1060 al? a5 a7? +

2463 al a2 a5 a7’ + 1060 a2? a5 a7’ + 2463 al a3 a5 a7’ + 2463 a2 a3 a5 a7 + 1060 a3? a5 a7’ +
2463 al a4 a5 a7 + 2463 a2 a4 a5 a7 + 2463 a3 a4 a5 a7 + 1060 a4% a5 a7 + 1060 al a5 a7? +
1060 a2 a5 a7% + 1060 a3 a5% a72 + 1060 a4 a5% a7 + 250 a5° a7? + 1060 al” a6 a7> +

2463 al a2 a6 a7’ + 1060 a2? a6 a7 + 2463 al a3 a6 a7’ + 2463 a2 a3 a6 a7’ +

1060 a32 a6 a7? + 2463 al a4 a6 a7> + 2463 a2 a4 a6 a7> + 2463 a3 a4 a6 ar’ +

1060 a42 a6 a7? + 2463 al a5 a6 a7 + 2463 a2 a5 a6 a7 + 2463 a3 a5 a6 a7’ +

2463 a4 a5 a6 a7’ + 1060 a5% a6 a7 + 1060 al a6 a7 + 1060 a2 a6 a7 + 1060 a3 a6 a7? +
1060 a4 a6 a7 + 1060 a5 a6 a72 + 250 a6°> a7% + 250 al* a7®> + 584 al a2 a7> +

250 a22 a7® +584ala3 a7’ +584a2a3a7° +250a3% a7’ +584aladar’+584a2ada7’+

584 a3 a4 a7® + 250 a4% a7® + 584 al a5 a7 + 584 a2 a5 a7° + 584 a3 a5 a7° + 584 a4 a5 aT° +
250 a52 a7® + 584 al a6 a7’ + 584 a2 a6 a7> + 584 a3 a6 a7> + 584 a4 a6 a7° + 584 a5 a6 a7’ +
250 a6% a7 +80ala7*+80a2a7*+80a3ar*+80ad4ar*+80a5a7*+80a6ar*+6ar7’



8 | r=7,n=8-new.nb

inlel:- G4 = SeriesCoefficient[%1l, {t, 0, 4}]

outle- 15al*+ 110 al®a2 + 200 a1?a2? + 110 al a2+ 15a2* + 110 al® a3 + 466 al®* a2 a3 +
466 al a2? a3 + 110 a2® a3 + 200 a1? a32 + 466 al a2 a32 + 200 a22 a32 + 110 al a33 +
110 a2 a3® + 15a3* + 110 a1® a4 + 466 al? a2 a4 + 466 al a2? a4 + 110 a2% a4 + 466 al? a3 a4 +
1083 al a2 a3 a4 + 466 a22 a3 a4 + 466 al a3? a4 + 466 a2 a3 a4 + 110 a3® a4 + 200 a1? a4? +
466 al a2 a4% + 200 a2% a4® + 466 al a3 a4 + 466 a2 a3 a4 + 200 a3% a4 + 110 al a4 +
110 a2 a43 + 110 a3 a4 + 15 a4* + 110 al® a5 + 466 al? a2 a5 + 466 al a2? a5 + 110 a2® a5 +
466 al® a3 a5 + 1083 al a2 a3 a5 + 466 a2” a3 a5 + 466 al a3% a5 + 466 a2 a3 a5 +
110 a3% a5 + 466 al? a4 a5 + 1083 al a2 a4 a5 + 466 a2% a4 a5 + 1083 al a3 a4 a5 +
1083 a2 a3 a4 a5 + 466 a32 a4 a5 + 466 al a4® a5 + 466 a2 a4? a5 + 466 a3 a4? a5 +
110 a4® a5 + 200 al? a52 + 466 al a2 a5 + 200 a22 a52 + 466 al a3 a52 + 466 a2 a3 a5 +
200 a3? a5 + 466 al a4 a5 + 466 a2 a4 a5% + 466 a3 a4 a5 + 200 a4® a5% + 110 al a5° +
110 a2 a5 + 110 a3 a5% + 110 a4 a5° + 15 a5% + 110 al® a6 + 466 al” a2 a6 + 466 al a2% a6 +
110 a2® a6 + 466 al® a3 a6 + 1083 al a2 a3 a6 + 466 a2”> a3 a6 + 466 al a3% a6 +
466 a2 a3? a6 + 110 a3% a6 + 466 al® a4 a6 + 1083 al a2 a4 a6 + 466 a2> a4 a6 +
1083 al a3 a4 a6 + 1083 a2 a3 a4 a6 + 466 a3% a4 a6 + 466 al a4 a6 + 466 a2 a4” a6 +
466 a3 a4 a6 + 110 a4> a6 + 466 al® a5 a6 + 1083 al a2 a5 a6 + 466 a2 a5 a6 +
1083 al a3 a5 a6 + 1083 a2 a3 a5 a6 + 466 a32 a5 a6 + 1083 al a4 a5 a6 + 1083 a2 a4 a5 a6 +
1083 a3 a4 a5 a6 + 466 a4” a5 a6 + 466 al a5 a6 + 466 a2 a5 a6 + 466 a3 a5% a6 +
466 a4 a5% a6 + 110 a5° a6 + 200 al’ a6 + 466 al a2 a6 + 200 a2° a6> + 466 al a3 a6> +
466 a2 a3 a62 + 200 a32 a6% + 466 al a4 a6> + 466 a2 a4 a6> + 466 a3 a4 a6> + 200 a4% a6? +
466 al a5 a6 + 466 a2 a5 a6” + 466 a3 a5 a6> + 466 a4 a5 a6 + 200 a5% a6 + 110 al a6> +
110 a2 a6° + 110 a3 a6 + 110 a4 a6° + 110 a5 a6> + 15 a6* + 110 al® a7 + 466 al? a2 a7 +
466 al a2? a7 + 110 a2® a7 + 466 al> a3 a7 + 1083 al a2 a3 a7 + 466 a2? a3 a7 +
466 al a3? a7 + 466 a2 a3” a7 + 110 a3®> a7 + 466 al®> a4 a7 + 1083 al a2 a4 a7 +
466 a22 a4 a7 + 1083 al a3 a4 a7 + 1083 a2 a3 a4 a7 + 466 a3 a4 a7 + 466 al a4? a7 +
466 a2 a4 a7 + 466 a3 a4” a7 + 110 a4> a7 + 466 al* a5 a7 + 1083 al a2 a5 a7 +
466 a22 a5 a7 + 1083 al a3 a5 a7 + 1083 a2 a3 a5 a7 + 466 a32 a5 a7 + 1083 al a4 a5 a7 +
1083 a2 a4 a5 a7 + 1083 a3 a4 a5 a7 + 466 a4” a5 a7 + 466 al a5% a7 + 466 a2 a5 a7 +
466 a3 a5% a7 + 466 a4 a5” a7 + 110 a5> a7 + 466 al? a6 a7 + 1083 al a2 a6 a7 + 466 a2” a6 a7 +
1083 al a3 a6 a7 + 1083 a2 a3 a6 a7 + 466 a32 a6 a7 + 1083 al a4 a6 a7 + 1083 a2 a4 a6 a7 +
1083 a3 a4 a6 a7 + 466 a42 a6 a7 + 1083 al a5 a6 a7 + 1083 a2 a5 a6 a7 + 1083 a3 a5 a6 a7 +
1083 a4 a5 a6 a7 + 466 a52 a6 a7 + 466 al a6> a7 + 466 a2 a62 a7 + 466 a3 a62 a7 +
466 a4 a6% a7 + 466 a5 a6 a7 + 110 a6> a7 + 200 al? a7 + 466 al a2 a72 + 200 a2 a7? +
466 al a3 a7’ +466a2a3 a7’ +200a32a7’>+466aladar’+466a2 a4 a7’ +466a3adar’ +
200 a4? a7’ + 466 al a5 a7’ + 466 a2 a5 a7’ + 466 a3 a5 a7’ + 466 a4 a5 a7’ + 200 a5% a7? +
466 al a6 a7’ + 466 a2 a6 a7 + 466 a3 a6 a7> + 466 a4 a6 a7’ + 466 a5 a6 a7’ + 200 a6 a7’ +
110 ala7®+110a2a7®+110a3 a7’ +110 a4 a7 +110a5a7’ + 110 a6 a7® + 15 a7*
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7= G3 = SeriesCoefficient[%1l, {t, 0, 3}]

oui7- 20 al®+85a1?a2 +85ala2®+20a2°+85al%a3+198ala2a3+85a2%a3+
85ala3?+85a2a3%+20a3%>+85a1%a4+198ala2a4+85a2%a4+198ala3a4d+
198 a2 a3 a4 + 85 a3 a4 + 85 al a4’ + 85 a2 a4 + 85 a3 a4 + 20 a4> + 85 al’ a5 +
198 al a2 a5+ 85a22 a5+ 198 ala3 a5+ 198 a2 a3 a5 +85a32a5+ 198 al a4 a5 +
198 a2 a4 a5 + 198 a3 a4 a5 + 85 a4® a5 + 85 al a5 + 85 a2 a5 + 85 a3 a5 + 85 a4 a5 +
20 a5% + 85a1% a6 + 198 al a2 a6 + 85 a2? a6 + 198 al a3 a6 + 198 a2 a3 a6 +
85a32 a6 + 198 al a4 a6 + 198 a2 a4 a6 + 198 a3 a4 a6 + 85 a4 a6 + 198 al a5 a6 +
198 a2 a5 a6 + 198 a3 a5 a6 + 198 a4 a5 a6 + 85 a52 a6 + 85 al a6 + 85 a2 a6> +
85 a3 a6% + 85 a4 a6% +85a5a6%+20a6>+85al1?a7 +198al a2 a7 +85a2%a7 +
198 al a3 a7 +198a2a3 a7 +85a32a7 +198al a4 a7 + 198 a2 a4 a7 + 198 a3 a4 a7 +
85a4%a7+198ala5a7+198a2a5a7 +198a3a5a7 + 198 a4 a5 a7 +85a5% a7 +
198 al a6 a7 + 198 a2 a6 a7 + 198 a3 a6 a7 + 198 a4 a6 a7 + 198 a5 a6 a7 + 85 a6 a7 +
85ala7’+85a2a7>+85a3a7>+85a4a7’+85a5a7’+85a6a7’+20a7>

inisl= G2 = SeriesCoefficient[%1l, {t, 0, 2}]

ouwlsl- 15al? +35ala2+15a2° +35ala3+35a2a3+15a3°+35ala4+35a2a4+35a3a4+15a4” +
35ala5+35a2a5+35a3a5+35a4a5+15a5%+35ala6+35a2a6+35a3a6+35a4a6+
35a5a6+15a62+35ala7+35a2a7+35a3a7+35a4a7+35a5a7+35a6a7 +15a7?

iniol:= Gl = SeriesCoefficient[%1l, {t, 0, 1}]

outo]= 6 (al+a2+a3+a4+ab5+a6+a7)

inf10l:- SymmetricReduction[G8, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Out[10]=

{10 f1% f2% + 30 f1% f2° + 5 f2* + 4 f1° f3 + 60 f1° f2 f3 + 60 f1 f2° f3 +
24 f12 3216 f2 32+ 8 f1* f4+ 33 f12 f2 f4 + 6 f22 f4 -9 f1 f3 f4-9 f4° -
38 f1° f5-51 f1 f2 f5- 11 f3 f5 - 162 f1? f6 - 46 f2 f6 - 228 f1 f7, 0}

(1= k8 = First[%10]
Out[11]=

10 f1* 22 + 30 f12 23 + 5 2% + 4 f1° f3 + 60 f13 f2 f3 + 60 f1 f22 f3 +
24 f12 32+ 6 f2 32+ 8 f1* f4 + 33 f12 f2 f4 + 6 f22 f4 -9 f1 f3 f4 -
9 f4? 38 f13 f5 - 51 f1 f2 f5 - 11 f3 f5 - 162 f12 f6 - 46 f2 f6 - 228 f1 f7

in(12l:- SymmetricReduction[G7, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Out[12]=

{5 15 f2 + 40 12 22 + 30 f1 23+ 19 f1* f3 + 84 f12 f2 f3 + 18 f22 f3 + 12 f1 32 +
11 f1° f4 + 12 f1 f2 f4 - 6 f3 f4 - 51 1% f5 - 18 f2 f5 - 99 f1 f6 - 57 7, 0}

inf3l= K7 = First[%12]
out[13]=

5 f1% f2 + 40 f13 f22 + 30 f1 23 + 19 f1* f3 + 84 f12 f2 f3 + 18 f22 f3 +
12f1f32+11Ff13fF4+12Ff1f2f4-6f3f4-51F12f5-18f2f5-99f1f6-57 f7
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In[14]:=

Out[14]=

In[15]:=

Out[15]=

In[16]:=

out[16]=

In[17]:=

out[17]=

In[18]:=

out[18]=

In[19]:=

out[19]=

In[20]:=

out[20]=

In[21]:=

out[21]=

In[22]:=

out[22]=

In[23]:=

Out[23]=

In[24]:=

out[24]=

In[25]:=

out[25]=

SymmetricReduction[G6, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]

{f1°+25f1% f2+ 60 f1% f2% + 10 f2° +
36 f1° 3+ 52 f1 f2 3 +2 3%+ 5 f1? f4 - 34 f1 f5-25f6, 0}

k6 = First[%14]
19+ 25 f1* f2 1+ 60 f12 f22 + 10 f23 + 36 f13 f3+ 52 f1 f2 f3 + 2 f32+ 5 f1%2 f4 - 34 f1 f5 - 25 f6

SymmetricReduction[G5, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]

{6 f1°+ 50 f1° f2+ 40 f1 2%+ 34 f1? f3+12 f2 3 - f1f4-9f5, 0}

k5 = First[%16]

6 f1° + 50 f1° f2 + 40 f1 f22 + 34 f12 f3+ 12 f2 f3- f1 f4-9 f5

SymmetricReduction[G4, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
{15 f1% + 50 f1% f2 + 10 f2? + 16 f1 f3 - f4, 0}

k4 = First[%18]

15 f1% + 50 f1% f2 + 10 f2% + 16 f1 f3 - f4

SymmetricReduction[G3, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
{20 f1° + 25 f1 f2+3 3, 0}

k3 = First[%20]

20 f1° + 25 f1 f2 + 3 3

SymmetricReduction[G2, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
{15 f1? + 5 f2, 0}

k2 = First[%22]

15 f1%2 + 5 f2

SymmetricReduction[Gl, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
{6 f1, 0}

kl = First[%24]

6 fl
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ini261= alpha = {(al+a2+a3), (al+a2+a4), (al+a2+a5), (al+a2+ab6), (al+a3+a4),
(al+a3+a5), (al+a3+a6), (al+a4+a5), (al+a4+a6), (al+a5+ab),
(a2 +a3 +a4), (a2+a3+a5), (a2+a3+a6), (a2+a4+ad), (a2+a4+ab),
(a2 +a5+a6), (a3+a4+a5), (a3+a4+a6), (a3 +a5+a6), (a4+a5+ab),
(al+a2+a7), (al+a3 +a7), (al+a4+a7), (al+a5+a7), (al+a6+a7),
(a2 +a3+a7), (a2+a4+a7), (a2+a5+a7), (a2+a6+a7), (a3 +a4+a7),

(a3+a5+a7), (a3 +a6+a7), (a4+a5+a7), (a4+a6+a7), (a5+a6+a7)}
Out[26]=
{al+a2+a3, al+a2+a4, al+a2+a5, al+a2+a6, al+ a3+ a4,

al+a3+a5, al+a3+a6, al+a4+a5, al+a4+a6, al+a5+ a6, a2 +a3 + a4,
a2+a3+ab5, a2+a3+a6, a2 +a4+a5, a2+a4+ab6, a2 +ab5+a6, a3 +a4+ a5,
a3+a4+a6, a3+a5+a6, a4+a5+a6, al+a2+a7, al+a3 +a7, al+a4+av,
al+a5+a7, al+a6b+a7, a2+a3+af7, a2+a4+av7, a2+a5+a7, a2+ a6+ a7,
a3+a4+ar7, a3+a5+a7, a3+ab+ar7, a4+a5+av7, a4+a6+a7, aS5+a6 + a7}

in271:= Multiply[alist_] :=
Join[ParallelMap[Collect[Expand [#[1] ~#[2]], t] &, Partition[alist, 217,
If[Mod[Lengthealist, 2] =0, {}, {alist[-1]}]1]

ini2e]:= Monomials[alist_] :=Map[l+#t &, alist]

in291= alpha2 = Multiply[Monomials[alpha]]
Oout[29]=
{1+ (2al1+2a2+a3+a4) t+ (al’?+2ala2+a2’+ala3+a2a3+ala4+a2a4+ala4)t’,

1+ (2al+2a2+a5+a6) t+ (al’+2ala2+a2’+ala5+a2a5+ala6+a2a6+a5a6) t?,
1+ (2al+2a3+a4+a5) t+ (al’+2ala3+a3’+ala4+a3ad+ala5+a3a5+a4as) t?,
l1+(2al+a3+a4+a5+a6) t+

(a1’ +ala3+ala4+a3a4+ala5+a3a5+ala6+a4ab+a5ab6) t?,

1+ (2al+a4+a5+2a6) t+ (al’+ala4+alab+ad4a5+2alab+a4ab+abab+ab6’) t?,
1+(2a2+2a3+a4+a5) t+ (a2’°+2a2a3+a3’+a2a4+a3a4+a2ab+a3ab+a4a5) t?,
1+ (2a2+a3+a4+a5+a6) t+
(a22+a2a3+a2a4+a3a4+a2a5+a3a5+a2a6+a4a6+a5a6) t2,
2a2+ad4+a5+2a6) t+ (a2?2+a2ad+a2a5+ad4a5+2a2ab+adab+abab + a6’
2a3+2a4+a5+ab
a3+a4+2ab5+2ab

2al+a2+a3+2a7

1+ (
1+ ¢ yt+ (a32+2a3a4+a4’+a3a5+a4a5+al3a6+adab+abab
1+ ( )t

1+ ( yt+ (al?+ala2+ala3+a2a3+2ala7+a2a7+a3a7+ar?
yt+ (al?+alad+alab+ad4ab+2ala7+a4al+aba7+ar?
1+ (al+a2+a3+ab6+2a7) t+

(ala2+ala3+a2a6+a3a6+ala7+a2a7+a3al+a6al+al’) t?,

( )
( )
+ (a3 a4 +a3a5+a4a5+a5" +a3a6+a4ab+2a5a6+a6’) t?,
( )
1+ (2al+a4+a5+2a7) t+ | )

1+ (2a2+a4+a5+2a7) t+ (a2’ +a2a4+a2ab+a4a5+2a2a7+a4a7+abal+al’) t?,
1+ (a2+a3+ad4+a6+2a7) t+
(a2a3+a2a4+a3a6+a4a6+a2a7+a3a7+a4al+abal+al’) t?,

1+ (2a3+a5+a6+2a7) t+ (a3’ +a3a5+a3a6+a5a6+2a3a7+a5a7+a6al+arl’) t?,

1+ (2a4+a5+a6+2a7) t+ (a4’ +a4a5+ad4a6+a5a6+2a4a7+a5a7+a6al+al’) t?,

1+ (a5+a6+a7) t}

inizol= alpha4 = Multiply[alpha2]
Out[30]=
{1+ (4al+4a2+a3+a4+a5+ab6) t+
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(6al?+12ala2+6a2°+3ala3+3a2a3+3ala4+3a2a4+a3a4+3ala5+
3a2a5+a3a5+a4a5+3ala6+3a2a6+a3a6+a4a6+a5a6) t2
(4a1®+12a1a2+12ala2’+4a2°+3al’a3+6ala2a3+3a2°a3+3al” a4+
6ala2a4+3a2°ad4+2alaldas+2a2a3a4+3al’a5+6ala2ab+
3a22a5+2ala3a5+2a2a3a5+2alada5+2a2ada5+a3ada5+
3al’a6+6ala2a6+3a2’a6+2ala3ab+2a2a3a6+2aladab+
2a2a4a6+a3a4a6+2ala5a6+2a2a5a6+a3a5a6+a4a5a6) 3+
(a1*+4a1*a2+6a1?a2” +4ala2’ +a2* +al®>a3+3al’a2a3+3ala2’a3 +
a2®a3+al®a4+3al’a2a4+3ala2’as4+a2%ad4+al’a3ad4+2ala2a3as+
a2?a3a4+al*a5+3al’a2a5+3ala2’a5+a2°a5+al’a3a5+2ala2a3a5+
a2?a3a5+al’ad4a5+2ala2a4a5+a2’a4a5+ala3a4a5+a2a3a4a5+al®a6+
3al’a2a6+3ala2’a6+a2%a6+al’a3a6+2ala2al3 a6+a2’a3a6+al’a4ab+
2ala2a4ab+a2’a4abralaldadab+a2aldadab+al’abab+2ala2abab+
a2’ a5 a6 +al a3 a5a6+a2a3a5a6+ala4a5ab+a2a4a5ab+a3a4a5ab) t*,
1+ (4al+3a3+2a4+2a5+a6) t+ (6al’+9ala3+3a3’+6ala4+5a3a4+
a4’ +6ala5+5a3a5+3a4a5+a5”°+3alab+2a3a6+2a4a6+2a5a6) t°+
(4a1®+9a1?a3+6ala3’+a3’+6al’a4+10ala3a4+4a3’as4+2alad’+
2a3a4’+6al’a5+10ala3a5+4a3?a5+6alasa5+5a3a4as5+ad’as+
2ala5?+2a3a5’+a4a52+3al’a6+4ala3a6+a3’a6+4alasab+
3a3a4a6+a4’ab+4ala5a6+3a3a5a6+3a4ab5a6+as’a6) t+
(a1*+3a1®>a3+3a1?a3’ +ala3’+2al’a4+5al”>a3a4+4ala3’ a4 +a3’ a4~
al’a4”’ +2ala3 a4’ +a3?a4’+2al’>a5+5al”a3a5+4ala3’a5+a3>a5+
3al’a4a5+5ala3a4a5+2a3?ad4a5+alas’a5+a3as’a5+al’a5?+2ala3as+
a3?a5%+ala4a5’+a3a4as5’+al*a6+2al’a3a6+ala3d’a6+2al’ad4a6+

3alal3adab+a3’ad4abralad?ab+ralzad?ab+2al’a5a6+3ala3da5ab6+a32abab+

3ala4a5a6+2a3a4a5ab+a4’a5ab+alas’ab+a3as’a6+ad4as’ab) t?,
1+ (2al+2a2+2a3+2a4+2a5+2a6) t+
(al1*+4ala2+a2°+4ala3+2a2a3+a3”°+3ala4+3a2a4+3a3a4+a4’+3ala5+

3a2a5+3a3a5+4a4a5+a5°+2ala6+4a2a6+4a3a6+3a4a6+3a5a6+a6’) t’+

(2a1?a2+2ala2’+2al’a3+4ala2a3+2ala3’+al’a4+4ala2ad+a2’ad+
4ala3ad+2a2a3ad4+a3?2a4+alas?+a2ad’+a3a4?+al’a5+4ala2as+
a2?a5+4alal3a5+2a2a3a5+a3?a5+4alada5+4a2ada5+4a3adab+
2a4”°a5+ala5’+a2a5”°+a3a5”+2a4a5”+4ala2a6+2a2’a6+4ala3ab+
4a2a3a6+2a3’a6+2ala4ab+4a2a4ab+4a3a4ab+ad’ab+2alabab+
4a2a5a6+4a3a5a6+4a4a5ab+a5’ab+2a2a6’+2a3a6”+a4ab” +a5ab’) t>+

(a1?a2® +2a1?a2a3 +al’>a3’ +al’a2a4 +ala2’ a4 +al’>a3a4+2ala2a3 a4+

ala3?a4 +ala2ad4’+ala3dad’+al?a2a5+ala2?a5+al?a3a5+2ala2a3ab+
ala3?a5+al’?a4a5+2ala2ad4a5+a22a4a5+2alaldadab+2a2a3a4asb+
a3?ad4a5+alad’a5+a2ad’a5+a3a4’a5+ala2a5?+ala3as?+aladasb?+

a2 a4 a5? +a3 a4 a5’ +a4?as5?+2ala2’a6+4ala2al3ab+2ala3’?ab+2ala2adab+

a2’ a4 a6+2ala3adab+2a2a3a4ab+a3’asab+a2ad’ab+a3ad’ab+
2ala2a5a6+a2?a5a6+2alal3a5a6+2a2a3a5a6+a3?a5a6+2aladabab+
2a2a4abab+2a3adab a6 +ad’ab a6 + a2 ab2 a6 + a3 ab2 a6 + ad a52 a6 + a22 a6? +
2a2a3a6” +a3”a6” + a2 a4 a6’ + a3 a4 a6’ + a2 a5 a6 + a3 a5 a6” + a4 a5 a6’ t*,

1+ (4a2+a3+2a4+2a5+3a6) t+ (6a2”>+3a2a3+6a2a4+2a3a4+ad’+
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6a2a5+2a3a5+3a4a5+a5°+9a2a6+2a3a6+5a4a6+5a5a6+3a6°) t”+
(4a2°+3a2°a3+6a2°a4+4a2a3a4+2a2a4’ +a3a4’+6a2’°a5+4a2a3a5+
6a2a4a5+3al3a4a5+ad’ab+2a2a5’+al3as5’+a4a5%+9a2%a6+
4a32a3a6+10a2adab+3al3adab+2ad’>a6+10a2a5a6+3a3abab+
5a4a5a6+2a5” a6+ 6a2a6” +a3 a6’ +4a4ab’ +4a5a6° +a6’) t’+
(a2* +a2°a3+2a2%a4 +2a2° a3 a4 + a2’ a4’ + a2 a3 a4’ + 2a2° a5+ 2a2° a3 a5 +
3a2? a4 a5+3a2a3a4a5+a2a4’a5+al3a4’a5+a2?a5”+a2a3a5%+a2a4as +
a3a4a5’+3a2%a6+2a2%a3a6+5a2%a4a6+3a2a3a4ab+2a2ad’ a6+
a3a4’a6+5a2°a5a6+3a2a3a5a6+5a2a4a5a6+2a3a4abab+a4’abab+
2 a2 a5? a6 + a3 a5° a6 + a4 a5” a6 + 3 a2” a6’ + a2 a3 a6’ + 4 a2 a4 a6” + a3 a4 a6” +
a4’ a6” + 4 a2 a5 a6’ + a3 a5 a6’ + 2 a4 a5 a6” + a5° a6” + a2 a6> + a4 a6° + a5 a6>) t*,
1+(3a3+3a4+3a5+3a6) t+(3a3°+7a3a4+3a4’+7a3as5+
7a4a5+3a5°+7a3a6+7a4ab+7a5a6+3a6°) t%+
(a3’ +5a3’°a4+5a3a4” + a4’ +5a3” a5+ 11a3 a4 a5+ 5a4” a5+ 5a3 a5% +
5a4a5’+a5>+5a3%a6+11a3a4ab+5a4’a6+1la3abab6+
1la4a5a6+5a5°a6+5a3a6°+5a4a6” +5a5a6” +a6>) t°+
(a3 a4 +2a3? a4” + a3a4” + a3’ a5+ 4 a3 a4 a5+ 4 a3 a4’ a5 + a4” a5 + 2 a3 a5” +
4a3a4a5”+2a4”a5” +a3a5%+a4a5°+a3’a6+4a3”a4a6+4a3a4”a6+ad’ a6+
4a3’a5a6+9a3a4a5ab+4as4’a5a6+4a3a5”ab+4as4a5”a6+a5 a6 +2 a3’ a6’ +
4 a3 a4 a6’ + 2 a4’ a6” + 4 a3 a5 a6” + 4 a4 a5 a6’ + 2 a5° a6” + a3 a6> + a4 a6’ + a5 a6
t', 1+ (4al+a2+a3+a4+a5+4a7) t+
(6a12+3ala2+3ala3+a2a3+3a1a4+a2a4+a3a4+3ala5+a2a5+
a3a5+a4a5+12ala7+3a2a7+3a3a7+3a4a7+3a5a7+6a7’) t7+
(4a1®+3a1?a2+3al’a3+2ala2a3+3al’a4+2ala2a4+2ala3 a4+
a2al3ad4+3al’?a5+2ala2a5+2ala3a5+a2a3a5+2aladas+
a2 a4a5+al3ada5+12al’a7+6ala2a7+6ala3dar+2a2a3a7+
6alad4dar7+2a2a4ar7+2a3ad4a7+6alaba7+2a2a5a7+2a3a5a7+
2a4a5a7+12ala7’°+3a2a7’°+3a3a7’+3a4ar7’+3a5a7°+4a7’) t>+
(a1*+a1®a2+a1’a3+al’a2a3+al’a4+al’a2a4+al’a3a4+ala2a3ad+
al®a5+al’a2a5+al’a3a5+ala2a3a5+al’ada5+ala2adab+alal3asas+
a2a3a4a5+4al*a7+3al’a2ar7+3al’a3a7+2ala2a3a7+3al’ad4ar+
2ala2a4a7+2ala3ad4a’+a2al3a4ar’+3al’a5a7+2ala2aba7+2ala3a5a7 +
a2a3a5a7+2alada5a7+a2ada5ar7+a3ada5a7+6al’ar’+3ala2ar’+
3ala3ar’+a2al3ar*+3aladar’*+a2adar’*+a3ad4ar*+3alasar’+a2a5ar’+
a3a5a7’+ad4a5a7’+4ala7’+a2a7’ +a3a7’+ad4a7’ +as5ar’ +ar’) tt,
l+(al+3a2+a3+ad4+a5+a6+4a7) t+ (3ala2+3a22+ala3+2a2a3+ala4+
2a2a4+a3a4+alab+2a2a5+a3a5+a4a5+3a2a6+a3ab+a4ab+
a5a6+3ala7+9a2a7+3a3ar7+3a4al+3a5a7+3a6al+6a7’) t’+
(3a1a2®+a2°+2ala2a3+a2”°a3+2ala2a4+a2’a4+ala3a4+a2a3ad+
2ala2a5+a2”°a5+ala3a5+a2a3a5+ala4a5+a2a4a5+a3a4ab+3a2?a6+
222a3a6+2a2a4a6+a3a4ab6+2a2aba6+a3a5a6+a4a5a6+6ala2av+
6a2?a7+2ala3ar’+4a2a3a7+2ala4ar+4a2ad4a7’+2a3a4a7+2ala5a7+
4a2a5a7+2a3aba7+2ad4ab5a7+6a2a6a7+2a3a6ar7+2a4a6av +
2a5a6a7+3ala7’+9a2a7’+3a3a7’+3a4a7°+3a5a7°+3a6a7’ +4a7’) t’+
(a1a2®+ala2’a3+ala2’a4+ala2a3a4+ala2’a5+ala2a3a5+ala2asas+
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ala3a4a5+a2®a6+a2%a3a6+a2%a4a6+a2a3a4a6+a2’a5a6+a2a3abab-+
a2 a4a5a6+al3ada5a6+3ala2?a7+a2’ar+2ala2al3ar+a2?a3ar +
2ala2a4a7+a2’ad4a7+alal3adar’+a2al3a4ar’+2ala2a5a7+a2’a5a7 +
ala3aS5a7+a2a3a5a7+aladabaT+a2ad4abar’+al3a4asar+3a2%a6ar +
2a2a3a6ar+2a2ad4a6a7+a3ad4a6a7+2a2a5a6ar7+al3a5a6ar7+ad4a5a6ar+
3ala2a7?+3a2?a7’+ala3ar’+2a2a3a7’+alad4ar’+2a2as4ar’+
a3a4ar’+ala5ar7’+2a2a5a7>+a3a5ar7’+ad4a5ar7>+3a2a6ar’+a3a6ar’+
a4 a6 a7’ +a5a6a7’+ala7’+3a2a7> +a3a7’+a4a7’ +a5a7> +a6a7’+art) tt,
1+ (@a2+3a3+ad4+a5+2a6+4a7) t+
(3a2a3+3a32+a2a4+2a3a4+a2a5+2a3a5+a4a5+a2a6+5a3a6+2a4a6+
2a5a6+a6°+3a2a7+9a3a7+3a4a7+3a5a7+6a6a7+6a7’) t?+
(3a2a3?+a3°+2a2a3a4+a3”a4+2a2a3a5+a3’a5+a2a4a5+a3a4as5+
2a2a3a6+4a3’a6+a2a4a6+3al3a4ab+a2a5a6+3a3a5ab+2a4abab+
2a3a6’+a4a6’+abab’+6a2a3a7+6a3’ar+2a2a4a7+4a3adar +
2a2a5a7+4a3aba7v+2ad4a5a7+2a2a6a7+10a3ab6a7+4a4a6av+
4a5a6a7+2a6”a7+3a2a7’+9a3a7’+3a4a7°+3a5a7°+6a6ar’+4ar’) t’+
(a2 a3®+a2a3”a4 +a2a3”a5+a2a3a4a5+a2a3”a6+a3’a6+a2a3a4ab+
a3?2 a4 a6 + a2 a3 a5 a6 + a32 a5 a6 + a2 a4 a5 a6 + a3 a4 a5 a6 + a3 a6 + a3 a4 a6 +
a3a5a6’ +a4a5a6”+3a2a3’av+a3’av7+2a2a3ad4a7+a3’ad4arv+2a2a3a5a7+
a3’a5ar+a2ad4aSa7+a3adabaT+2a2al3aba7+4a3’a6a7+a2adabar+
3a3a4a6a7+a2a5a6a7+3al3a5a6a7+2a4a5a6a7+2a3a6’a7 +a4a6’ar +
a5a6’a7+3a2a3a7’+3a3”a7’+a2ad4a7’+2a3a4ar7’+a2a5a7’+2a3a5a7’+
a4aba7’+a2ab6ar’+5a3a6ar’+2a4ab6ar’+2a5a6a7’+a6’ar’+a2ar’+
3a3a7’+a4a7’+a5a7°+2a6a7’+a7*) t*, 1+ (2a4+2a5+2a6+3a7) t+
(a4 +3a4a5+a5°+3a4a6+3a5a6+a6° +4a4a7+4a5a7+4a6a7+3a7’) t?+
(a4? a5 + a4 a5% + a4” a6 + 2 a4 a5 a6 + a5° a6 + a4 a6 + a5 a6” + a4’ a7 +3a4 a5 a7 +
a5’a7+3a4a6a7+3a5a6a7+a6°al+2a4a7’+2a5a7°+2a6a7’ +a7’) t’}

ini31= alpha8 = Multiply[alpha4]

Out[31]=

{l+ +
(a1®+4a1” a2+ 6a1®a2? + 4al°a2® +al®a2® + 4al’ a3 + +3ala3a4a5’a6?+2a2a3a4 a5’ a6? +

a3’ a4 a5% a6’ + al a4” a5® a6” + a2 a4” a5’ a6’ + a3 a4’ a5% a6?) t?, , }

Size in memory: 2.2 MB 4+ Show more it Show all +++ Iconize ¥ | | Store full expression in notebook @

ini32l:= alphal6é = Multiply[alpha8]

out[32]=
{l + +
(a1'®a2° +4a1° a2’ + 6218 a2% + 4a1” a2 + a1® a2’ + 3a1'® a2° a3 + +4 a2 a3 a4’ a5° a6’ +
2 a3” a4’ a5° a6’ + al a4’ a5° a6’ + a2 a4® a5° a6’ + a3 a4® a5° a6’ ) t'°, s }

Size in memory: 79.4 MB 4 Show more 2 Show all -« Iconize v | Store full expression in notebook @
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in33l= alpha32 = Multiply[alphalé6]

out[33]=
{1+ + (a1™® a2'®a3® a4 + 5a1' a2'' a3® a4 + 10 al'® a2'” a3® a4 + 10 a1’ a2'® a3® a4 + +
al a4® a5° a6 a7' + a2 a4® a5° a6'® a7 + a3 a4® a5° a6'% a7?) t¥, 1+ + }
Size in memory: 5.7 GB 4+ Show more i Show all «+<J Iconize v | | Store full expression in notebook @

ini34:= result = Collect[Times @@ alpha32, t]

Out[34]=
1+ +
(a4® a5 + a4 a5” + a4”> a6 + 2 a4 a5 a6 + a5° a6 + a4 a6” + a5 a6* + a4’ a7 + 3 a4 a5 a7 + a5* a7+ 3 a4 a6 a7 + 3a5a6 a7 +
a6’ a7+2a4a7’+2a5a7>+2a6a7’ +a7’) (al’® a2'®a3® a4+ +a3 a7?) t*°
Size in memory: 22.9 GB 4+ Show more iif Show all ««¢ Iconize ¥ | Store full expression in notebook @

ini3s- HH = Take[List @@ result, {2, 9}]

Out[35]=
{(15a1+15a2+15a3+15a4+15a5+15a6+15a7) t, , (6435a1% +81510al1” a2 + +
(2a4+2a5+2a6+3a7) (6435al’ +65065al®a2+248105al> a2’ + +10626 a6 a7° +792a7") ) t%}
Size in memory: 2.8 MB 4+ Show more iif Show all .+¢J Iconize v | | Store full expression in notebook @

inisel:= {H1, H2, H3, H4, H5, H6, H7, H8} = ParallelMap[Simplify, HH /. t » 1]

out[36)=

{15 (al+a2+a3 +a4+a5+a6+a’), s

3 (214521° + +al (27170227 + 27170 a3" + + +
a2 (273988 a3° + +a3” (6445715 a4* + +ad ( 1))}
Size in memory: 1.1 MB 4+ Show more it Show all ««¢/ Iconize v | Store full expression in notebook @

ini371:- SymmetricReduction[H8, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Oout[37]=

{6435 f1° + 30030 f1° f2 + 32175 f1* £2° + 7920 f1° f2° +
210 f2* + 6864 f1° f3 + 7524 f13 f2 f3 + 1008 f1 f22 f3 - 84 f12 f32 -
24 f2 £3%2 - 5280 f1* f4 - 3759 f12 f2 f4 - 192 f22 f4 - 237 f1 f3 f4 + 6 42 -
3570 f1° f5 - 951 f1 f2 5+ 33 f3 f5 + 2370 f1° f6 + 222 f2 f6 + 3624 f1 f7, 0}

in3gl:- m8 = First[%37]
out[38]=

6435 18 + 30030 f1° f2 + 32175 f1* f22 + 7920 f12 f2° + 210 f2* +
6864 f1° f3 + 7524 f13 f2 f3 + 1008 f1 f22 f3 - 84 f12 32 - 24 f2 f32 -
5280 f1% f4 - 3759 f1° f2 f4 - 192 22 f4 - 237 f1 f3 f4 + 6 f4° -
3570 f1° f5 - 951 f1 f2 f5 + 33 f3 f5 + 2370 f1% f6 + 222 f2 6 + 3624 f1 f7

ini3o]:- SymmetricReduction[H7, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Out[39]=

{6435 f17 + 20020 f1° f2 + 12870 f1° f2% + 1440 f1 f2° +

3146 f1* f3 + 1836 f12 f2 f3 + 72 f22 3 - 27 f1 32 - 2156 f13 f4 -
702 f1f2 f4 - 18 f3 f4 - 904 17 5 - 72 f2 f5 + 454 f1 f6 + 302 f7, 0}
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inf401:= m7 = First[%39]
Out[40]=

6435 f17 + 20020 f1° f2 + 12870 f13 22 + 1440 f1 23 +
3146 f1* 3+ 1836 f12 f2 f3 + 72 22 f3 - 27 f1 32 - 2156 f1° f4 -
702 f1 f2 f4 - 18 f3 f4 - 904 f12 f5 - 72 f2 5 + 454 f1 f6 + 302 7

infa1:= SymmetricReduction[H6, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Out[41]=

{5005 f1° + 10010 f1* f2 + 3510 f1° 2% + 120 f2° + 1040 f1° £3 +
270 f1 f2 f3 -3 £3? - 600 f1° f4 - 60 f2 f4 - 140 f1 5 + 40 f6, 0}

inf421= m6 = First[%41]
out[42]=

5005 f1° + 10010 f1* f2 + 3510 f12 22 + 120 23 + 1040 f13 3 +
270 f1 f2 f3 -3 32 - 600 f1? f4 - 60 f2 f4 - 140 f1 f5 + 40 6

inf43l:- SymmetricReduction[H5, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
out[43]=

{3003 f1° + 3640 f1° f2 + 585 1 f2° + 234 f1? f3+ 18 f2 f3- 102 f1 f4- 10 f5, 0}

inf441= m5 = First[%43]
Out[44]=

3003 f1° + 3640 f13 f2 + 585 f1 f22 + 234 f1? f3 + 18 f2 f3 - 102 f1 f4 - 10 f5

inl45:- SymmetricReduction[H4, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Out[45]=

{1365 f1* + 910 f1% f2 + 45 f2? + 32 f1 f3 - 8 f4, 0}

inj46= m4 = First[%45]
out[46]=

1365 f1% + 910 f12 f2 + 45 f22 . 32 f1 f3 -8 f4

in471- SymmetricReduction[H3, {al, a2, a3, a4, a5, a6, a7}, {fl1, f2, f3, f4, f5, f6, f7}]
Out[47]=

{455 f1° + 140 f1 f2+ 2 f3, 0}

inf4sl:= M3 = First[%47]
out[48]=

455 f1% 1 140 f1 f2 + 2 3

inf49]:- SymmetricReduction[H2, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Out[49]=

{105 f1* + 10 2, 0}

infs01:= m2 = First[%49]
out[50]=

105 f12 + 10 f2

inis11:- SymmetricReduction[Hl1l, {al, a2, a3, a4, a5, a6, a7}, {f1, f2, f3, f4, f5, f6, f7}]
Out[51]=

{15 f1, 0}
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inf521= m1 = First[%51]

out[52]=

15 f1

inis3:= AugmentedSymmetricPolynomial[ {8}, {a, b, c, d, e, f, g, h}]

Out[53]=
a8+b8+C8+d8+e8+‘F8+g8+h8
inls4:- SymmetricReduction[%53, {a, b, ¢, d, e, f, g, h}, {d1, d2, d3, d4, d5, d6, d7, d8}]

out[54]=

{d18—8d16 d2 +20d1*d2?-16d1%2d2% +2d2%+8d1°d3-32d1%3d2d3 +
24d1d22d3+12d12d3%-8d2d32-8d1*d4 +24d12d2d4 -8d22d4 - 16d1d3d4 +
4d4? +8d1°d5-16d1d2d5+8d3d5-8d1°d6+8d2d6+8d1d7-8ds, 0}

injs51- S8 = First[%54]

Out[55]=

d1® - 8d1°d2 +20d1*d2? - 16d1%2d2% +2d2*+8d1°d3-32d1%d2d3 +
24d1d22d3+12d1%2d3%-8d2d3?2-8d1*d4 +24d12d2d4 - 8d22d4 - 16d1d3d4 +
4d4?+8d1°d5-16d1d2d5+8d3d5-8d1°d6+8d2d6+8d1d7-8d8

inisel:= AugmentedSymmetricPolynomial[{7}, {a, b, c, d, e, f, g, h}]

out[56]=
a7+b7+c7+d7+e7+f7+g7+h7

inls7:- SymmetricReduction[%56, {a, b, c, d, e, f, g, h}, {d1, d2, d3, d4, d5, d6, d7, d8}]

out[57]=

{d1”-7d1°d2+14d1°d2* - 7d1d2®+7d1%d3-21d1%°d2d3+7d2*d3+
7d1d3?-7d1*d4 +14d1d2d4-7d3d4+7d1°d5-7d2d5-7d1d6+7d7, 0}

infs8l:= ST = First[%57]

out[58]=

d1” - 7d15d2+14d13d2?2 - 7d1d2%+7d1*d3-21d1?d2d3 +7d22d3 +
7d1d32-7d13d4+14d1d2d4-7d3d4+7d12d5-7d2d5-7d1d6+7d7

inis9]:- AugmentedSymmetricPolynomial[{6}, {a, b, c, d, e, f, g, h}]

Out[59]=
a®+b®+c®+d®+ef+ f8 1 g® 4"
inleol:- SymmetricReduction[%59, {a, b, ¢, d, e, f, g, h}, {d1, d2, d3, d4, d5, d6, d7, d8}]

Out[60]=

{d1°-6d1%d2+9d1%d2?-2d2°+6d1°d3 -
12d1d2d3+3d3*-6d1°d4+6d2d4+6d1d5-6d6, 0}
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In[61]:=

out[61]=

In[62]:=

out[62]=

In[63]:=

Out[63]=

In[64]:=

Out[64]=

In[65]:=

out[65]=

s6 = First[%60]

d1®-6d1*d2+9d1?d22-2d2®+6d13d3-
12d1d2d3+3d3?-6d1%2d4+6d2d4+6d1d5-64d6

AugmentedSymmetricPolynomial[ {5}, {a, b, ¢, d, e, f, g, h}]

a5+b5+c5+d5+e5+f5+g5+h5

SymmetricReduction[%62, {a, b, ¢, d, e, f, g, h}, {d1, d2, d3, d4, d5, d6, d7, d8}]

{d1°-5d1°d2+5d1d2* +5d1*d3-5d2d3-5d1d4+5d5, 0}

s5 = First[%63]

d1®-5d13d2+5d1d2?+5d12d3-5d2d3-5d1d4+5d5

ch21 =21+dl*t+ (1/2) % (d1722-2%d2) *»t"2+ (1/6) » (d1*3 -3 %xdlxd2+3xd3) xtA3+
(1/24) * (d174-4%d1"2+%d2+4+xd1l*xd3+2%xd272-4+xd4) »t 4+
(1/120) *s5%tA5+ (1/720) xs6+tA6+ (1/5040) +sT+tA7+ (1/40320) +s8+tA8

1 1
21+dlt+— (d1?-2d2) t>+ — (d1®-3d1d2+3d3) 3+

2 6

1

—<d1474d12d2+2d22+4d1d374d4) t4 s

24

1 5 3 2 2 5

—— (d1°-5d1°d2+5d1d2°+5d1°d3-5d2d3-5d1d4+5d5) t° +

120

1

—(dle—6d14d2+9d12d22—2d23+6d13d3—

720

2 2 6 1
12d1d2d3+3d3%-6d1 d4+6d2d4+6dld5—6d6)t +

5040

(d1"-7d1°d2 +14d1%d2* - 7d1d2® + 7d1* d3 - 21 d1* d2 d3 + 7 d2° d3 + 7 d1 d3” -
7d1*d4 +14d1d2d4-7d3d4+7d1°d5-7d2d5-7d1d6+7d7) t" +

——— (d1®-8d1°d2 +20d1% d2® - 16 d1* d2°® + 2d2* + 8 d1° d3 - 32d1° d2d3 +
40320

24d1d2*d3 +12d1*d3? - 8d2d3® - 8d1*d4 + 24 d1* d2d4 - 8d2* d4 - 16 d1d3 d4 +
4d4”? +8d1*d5-16d1d2d5+8d3d5-8d1°d6+8d2d6+8d1d7-8d8) t°
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inesl= ch35=35+dl*t+ (1/2) % (d1"2-2%d2) *t"2+ (1/6) * (d1"3-3%xdlxd2+3»d3) *xt"3+
(1/24) » (d124 -4 %d1r2xd2+4%d1lxd3+2xd222-4%xd4) xt 4+
(1/120) S5%tA5+ (1/720) »s6+tA6+ (1/5040) +ST+tA7+ (1/40320) +s8+tA8

out[66]=

1 1
35+dlt+ — (d1272d2) 24 = (d1373d1d2+3d3) 34

2 6
1 2
— (d1*-4d1?d2+2d2*+4d1d3-4d4) t*+
24
1
—— (d1°-5d1°d2+5d1d2® +5d1*d3-5d2d3-5d1d4+5d5) t° +
120
1 6 4 2 2 3 3
—— (d1°-6d1*d2+9d1%d2*-2d2° + 6d1°d3 -
720
1
12d1d2d3+3d3°-6d1*d4+6d2d4+6d1d5-6d6) t°+
5040

(d1777d15d2+14d13d2277d1d23+7d14d3721d12d2d3+7d22d3+7d1d327
7d1°d4+14d1d2d4-7d3d4+7d1°d5-7d2d5-7d1d6+7d7) t" +

(dl8 -8d1%d2 +20d1%*d2?2 - 16d12d23+2d2* +8d1°d3-32d13d2d3+
40320

24d1d2*d3+12d1*d3? - 8d2d3®-8d1*d4 +24d1* d2d4 - 8d2* d4 - 16 d1d3 d4 +
4d4? +8d1°d5-16d1d2d5+8d3d5-8d1°d6+8d2d6+8d1d7-8d8) t°
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ne71= td =1+ (1/2) *cl*xt+ (1/12) * (cl*2+c2) »t"2+ (1/24) *xcl*xc2+xt"3-
(1/720) (c1l"4-4%cl?2%xc2-3%xc2h2-clxc3+c4)»xt"4-
(1/1440) * (c1r3%c2-3*xclxc2M2-cl?2%xc3+clxcd) »t 5+
(1/60480) * (2*xcl?6-12%xCcl?4%xc2+11%xcl?2%xc22+10%xc2*3 +5%xcl?3%xc3+
11xcl*xc2%xc3-¢c3"2-5%cl?2%xc4-9%c2%xCc4-2%xCclxc5+2%c6) *xt"6+

(1/60480) * (c1A"5%c2-5%cl?3%xc272+5%cl*xc273-cl?4%xc3+ (11/2)*xclM2xc2%*
c3-(1/2)*cl*xc3"2+cl?3%xc4-(9/2)*clxc2xc4-clM2%xc5+cl*c6) *t T -

(1/3628800) * (3xcl”"8-24xcl”"6xc2+50%xcl?*4+%c272-8xcl?2%xc2"3-
21%c2"4 +14%c1l?"5%xc3-26%xcl?3%xc2*xc3-50%xclxc22*xc3-
3#CclM2+%c3"2+8%c2%c3"2-14%cl4%xc4+19%cl?r2xc2xcl+
34xc2"2%xc4+13xcl*xc3*xc4-5+c472+T7%cl?3xc5+16xclxc2%c5-
3xCc3%c5-7%cl?2%c6-13%xc2%xc6-3*xclxc7+3%c8) »t"8

out[67]=
clt 1 1
1+ +—(c12+c2)t2+—clc2t3—
2 12 24
1 (cl3 c2-3clc2?2-c1?c3+cl c4) t>
—(cl4—4c12c2—3c22—clc3+c4)t4— +
720 1440
1
(2c1°-12c1*c2+11c1?c2’°+10c2®+5c1’c3 +
60480
1lclc2c3-c3°-5cl®c4-9c2c4-2clc5+2c6) t°+
1 11 clc3?
cl®c2-5c13c2?+5clc2®-c1*e3+ — cl?c2c3 - +
60480 2 2
3 9clc2c4 ) . 1
cl>c4- —— -cl°c5+clco|t' - ——
3628800

(3 c1® - 24¢c1%c2+50c1%c2?2-8c1?c2®-21¢c2*+14c1°c3-26c13c2c3-
50clc2?c3-3c12c3?2+8c2c3%2-14cl*c4+19cl?c2c4+34c2?c4+13clc3cl-
5c42+7c13c5+16c1c2c5—3c3c5—7c12c6—l3c2c6—3clc7+3c8) 8

infesl:= Expand[ch21 » td]
Out[68]=

2lclt 7c1? t? 7c2t? 1 c8ds ti®
21+ —— +dlt+ —— + +>cldlt?+ —_—
2 4 4 2 6096 384000

Size in memory: 1.2 MB 4+ Show more i Show all +++) Iconize ¥ | | Store full expression in notebook

inleol:- SeriesCoefficient[%68, {t, 0, 8}]

out[69]=
c18 c1®c2 c1*c2? c1?c2® Tc2* T7cl®c3 13cl®c2c3 clc2?c3
- + - + + + + +

57600 7200 3456 21600 57600 86400 86400 3456
cl>c3? c2c3?2 7Tcl*c4 19cl?c2c4 17c22c4 13clc3c4 c4? 7 c13c5

_ N _ _ _ N _
57600 21600 86400 172 800 86400 172 800 34560 172 800
clc2c5 c3c5 7cl?c6 13c2c6 clc7 c8 cl®c2dl  c13c2?d1
+ + + + - + - +
10800 57600 172 800 172 800 57600 57600 60480 12 096

clc23dl c1%c3d1 cl3c4dl clc2c4dl
_ N N _ _

12096 60480 120960 120960 60480 13440

11cl?c2c3dl clc3?d1

Y
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cl?c5dl clc6dl c1%°d1? c1%c2d1? 11cl?c2?2d1? c23d1? c13®c3d1?

+ + - + + + +
60480 60480 60480 16080 120960 12096 24192
1lclc2c3dl® ¢3°dl® cl1’c4dl® c2c4dl*> clc5d1*> c6dl®> cl®c2d1®
- - - - + - +
120960 120960 24192 13440 60480 60480 8640
clc2?d1l® c1?c3d1® clc4d1® c1*di* c1?c2d1* c2?d1* clc3di?
+ - - + + + -
2880 8640 8640 172860 4320 5760 172860
c4dl* clc2d1® c1°d1® c2d1® cid1’  d1®  c1®°d2 cl*c2d2
+ + + + + - + -
172860 2880 8640 8640 10080 40320 30240 5040
11cl?c2*d2  c2°d2 c1®c3d2 11clc2c3d2 ¢3°d2 cl’c4d2 c2c4d2
- - - + + + +
60 480 6048 12096 60480 60480 12096 6720
clc5d2 c6d2 cl®c2did2 1 5 cl?c3dld2 clc4did2
- + - ——clc2did2- + +
30240 30240 2880 960 2880 2880
c1*d1*d2  c1?c2d1*d2 c2*d1*d2 clc3dl®’d2 c4di*d2 1 5
- - - + - ——clc2d1’d2-
4320 1680 1440 4320 4320 576
cl?di*d2  c2d1*d2 c1d1®d2 di1°d2 c1*d2* cl?c2d2® c2°d2® clc3d2?
- - - - + + + -
1440 1440 1440 5040 8640 2160 2880 8640
c4 d2?

1
+ clc2d1d2?+ — c1?d12d2?+ c2d1?d2?+ cl1d1®d2?+

8640 576 960 960 720
d14d2? c1%2d2® c2d2® «c1did2® di?2d23 d24 cl3c2d3 1

- - - - + - + clc22d3+
2016 4320 4320 1440 2520 20160 2880 960
cl?>c3d3 clc4d3 cl*did3 cl1?c2dld3 c22did3 «clc3dld3 c4d1ld3
- - + + + - +
2880 2880 4320 1080 1440 4320 4320
1 5 c12d13d3 c2d1®d3 c1di1*d3 di>d3 1
——clc2d1l“d3+ + + + - ——clc2d2d3-
576 1440 1440 1440 5040 576
1 X 1 1 5 d13d2d3 c1d2?d3
—— cl“dld2d3- — c2d1d2d3 - — c1dl1°d2d3 - + +
720 720 480 1260 1440
d1d2?2d3 c1?2d3? c2d3? «cl1d1d3? di1%2d3%? d2d3? cl1%d4 cl?c2d4
+ + + + - + - -
1680 2880 2880 1440 3360 5040 4320 1080
c22d4 clc3d4 c4d4 1 cl2d12d4 c2d1?d4 c1di3d4
- + - ——clc2dld4- - - -
1440 4320 4320 576 1440 1440 1440
di*d4 cl1?d2d4 c2d2d4 1 d12d2d4 d2?2d4 cld3d4
+ + + cldid2d4 + - - -
5040 1440 1440 720 1680 5040 1440
dld3d4 d4? clc2d5 c1?did5 c2did5 «cl1dil?d5 di3ds c1d2d5
+ + + + + + - -
2520 10080 576 1440 1440 1440 5040 1440
d1d2d5 d3d5 cl1?dé6 c2d6 «cldlde di1?2dé d2d6 c1d7 di1d7 ds
+ - - - - + + + -
2520 5040 1440 1440 1440 5040 5040 1440 5040 5040
inf7ol= Expand[ch35 % td]
Out[70]=
35 35clt dit 35c1? t? 35c2t? 1 1d1t2 c8ds t!®
et T T € * 6096384000
Size in memory: 1.2 MB 4+ Show more i#f Show all -++) Iconize v | | Store full expression in notebook @

in71- SeriesCoefficient[%70, {t, 0, 8}]

out[71]=
c18 cl®c2 5cl*c2? c1?c2® 7c2* 7cl®c3 13cl®c2c3 5clc2?c3

+ + + + + +

34560 4320 10368 12960 34560 51840 51840 10368
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cl?2c3? c2c3? 7cl*c4 19cl?c2c4 17c2?’c4 13clc3c4 c4? 7cl3c5

_ + _ _ _ + _
34560 12960 51840 103680 51840 103680 20736 103680
clc2c5 3¢5 7cl?c6 13c2c6 clc7? c8 cl®c2dl  c13c2?d1
+ + + + - + - +
6480 34560 103680 103680 34560 34560 60480 12096
clc23dl c1%c3dl 11cl?c2c3dl clc3?2dl cl3c4dl clc2c4dl
_ + _ + _ _
12096 60480 120960 120960 60480 13440
cl?>c5dl  clc6dl  c1®d1? cl%c2d1? 11c1?c2?2d1? c23d1? c1®c3d1?
+ + - + + + +
60480 60480 60480 10080 120960 12096 24192
1lclc2c3dl? ¢3%2d1? «cl?2c4d1l? c2c4dl®> clc5d1? c6d1?  c13c2di1sd
- - - - + - +
120960 120960 24192 13440 60480 60480 8640
clc2?2d1® c1?2c¢3d1® clc4di® c1*di* c1?2c2d1* c2?2di1* clc3di?
+ - - + + + -
2880 8640 8640 17280 4320 5760 17280
c4dl* clc2d1® c1°d1® c2d1® c1d1l’ d1®  c1®°d2 cl*c2d2
+ + + + + - + -
17280 2880 8640 8640 10080 40320 30240 5040
11cl1?c2?2d2 c23d2 c13c3d2 11clc2c3d2 c3?2d2 cl?c4d2 c2c4d2
- - - + + + +
60480 6048 12 096 60480 60480 12096 6720
clc5d2 c6d2 cl3c2did2 1 5 cl>c3d1d2 «clc4did2
- + - ——clc2did2- + +
30240 30240 2880 960 2880 2880
cl*d1?2d2 cl1l?c2d12d2 c2?d1?d2 clc3dl?d2 c4di?d2 1 5
- - - + - ——clc2d1>d2-
4320 1080 1440 4320 4320 576
cl?di1*d2 c2d1*d2 c1d1>d2 di®d2 c1*d2? c1?2c2d2? c2?2d2? «clc3d2?
- - - - + + +
1440 1440 1440 5040 8640 2160 2880 8640
c4 d2? 1
+ clc2dld2?+ — c1?d12d2?+ c2d1?d2?+ cl1d1®d2?+
8640 576 960 960 720
d1*d2* c1*d2® c2d2® «c1d1d2® di1*d2® d2* c1l®c2d3 1 X
- - - - + - + clc2d3+
2016 4320 4320 1440 2520 20160 2880 960
cl?c3d3 clc4d3 c1*did3 cl1?c2dld3 c¢22d1d3 «clc3dld3 c4dld3
- - + + + - +
2880 2880 4320 1080 1440 4320 4320
1 5 c1?d1*d3  c2d1*d3 c1d1*d3 d1°d3 1
—— clc2d1l°d3+ + + + - ——clc2d2d3-
576 1440 1440 1440 5040 576
1 X 1 1 5 d13d2d3 c1d2?d3
— c1?d1d2d3- — c2d1d2d3- — c1d1*d2d3- + +
720 720 480 1260 1440
d1d2?d3 c1?*d3®* c2d3® c1d1d3* d1°d3* d2d3* cl*d4 cl’c2d4
+ + + + - + - -
1680 2880 2880 1440 3360 5040 4320 1080
c2°d4 clc3d4 c4ds 1 c1*d1*d4 c2d1*d4 c1d1’d4
- + - ——clc2dld4- - - -
1440 4320 4320 576 1440 1440 1440
di*d4 c1?d2d4 c2d2d4 1 d1?2d2d4 d2?2d4 cld3d4
+ + + cldid2d4+ - - -
5040 1440 1440 720 1680 5040 1440
did3d4  d4* clc2d5 «cl1*°did5 c2did5 c1di*d5 di*d5 c1d2d5
+ + + + + + - -
2520 10080 576 1440 1440 1440 5040 1440

did2d5 d3d5 c12d6 c2d6 «cldidée di?2de d2d6 «cld7 did7 ds

+ - - - + + +

2520 5040 1440 1440 1440 5040 5040 1440 5040 5040
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ini721:- Expand[%69 /. {d1l - el + Binomial[21, 20] »txH,

d2 - e2 + Binomial[20, 19] xelxt*H+ Binomial[21, 19] *tA2xHA2,

d3 - e3 +Binomial[19, 18] xe2xt*H +
Binomial[20, 18] *xelx»t”A2xH"2 +Binomial[21, 18] *xtA3xH"3,

d4 » e4 + Binomial[18, 17] xe3xt*H + Binomial[1l9, 17] xe2*tA2xH"A2 +
Binomial[20, 17] *xelxtA3xHA3 +Binomial[21l, 17] *tA4xH"4,

d5 - e5 + Binomial[17, 16] xe4 xt*H + Binomial[1l8, 16] xe3 xtA2xH"2 +
Binomial[19, 16] xe2+*tA3*H"3 +
Binomial[20, 16] xelxtA4xH"4 + Binomial[21, 16] *xtA5xHA5,

d6 - e6 + Binomial[16, 15] xe5xt*H + Binomial[l7, 15] xe4xtA2xH"A2 +
Binomial[18, 15] xe3xtA3xH"3 +Binomial[19, 15] xe2*xt "4 +H"4 +
Binomial[20, 15] xelx*tA5%xH”A5 +Binomial[21, 15] *xtA6xH"6,

d7 - e7 + Binomial[15, 14] xe6xt*H + Binomial[1l6, 14] *xe5xtA2xHA2 +
Binomial[17, 14] xe4xtA3xH 3 +
Binomial[18, 14] xe3xt*4xH"4 + Binomial[19, 14] xe2*xtA5xHA5 +
Binomial[20, 14] *xelxtA6xH"6 + Binomial[21, 14] »tAT7TxHA7,

d8 - e8 + Binomial[14, 13] xe7xt*H + Binomial[l5, 13] xe6*xtA2xHA2 +
Binomial[16, 13] *e5*t*"3x*HA3 + Binomial[17, 13] *xe4*t"4xH 4 +
Binomial[18, 13] *e3 xtA5%xHA5 +Binomial[19, 13] xe2*t"6xH"6 +
Binomial[20, 13] *xelxtA7xHA7 + Binomial[21, 13] *tA8xH"8}]

Oout[72]=
c18 cl®c2 c1%c2? c1?c2® T7c2* T7c1°c3 13cl®c2c3 clc2%c3

- + - + + + + +

57600 7200 3456 21600 57600 86400 86400 3456
cl?2c3? c2c3? 7cl*c4 19cl?c2c4 17c2?c4 13clc3c4 c4? 7cl3c5

+ +

57600 21600 86400 172 800 86400 172 800 34560 172800

clc2c5 c¢3c5 7cl?c6 13c2c6 clc7 c8 cl®c2el cl3c2?el
+ + + + - + - +
10800 57600 172800 172800 57600 57600 60480 12096
clc2%el «cl*c3el 1l1cl?c2c3el <clc3?el <cl3cd4el <clc2cdel
_ + _ N _ _
12096 60480 120960 120960 60480 13440
cl?>c5el clceel cl®el? <cl%c2el? 11cl?c2?el? c2%el? cl3c3el?
+ + - + + + +
60480 60480 60480 10080 120960 12096 24192
llclc2c3el? c3%2el? <cl?c4el? c2cd4el®? clc5el? c6el? cl3c2eld
- - - - + - +
120960 120960 24192 13440 60480 60480 8640
clc2?2el® cl?2c3el® <clcdel® cl%el* cl?c2el* c22el1* clc3el?
+ - - + + + -
2880 8640 8640 17280 4320 5760 17280
cdel* clc2el® cl?el® c2e1® clel” el8 cl®e2 cl%c2e2
+ + + + + - + -
17280 2880 8640 8640 10080 40320 30240 5040
11cl?c2?e2 c2%e2 cl1l3c3e2 1llclc2c3e2 «c3%?e2 cl?cd4e2 c2cde2
- - - + + + +
60480 6048 12096 60480 60480 12096 6720
clc5e2 c6e2 cl3c2ele2 1 5 cl?>c3ele2 clcdele2
- + - —— clc2ele2- + +
30240 30240 2880 960 2880 2880
cl*el?e2 cl?c2el?e2 <c2%2el?e2 <clc3el?e2 cdel?e2 1 s
- - - + - ——clc2el”e2 -

4320 1080 1440 4320 4320 576
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cl?el*e2 c2el*e2 clel®e2 el®e2 cl*e2? <cl?c2e2? <c22e2? <clc3e2?

- - - - + + +
1440 1440 1440 5040 8640 2160 2880 8640
c4 e2? 1 1
+ clc2ele2?+ — cl?el?e2?+ c2el’e2?+ clel®e2?+
8640 576 960 960 720
el*e2? cl1?e2® c2e2® clele2® el?e23 e24 cl®c2e3 1 5
- - - - + - + clc2e3+
2016 4320 4320 1440 2520 20160 2880 960
cl?>c3e3 clcd4e3 cl*ele3 cl?c2ele3 c2?ele3 clc3ele3 c4dele3
- - + + + - +
2880 2880 4320 1080 1440 4320 4320
1 X cl?el®e3 c2el®e3 clel*e3 el’e3 1
—— clc2el“e3+ + + + - ——clc2e2e3-
576 1440 1440 1440 5040 576
1 X 1 1 5 el®e2e3 cle2?e3
—— cl“ele2e3 - —c2ele2e3 - —clel“e2e3- + +
720 720 480 1260 1440
ele2?2e3 cl?e3? c2e3?2 <clele3? el?e3?2 e2e3?2 cl*ed4 <cl’cle4
+ + + + - + - -
1680 2880 2880 1440 3360 5040 4320 1080
c2?e4 clc3e4 chde4 1 cl’el’e4 c2el’e4 clelles
- + - ——clc2ele4- - - -
1440 4320 4320 576 1440 1440 1440
el*e4 cl?’e2e4 c2ele4 1 el’?e2e4 e2%2e4 clele4
+ + + clele2e4d+ - - -
5040 1440 1440 720 1680 5040 1440
ele3e4 e4? clc2e5 <cl’ele5 <c2ele5 clel’e5 el3e5 cle2es
+ + + + + + - -
2520 10080 576 1440 1440 1440 5040 1440
ele2e5 e3e5 cl?’e6 c2e6 cleleb6 el’e6 e2e6 cle7 ele7
+ - - - - + + + -
2520 5040 1440 1440 1440 5040 5040 1440 5040
e8 cl®c2Ht 1 s 1 5 cl*c3Ht 11cl?c2c3Ht
+ - —— Ccl7c2°Ht+ clc2°Ht- + -
5040 2880 576 576 2880 5760
clc3?Ht «cl%c4Ht 1 cl?>c5Ht clc6Ht «clfPelHt
+ - ——clc2c4Ht- + + -
5760 2880 640 2880 2880 30240
cl*c2elHt 11cl?c2?elHt c2®elHt c13c3elHt 1lclc2c3elHt
+ + + + -
5040 60480 6048 12096 60480

c32elHt cl?c4elHt <c2cd4elHt clc5elHt c6elHt <cl3c2el?Ht

+ +

60480 12 096 6720 30240 30240 2880
1 S cl?c3el?Ht clcd4el’?Ht cl*el®Ht cl?c2el3Ht
—— clc2“el“Ht+ - - + +
960 2880 2880 4320 1080
c22el3Ht clc3el®Ht cd4el3Ht 1 . cl?el®Ht c2el®Ht
+ + clc2el”Ht+ + +
1440 4320 4320 576 1440 1440
clel®Ht el’Ht «cl3c2e2Ht 1 5 cl?>c3e2Ht clcd4e2Ht
+ + - ——clc2?e2Ht- + +
1440 5040 1440 480 1440 1440
clele2Ht 1 5 1 , clc3ele2Ht c4ele2Ht
- - ——cl“c2ele2Ht- — c2“ele2Ht- + -
1440 360 480 1440 1440
1 2 1 2 3 1 3 1 4
—— clc2el“e2Ht- — cl“el"e2Ht- — c2el"e2Ht- —clel"e2Ht-
144 288 288 240
1 5 2 2 2 2
—— el>e2Ht+ clc2e2“Ht+ cl“ele2“Ht+ c2ele2“Ht+
720 288 288 288
1 s s 1 s o 1 s 1 s cl*e3Ht
clel“e2Ht+ — el”e2“Ht- — cle2Ht- — ele2Ht - ——— +

160 360 720 720 1440
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1 ) 1 ) clc3e3Ht c4e3Ht 1
—— cl“c2e3Ht+ c2“e3Ht+ - + clc2ele3Ht+
360 480 1440 1440 144
1 2 2 2 3 1 4
—— cl“el“e3Ht+ c2el“e3Ht+ clel>’e3Ht+ — el”e3Ht-
288 288 240 720
1 ) 1 1 1 )
—— cl“e2e3Ht- —c2e2e3Ht- —clele2e3Ht- — el“e2e3Ht+
288 288 120 240
1 2 2 2 1 1 2
—— e2°e3Ht+ cle3“Ht+ ele3*Ht- — clc2e4Ht- —clele4dHt-
720 480 720 144 288
1 1 ) 1 3
—— c2eledHt- —clel“e4dHt- — ele4Ht+ cle2edHt+
288 240 720 240
1 1 )
—— ele2ed4dHt- — e3e4Ht+ cl“e5Ht+ c2e5Ht+ clele5Ht+
360 720 288 288 240
1 X 1 1 1 e7THt «c1%H2+t2
—— el“e5Ht- — e2e5Ht- — cle6Ht- — ele6bHt+ + -
720 720 240 720 720 2880
1 . , ., 11 cl? c2? H? t? 1 s o s cl®>c3H?t? 11clc2c3H?2t?
—— Ccl7c2H t° + + —— C2°H t° + + -
480 5760 576 1152 5760
c3?2H?t? c1? c4 H? t? 1 ,., clc5 H2t2 c6H?t?> cl3c2elH?t?
- - —— Cc2c4H t° - + - +
5760 1152 640 2880 2880 2880
1 X - cl?>c3elH?t? clcd4elH?t? cl%el?H?t? 1 5 o s
—— clc2“elH t°+ - - + cl“c2el“H t°+
960 2880 2880 2880 720
clc3el?H?t? c4el?H?t? 1 1
2% el’H?t?+ - + clc2el®H?t?+ — cl?el*H?t?+
960 2880 2880 288 576
1 el®H? t? cl%e2H? t? 1
— c2el*H*t?+ — clel®H2t?+ + - —cl?c2e2H*t?-
576 480 1440 1440 360
1 clc3e2H?t? c4e2H*t?> 1 1
— c2?e2 H? t% - + - —clc2ele2H?t?- — cl?el?e2H?t?-
480 1440 1440 96 144
1 2 2 .2 1 3 2 4.2 1 4 2 .2 1 2 2 42 42
—— c2el“e2H t*- —clel>e2H t*- — el"e2H t“+ — cl°e2“H  t° +
144 96 240 288
1 2 42 42 1 2 42 42 1 2 2 42 42 1 342 2 1 2 .2
—— Cc2e2H t°+ — clele2H t*+ — el e2°H t* - — e2°H"t°+ — clc2e3H t°+
288 96 160 720 96
1 2 2 .2 2 .2 1 2 2 .2 1 3 2 .2
—— cl“ele3H t°+ c2ele3H t“+ —clel“e3H t“+ — el e3H t° -
144 144 96 240
1 1 1 1 1
— cle2e3H’t?’- — ele2e3H?t?+ — e3?H?t?- — cl?ed4H?’t?- — c2ed4H*t?-
96 120 480 144 144
1 1 1 1 1
— cleledH?*t?- — el?e4H?>t?+ — e2ed4H>t?+ — cle5H*t?2+ — ele5H?>t2-
96 240 240 96 240
1 - 7 c1® c2 H3 t3 7 ) s s 7cl?c3H3t3 7clcaHdtd
— e6H t" - —i ¢ clc2H>t° + - -
240 2880 960 2880 2880
cl*el H3t® c1?2c2elH3t® c2?2elH3t® clc3elH3t® c4elHdt
+ + + - +
4320 1080 1440 4320 4320
1 1 1
— clc2el?H3t3: — c1?el®H3t3 s — c2el®H3t3 s clel*H3t3+
288 432 432 288
1 1 1 1
el HIt . clc2e2H3t - cl?ele2H3t - — c2ele2H3t3-
720 144 144 144

1 1 1 1
—clel?e2H3t3 - — e1®e2H¥t3+ — cl1e2?H3t3+ — ele2?H3t3+
72 144 144 144
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1 1 1 1 1
— c1?e3H3td s — c2e3H3t3+ —clele3HPt s — e1?7e3H3t - e2e3H3t3-
144 144 72 144 144
1 S | S | - 7cl*H*t* T7cl?c2H*t*
— cle4dH t°- —eled4dH t°+ — e5H t° - + +
72 144 144 5760 1440
7c2?H*t* Tclc3H*t* 7caH*t? 1 woa 1 o4 s
+ - + clc2elH t"+ — cl“el“H t" +
1920 5760 5760 576 576

1 1 1 1 1
2 el’H*tt ——clel®Httts — elfHYt* - cl?e2H*tt - — c2e2HA Y-
576 288 576 288 288

1 1 1 1 1
—clele2H*t - — el?e2H*t*+ — e2?H*t*+ — cle3H*t*+ — ele3H*t*-
96 144 288 96 144

1 woa T s cl?elH>t® c2elH®t® 1
e4H " t"+ — clc2H’t>+ + +
144 960 1440 1440 480

1 1 1 1 7 c1? H® t°
el®H t° - — cle2H t° - — ele2H td+ — e3H P+ — 4
720 240 240 240 2880
7c2H®t® clelH®t® el1?H®t® 1 .6 1 L., el H”t7 H®+8
+ + - — e2H’t°+ — clH ' t' + +
2880 1440 1440 720 480 5040 1920

clel?H>t5 +

ini73l:- Expand[%71 /. {dl - el + Binomial[35, 34] xtxH,

d2 » e2 + Binomial[34, 33] xelxt+H+Binomial[35, 33] *xt"2xH"2,

d3 - e3 +Binomial[33, 32] xe2xt*H+
Binomial[34, 32] xelxtA2xH"2 +Binomial[35, 32] *xtA3xHA3,

d4 > e4 + Binomial[32, 31] *e3 «*t+H + Binomial[33, 31] *e2*t r2xHA2 +
Binomial[34, 31] *xelxtA3xH"A3 +Binomial[35, 31] xtA4xH"4,

d5 - e5 + Binomial[31, 30] xe4xt*H+Binomial[32, 30] *xe3*tA2xHA2 +
Binomial[33, 30] xe2xtA3xH 3 +
Binomial[34, 30] *el*t*4xHA4 + Binomial[35, 30] *tA5%xHAS5,

d6 » e6 + Binomial[30, 29] xe5%xt*H + Binomial[31, 29] xe4xtA2xH"A2 +
Binomial[32, 29] *e3 xtA3xHA3 +Binomial[33, 29] xe2*xt A4 xH 4 +
Binomial[34, 29] xelxtA5xHA5 + Binomial[35, 29] xtA6xH"6,

d7 - e7 + Binomial[29, 28] xe6xt*H + Binomial[30, 28] *xe5xtA"2xH"2 +
Binomial[31, 28] *xe4xtA3xH 3 +
Binomial[32, 28] *e3xtA4xH"4 + Binomial[33, 28] xe2x*tA5xHA5 +
Binomial[34, 28] *xelx»tA6xH"6 + Binomial[35, 28] »tAT7TxH"7,

d8 » e8 + Binomial[28, 27] xe7xt*H + Binomial[29, 27] xe6*tA"2xH"2 +
Binomial[30, 27] *e5xtA3xHA3 + Binomial[31l, 27] xe4xt 4 xH 4 +
Binomial[32, 27] *xe3 xtA5xHA5 + Binomial[33, 27] xe2*tA6xH"6 +
Binomial[34, 27] *xelx»tA7+«H"A7 + Binomial[35, 27] »tA8 xH"8}]

out[73]=
c18 cl®c2 5cl*c2? c1?c2® 7c2* 7cl®c3 13cl®c2c3 5clc2?c3

- + - + + - + + +
34560 4320 10368 12960 34560 51840 51840 10368
cl?2c3? c2c3? 7T7cl*c4 19cl?c2c4 17c2?’c4 13clc3c4 c4? 7cl3c5

i N _ i , . _ _
34560 12960 51840 103680 51840 103680 20736 103680
clc2c5 3¢5 7cl?c6 13c2c6 clc7? c8 cl®>c2el cl3c2?el
+ + + + - + - +
6480 34560 103680 103680 34560 34560 60 480 12096
clc2®el «cl*c3el 11cl?c2c3el «clc3?el <cl%c4el <clc2cdel

— + — + — —

12096 60480 120960 120960 60480 13440
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cl’c5el clc6el cl%el? c1%c2el? 11cl?c2?2el? c23el? cl3c3el?
+ + - + + + +

60480 60480 60480 10080 120960 12096 24192
1lclc2c3el? <c32el? <cl?cd4el? c2cd4el? clc5el? c6el? cl3c2eld

- - +

120960 120960 24192 13440 60480 60480 8640

clc2?el® cl1?c3el® <clc4el® cl*el* c1?c2el* c22el* clc3el?
+ - - + + + -

2880 8640 8640 17280 4320 5760 17280

c4el* clc2el® cl?el® c2e1® clel” eld cl®e2 cl%c2e2
+ + + + + + -

17280 2880 8640 8640 10080 40320 30240 5040
11cl?c2?e2 c2%e2 cl®c3e2 1lclc2c3e2 c3?e2 <cl?’cd4e2 c2cde2

- - - + + + +

60480 6048 12096 60480 60480 12096 6720

clc5e2 c6e2 cl3c2ele2 1 5 cl>c3ele2 clc4dele2
- + - —— clc2ele2- + +
30240 30240 2880 960 2880 2880

cl*el?e2 <cl?c2el?e2 c2?el?e2 <clc3el?e2 c4el’e2 1 5
- - - + - ——clc2el”e2-
4320 1080 1440 4320 4320 576

cl?el*e2 c2el*e2 clel®e2 el®e2 cl%e2? <cl?2c2e2? c2%2e2? clc3e2?
- - - - + + + -

1440 1440 1440 5040 8640 2160 2880 8640

c4 e2? 1 1 1 1
+ clc2ele2?+ — cl?el?e2?+ — c2el?e2?2+ — clel®e2?+
8640 576 960 960 720

el*e2? cl?e2® c2e2® clele2® el1?2e2d e2* cl3c2e3 1
- - - - + +

2016 4320 4320 1440 2520 20160 2880 960
cl?’c3e3 clc4e3 cl*ele3 cl?c2ele3 c2?ele3 clc3ele3 c4ele3

- - + + + - +

2880 2880 4320 1080 1440 4320 4320

1 5 cl?el3e3 c2el®e3 clel*e3 el’e3 1
—— clc2el“e3+ + + + - ——clc2e2e3-
576 1440 1440 1440 5040 576

1 X 1 1 5 el3e2e3 cle2?e3
—— cl“ele2e3 - —c2ele2e3- —clel“e2e3- + +
720 720 480 1260 1440

ele2?e3 cl?e3? c2e3? clele3? el?e3? e2e3? cl%e4 cl?c2e4
+ + + + - + - -

1680 2880 2880 1440 3360 5040 4320 1080

c22e4 clc3ed chde4d 1 cl?el?e4 c2el’e4 cleldes
- + - ——clc2eled- - - -
1440 4320 4320 576 1440 1440 1440

el*e4 cl?e2e4 c2e2e4 1 el’?e2e4 e2?2e4 cle3e4d
+ + + clele2ed+ - - -
5040 1440 1440 720 1680 5040 1440

ele3esd e4? clc2e5 <cl?ele5 c2ele5 clel’e5 el®e5 cle2e5

+ + + + + + - -

2520 10080 576 1440 1440 1440 5040 1440
ele2e5 e3e5 cl’e6 c2e6 clele6 el’e6 e2e6 cle7 ele7

+ - - - + + + -

2520 5040 1440 1440 1440 5040 5040 1440 5040
e8 cl®>c2Ht 5c1®c2?Ht 5clc2®Ht cl*c3Ht 11cl®c2c3Ht

+ + +

5040 1728 1728 1728 1728 3456

clc3?Ht cl3®c4Ht 1 cl?c5Ht clc6Ht clPelHt
+ - ——clc2c4Ht- + + -
3456 1728 384 1728 1728 30240

cl*c2elHt 11cl?c2?elHt c2%elHt <cl®c3elHt 1lclc2c3elHt

+ + + +

5040 60480 6048 12096 60480
c3?2elHt cl?cd4elHt c2cdelHt clc5elHt c6elHt <cl3c2el?Ht

+

clc2?e3+

+

60480 12096 6720 30240 30240 2880

+




28 | r=7,n=8-new.nb

1 S, cl?>c3el?Ht «clc4el?Ht cl*el®Ht cl?c2el3Ht
—— clc2“el“Ht+ - - + +
960 2880 2880 4320 1080
c2?2el®Ht clc3el®Ht c4el®Ht 1 . cl?el®Ht «c2el®Ht
+ - + clc2el”Ht+ + +
1440 4320 4320 576 1440 1440
clel®Ht el’Ht «cl3c2e2Ht 1 5 cl>c3e2Ht clc4e2Ht
+ + - —— clc2“e2Ht- + +
1440 5040 1440 480 1440 1440
cl*ele2Ht 1 5 1 5 clc3ele2Ht «c4ele2Ht
-  — ——cl°c2ele2Ht- — c2°ele2Ht- + -
1440 360 480 1440 1440
1 2 1 2 3 1 3 1 4
——clc2el“e2Ht- — cl“ele2Ht- — c2el"e2Ht- — clel"e2Ht-
144 288 288 240
1 5 2 2 2 2
—— el>e2Ht+ clc2e2“Ht+ cl“ele2“Ht+ c2ele2“Ht+
720 288 288 288
, s 1 s 1 s cl*e3Ht
—— clel“e2“Ht+ el e2Ht- — cle2Ht- — ele2Ht - —M +
160 360 720 720 1440
1 ) 1 ) clc3e3Ht c4e3Ht 1
—— cl“c2e3Ht+ c2“e3Ht+ - + clc2ele3Ht+
360 480 1440 1440 144
1 2 2 2 3 1 4
—— cl“el“e3Ht+ c2el“e3Ht+ clel”e3Ht+ — el e3Ht-
288 288 240 720
1 X 1 1 1 X
—— cl“e2e3Ht- —c2e2e3Ht- —clele2e3Ht- — el“e2e3Ht+
288 288 120 240
1 2 2 2 1 1 2
—— e2°e3Ht+ cle3“Ht+ ele3*Ht- — clc2e4Ht- — cl“eledHt-
720 480 720 144 288
1 1 X 1
—  c2eledHt- — clel’?edHt- — el®ed4Ht+ cle2edHt+
288 240 720 240
1 1 X
—— ele2edHt- — e3ed4Ht+ cl“e5Ht+ c2e5Ht+ clele5S5Ht+
360 720 288 288 240
1 R 1 1 1 e7THt c1®H?t?
—— el“e5Ht- — e2e5Ht- — cle6Ht- — ele6Ht+ + -
720 720 240 720 720 1728
1 . , ., 11 cl?c2?H?t? 5c23H?2t? 5cl®c3H?t? 1l1clc2c3H?+t?
—— Ccl"c2H t° + + + + -
288 3456 1728 3456 3456
c3?H?t? 5cl?c4H?t? 1 , ., clc5 H2t?2 c6H?>t? cl®c2elH?t?
- - —— Cc2c4H t°- + - +
3456 3456 384 1728 1728 2880
1 X - cl?>c3elH’t? clcd4elH?t? cl%el?H?t? 1 5 S oy
—— clc2elH t°+ - - + cl“c2el“H t°+
960 2880 2880 2880 720
1 clc3el?H?t? c4el?H?t? 1 1
2% el’H?t?+ - + clc2el®H2t?+ — cl?el*H?t%+
960 2880 2880 288 576
1 1 el®H2t2 cl*e2H?t? 1
— c2el*H?t?+ clel®H2t%+ + _— cl?’c2e2H?t?-
576 480 1440 1440 360
1 clc3e2H?t? c4e2H*t? 1 1
— c2%e2H?t?- + _ —clc2ele2H*t?- — cl?el?e2H*t?-
480 1440 1440 96 144
1 2 2 42 1 3 2 .2 1 4 2 42 1 2 2 g2 +2
—— c2el“e2H t“- —clele2H t*- — el"e2H t°+ — cl“e2°H  t° +
144 96 240 288
1 2 g2 2 1 2 42 2 1 2 2 g2 2 1 3 g2 +2 1 2 42
—— c2e2°H°t°+ — clele2“H t°+ — el“e2“H t°- — e2°H " t°+ — clc2e3H t° +
288 96 160 720 96
1

1 1 1
— cl?’ele3H’t?’+ — c2ele3H?’t?+ —clel?e3H?’t?+ — el®e3H?t?-
144 144 96 240
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1 1 1 1
cle2e3H?t?- — ele2e3H?t?+ — e3?H>t?- — cl?ed4H’t?- — c2edH?>t?2-
120 480 144 144
2 4.2 1 2 2 42 1 2 .2 1 2 42 1 2 42
clele4dH t*- —el“e4dH t°+ — e2e4H t°+ — cle5H " t“+ — el e5H  t° -
240 240 96 240

7c1®c2H3t3 7 ) s a 7cl1?c3H3t® TclcaHdtd
-+ clc2H  t° + - -
240 1728 576 1728 1728
cl*elH3t3® cl2c2elH3t® c2%2elH3t® clc3elH®t® cd4elHdtd
+ + + - +

4320 1080 1440 4320 4320

al=ale

1 1 1
— clc2el?H3 3+ — c1?el®H3t3 s — c2el®H3t3+ — clel*H3t3 s
288 432 432 288

1 1 1
el Ht . clc2e2Hit - —cl?ele2Hit - — c2ele2H3t3-
720 144 144 144

1 1 1 1
—clel?e2H3t3 - — el®e2Hit®+ — cle2?Hit3+ — ele2?H3t3+
72 144 144 144

1 1 1 1

— cl1?e3H3td+ — c2e3H3t s —clele3HPt s — e1?2e3H3t - e2e3HIt3-

144 144 72 144 144

1 1 1 7 cl*H ¢ 7

— cledaHdt®- — eledaHdtd+ — e5HIERI- — 4

72 144 144 3456 864

7c2?H*t* T7clc3H*t* Tcan*t? 1 4 s 1 o4 a

+ - + clc2elH t"+ — cl“el“H t" +

1152 3456 3456 576 576

cl>c2 H* %+

1 1 1 1 1
——c2el’H*t*+ — clel’H't'+ — el’H't'- — c1?e2H't*- — c2e2H't*-
576 288 576 288 288

l 4 .4 l 2 4 .4 l 2 44 L4 l 4 .4 4 ., 4
— clele2H" t"- — el“e2H " t"+ — e2“H " t"+ — cle3 H " t" + ele3H" t7 -
96 144 288 96 144

1 woa T cl?elH>t> c2elH>t® 1
 e4H't*+ — clce2H t s + +
144 576 1440 1440 480

1 1 1 1 7 c1? H® ¢°
—  el’Ht° - — cle2H’t - — ele2H t°+ — e3H t°+ — ¢
720 240 240 240 1728
7c2H®t® clelH®t® el1?H®t® 1 6.6 1 elH t7 H®t8
+ + - e2H®tt s —— Cc1lH t'+ +
1728 1440 1440 720 288 5040 1152

clel?H>t° +

in74l:= pl =
Expand[%72 /. {el - k1, e2 - k2, e3 » k3, e4 » k4, e5 > k5, e6 -» k6, e7 - k7, €8 » k8}]

Out[74]=
c18 cl®c2 c1%c2? c1?c2® T7c2* T7cl1°c3 13cl®c2c3 clc2%c3

- + - + + - + + +
57600 7200 3456 21600 57600 86400 86400 3456
cl?2c3? c2c3? 7cl*c4 19cl?c2c4 17c2?c4 13clc3c4 c4?

_ . _ _ _ N _
57600 21600 86400 172800 86400 172800 34560
7c1®c5 clc2c5 c3c5 7cl’c6 13c2c6 clcT c8 cl®c2f1

- + + + + + -

172800 10800 57600 172800 172800 57600 57600 10080
c1l3c2?2f1 c1c23f1 cl1l*c3fl 11cl?c2c3fl clc3?fl cl3c4fl

+ - + - +

2016 2016 10080 20160 20160 10080
clc2c4fl cl?c5f1 clc6fl c1®f1? c1%c2f1? 11cl?c2?f1? c23f1?

+ + - + + +

2240 10080 10080 10080 1680 20160 2016
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cl3c3f1? 11clc2c3fl? c3%2f1?2 «cl?c4fl? c2c4f1l? clcs5f1l?  c6 f1?

+

- - - - +

4032 20160 20160 4032 2240 10080 10080

cl3c2 f13 1 Y 3 cl?c3f1® «clc4f1® c1*f1* 1 5 .
- 4 clc2c f1° + - - + clcc2 f1* +
1440 480 1440 1440 2880 720
c2? f1* clc3 f1* c4 f1t 1 cl? f15 ¢c2 f1® c1f1” f18
+ - + clc2f1°+ + + + -
960 2880 2880 480 1440 1440 1680 6720
cl®f2 c1%c2f2 11cl?c2?f2 5c23f2 5c¢c13c3f2 1lclc2c3f2 c32f2
+ - - - - + +
6048 1008 12096 6048 12096 12 096 12096
5cl>c4f2 c2c4f2 clc5f2 «c6f2 1 s 1 X
+ + - + cl>c2fl1f2- — clc2°f1f2-
12096 1344 6048 6048 576 192
1 2 1 4 2 1 2 2 1 2 2
—  cl?c3f1f2+ —clcafif2+ cl*f12f2- — cl?c2f1*f2- — c2%f1%? f2 -
576 576 864 216 288
1 2 1 2 5 3 1 2 4 1 4
——clc3f1°f2+ — c4f1“f2- —clc2f1°>f2- — c1°f1" f2- — c2 f1* f2 -
864 864 576 288 288
1 . 1% f2  c1*f2? 1 5 5 c2?2 f22 clc3f22 «c4f2?
—— clf1>f2- - + —— clcc2f2°+ + - +
288 1008 1728 432 576 1728 1728
5 1 5 f1% £22
— clc2flf2?2+ — cl?f12f2%+ c2f12f22+ — c1f13f22+ —
576 192 192 144 2016
cl? f23 2 f28 1 5 f12 £23 24 1 s X
- - ——clfif2> - ——— + - ——cl°c2f3+ clc2” f3+
864 864 288 504 4032 960 320
1 5 clc4 f3 c1*f1f3 1 X 1 X clc3 f1lf3
—— cl“c3f3- - + clc2fl1f3+ c2°fif3 4 ———
960 960 2160 540 720 2160
c4 f1 f3 1 5 cl f1* f3 f1° f3 1 5
_ clc2 f1° f3 - - - ——clc2f2f3- — cl°f1f2f3-
2160 576 1440 2520 192 288
1 1 2 1 3 2 2
— c2f1f2f3- — c1f12f2f3- — f1®f2f3+ cl f22 f3 + f1f22 3+
288 240 840 480 630
cl? f32 2 f3? , 11 f12 32 232 c1*f4 cl?c2f4 c2%2f4
+ + —— clflf3°+ - - + + +
576 576 240 5040 1008 4320 1080 1440
clc3f4 c4fa 5 S 5 1 s
- + ——clc2fl1f4+ cl® f1° f4 + c2fl“f4+ — clf1°f4 +
4320 4320 576 144 144 90
23 f1* 4 1 5 c2f2f4 1 41 f12 f2f4 f22f4 cl1f3f4
- c1?’f2f4- —  _ __c1flf2f4- + - -
5040 288 288 80 5040 560 480
fl1f3f4 19f42 clc2f5 1 X c2fi1fs 1 5 29 f13 f5
+ - -— cl1*fifs - —  — —_c1f1’f5- — 4
504 10080 64 72 72 40 2520
3clf2f5 11fi1f2f5 f3f5 5cl>f6 5c2f6 17clflfe 31fl?f6
+ - + + + + -
160 630 315 288 288 480 1680
79 f2f6 19clf7 19f1f7 cl°c2Ht 1 s s
- - + - —— Cclc2°Ht+ clc2°Ht-
5040 480 840 2880 576 576
cl*c3Ht 11cl?c2c3Ht clc3?Ht cl®c4Ht 1 cl?>c5Ht
+ - + - ——clc2c4Ht - — +
2880 5760 5760 2880 640 2880
clc6Ht cl1®°flHt 1 . 11c1?2c2?filHt c23flHt c1®c3flHt
+ - —— clc2flHt+ + + +
2880 5040 840 10080 1008 2016

11clc2c3flHt c32flHt cl?c4flHt c2c4flHt «clc5flHt

c6 flHt
. _

10080

10080 2016 1120 5040 5040
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1 3 2 2 2 2 2 1 2
—— cl>c2f1“Ht+ clc2fl“Ht+ cl°c3fl“Ht- — clc4 f1“Ht -
480 160 480 480
1 1
— cl*f13Ht+ cl?>c2 f13Ht+ — c2?2f13Ht + clec3f1®Ht-
720 180 240 720
1 3 1 4 2 5 5 6
—— c4f1°Ht+ — clc2f1l"Ht+ cl“ f1°Ht+ c2flI>Ht+ clfl°Ht+
720 96 240 240 240
1 7 3 1 2 1 2
— f1'Ht+ cl>c2f2Ht- — clc2°f2Ht- — cl1°c3f2Ht+ clc4 f2Ht +
840 288 96 288 288
1 . 1 1 1
—  cl*f1if2Ht- — cl?c2f1f2Ht- — c22f1f2Ht- — clc3flf2Ht+
288 72 96 288
1 5 2 5 2 3 5 3
—  c4flf2Ht- — clc2f12f2Ht- — c1?f1®*f2Ht- — c2 f13 f2Ht -
288 144 288 288
1 4 1 5 2 5 2 2
— clf1*f2Ht- — f1°f2Ht+ clc2f2“Ht+ — c1°f1f2°Ht+
48 144 288 288
S 2 1 2 2 1 3 2 1 3 1 3
— c2f1f2?Ht+ — c1f12f2°2Ht+ — f13f2°Ht- — c1f22Ht- — f1f2°Ht-
288 32 72 144 144
1 1
—— c1* f3Ht+ cl?c2 f3Ht+ c2? f3Ht+ clc3f3Ht- — c4f3Ht+
480 120 160 480 480
1 2 2 2 1 4
— clc2fl1f3Ht+ cl  f1° f3Ht+ c2 f1°f3Ht- — f1"f3Ht -
72 288 288 720
R 1 1 1 X 1 X
— cl1°f2f3Ht- — c2f2f3Ht- —clflf2f3Ht- — f12°f2f3Ht+ — f22f3Ht+
96 96 48 120 240
1
— c1f3?Ht+ f1f32Ht+ clc2f4Ht+ cl?f1faHt+ c2flfaHt+
96 120 144 288 288
1 X 1 s 1 1 1
—clfi1“faHt+ — f1°f4Ht- — cl1f2f4Ht- — f1f2f4Ht- — f3f4Ht-
24 45 48 40 240
1, 1 1 1 R 3
— cl*>f5Ht- — c2f5Ht- — clflf5Ht- — f12f5Ht+ — f2f5Ht+
32 32 12 20 80
5 17 19f7Ht cl®H?t2 1 . ) o 11 c1? c2? H? t2
— clfeHt+ fi1f6HTt- + - —— cl"c2H t°+ +
48 240 240 2880 480 5760
1 s o s c1l®c3H?t? 11clc2c3H?t? c32H?>t? cl?c4H?t? 1 ) s
—— C2°H t° + + - - - —— C2Cc4H t° -
576 1152 5760 5760 1152 640
clc5H*t? c6H*t* 1 1 1
+ - c1®c2f1H*t? s — clc2? f1H*t2+ — cl?c3f1H? £ -
2880 2880 480 160 480
1 2 .2 1 4 2 g2 +2 1 2 2 42 42 1 2 2 g2 2
——clc4filH t*- — c1"f1°H t“+ — c1“c2 f1°H t“+ — c2° f1 H" t° +
480 480 120 160
1 2 42 42 1 2 142 42 1 342 42 1 2 4 142 42
—— clc3f1°H t*°- — c4 f1°H t“°+ — clc2 f1I°H  t“+ — c1° f1"H" t° +
480 480 48 96
1 4 42 L2 1 5142 2 1 6 42 2 1 4 2 42 1 2 2 42
— 2 f1*HP %+ — cl1f1%H2 %2+ — f18H2t%2+ — cl*f2H2t2- — cl?c2f2H?t?-
96 80 240 288 72
1 2 2 42 1 2 42 1 2 .2 5 2 42
— c2°f2H t*- — clc3f2H t“°+ — c4 f2H t°- — clc2 f1f2H" t° -
96 288 288 96
5 2 2 2 4,2 > 2 2 42 5 3 2 42 1 4 2 .2
— cl1®f1?f2H%t? - — c2f1?f2H2t® - —c1f1®f2H2t® - — f1*f2H?t%+
144 144 96 48
5

5 5 1 1
—— 1?22 H 2 —— 22?2 HP 2 — clflf22HPt?+ — F12F22H2 2 - — F2PH2 %+
288 288 96 32 144
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1

1
clc2 f3HP %+ — cl?f1f3H?t2+ — c2fLf3H2t%+ — clf1?2f3H2t?-
32 72 72 96
1 2 4.2 1 2 42 1 2 g2 2 1 2 2 4,2 2 42
—Cclf2f3H2t?- — f1f2f3H?t2+ — Ff32H?t2+ — cl?f4H>t2+ — c2fa4H?>t2+
32 48 96 144 144
5 2 42 1 2 2 42 1 2 .2 2 42 1 2 42
— ClflfaH?t?+ — f12f4H>t?>- — f2f4H?>t2- — clf5H2t?>- — f1f5H?>t?+
96 24 48 32 12
5 y o cl3c2H3t3 7 53 s 7cl?>c3H3t® T7clcaHtd
— f6H t° - + clc2 H>t°+ - -
48 2880 960 2880 2880
1
el FfIHE s 1?2 f1IHI s —— 22 f1iH3tR s clc3 fiHdtd-
720 180 240 720
1 1
A fIH Ry —cle2 FIPHIER s — 1?2 fPHIES s — 2 fIPHIER s — cl 1R S
720 48 72 72 48
1 5153 +3 5 3.3 5 2 343 3 43
— f1°H’t°- — clc2f2H t°- — c1“fi1f2H’ t°- — c2 f1 f2H> t° -
120 144 144 144
5 2 3 43 5 3 3 43 5 2 3 +3 5 2 g3 +3
—clfr?ford - — f13f2Rtd s — c1f2?HEER . — FlF22H3t3
72 144 144 144
1 1
cl?f3H3 3+ — c2f3H3 3y —clfIf3m3t3+ — F12f3n3t3- — f2f3H3¢3+

48

48 36 144 48
1 s s .5 1 s s 7cl*H*t* 7 cl?c2H*t?
— clf4H>t>+ fl1f4H t°- — f5H>t° - + +
72 144 16 5760 1440
7c2?H*t* 7clc3H*t* 7caH*t* 1 A o4 a
+ - + —Cclc2flH " t7+ — cl° f1“H™ t~ +
1920 5760 5760 96 96
1 2 y4 L4 1 3 yé +4 1 4 44 . 4 5 2 4 .4 4 .4
— c2f1°H"t"+ — c1 f1I°H" " t"+ — f1"H" " t" - — cl1“ f2H" t" - — c2 f2H" t" -
96 48 96 288 288
5 4 4 5 2 4 4 2 44 L4 4 4 1 4 4
—clflfoH*t* - — f12f2H*t*+ — F22H*t*+y — cl1f3H*t*+ — F1F3H*t* -
96 144 288 32 72
1
e ANty —— cle2HP P+ — c1?f1IHPt s — 2 FLHY P+ — clf1?2Ht+
144 960 240 240 80
1 1 1 7cl?H%t® 7 c2HOt®
— fIPH - —clf2H 2 - — f1f2H t°+ — f3H t° + + +
120 48 48 80 2880 2880
1 1 HE 8
ol f1IH®tt s — F1?HOEE - — 2 Mty — CcIH YT+ — FfIH s ——
240 240 144 480 840 1920
In[75]:= p2 =

Expand[%73 /. {el>ml, e2 > m2, e3 > m3, e4 > m4, e5

out[75]=

-»>m5, e6 > m6, e7 »>m7, €8 »>m8}]

c18 c1®c2 5c1%c2? c1?2c2® T7c2* 7c1®c3 13c13c2c3 5clc2?c3
. 34560 " 4320 ; 10368 " 12960 i 34560 - 51840 i 51840 i 10368 i
c12c3?2 c2c3?2 7cl*c4 19cl?c2c4 17c2?2c4 13clc3c4 c4?
34560 ) 12960 " 51840 ) 103680 . 51840 . 103680 : 20736 .
7c1®c5 clc2c5 c3c5 7cl?c6 13c2c6 clc? c8 cl®c2 f1
103680 . 6480 : 34560 : 103680 : 103680 : 34560 . 34560 " 4032 )
5c1®c22fl 5clc2®fl cl1*c3fl 11cl?c2c3fl clc32fl clcafl
4032 i 4032 - 4032 i 8064 . 8064 " 4032 .

1 cl?c5f1 clc6fl cl1®f1? 1 11 c1? c2?% f12
— clc2c4fl- + + - —cl*c2f12+ —
896 4032 4032 4032 672 8064
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5c23f12 5c13c3f1? 1lclc2c3fl? c32f1? 5cl?c4 f1? 1 X
+ + - - - ——c2c4f1° -
4032 8064 8064 8064 8064 896

clc5f1? c6 f1? 1 5 5 Y 3 1 R s 1 s
+ - ——cl’c2f1° + clc2fl>+ — c1“c3f1°- — clc4 f1° -
4032 4032 576 192 576 576

cl* f14 1 5 4 c2? f1* clc3 f1* c4 f14 1 cl? f1°
R cl c2 f1* + + - + cle2f1°>+ — &
1152 288 384 1152 1152 192 576

c2 f1® c1f1” f18 cl® f2 1 . 11cl1?c2?2f2 5c23f2
+ + - + cl®c2 f2 - - -
576 672 2688 3024 504 6048 3024

5c13c3f2 11lclc2c3f2 c32f2 5cl?c4f2 c2c4f2 clc5f2 c6f2
- + + + + - +

6048 6048 6048 6048 672 3024 3024

1 1 1
— cl¥®c2f1f2- —clec2?2f1f2- — cl?c3flf2+ clca flf2+
288 96 288 288 432

1 2 2 1 2 2 1 2 2 5 3
——cl“c2f1“f2- — c2f1“f2- — clc3 f1“-f2+ c4 f1°f2 - — clc2f1°f2-
108 144 432 432 288

1 Y 4 1 . 1 s f1® f2  c1* f2? 1
— cl®f1*f2- — c2f1*f2- — c1f1’>f2- - +
144 144 144 504 864 216

c2? 22 1 c4 22 1 1

- 4 clc3 f2? - + clc2flf2?2+ — c12f1?2f2%2+ — c2f1? 22+
288 864 864 288 96 96

1 5f1% 22  c1?2f23 2 f28 1 f12 23 f24

— c1f13 2%+ - - - ——clfif2?- — 4 -

72 1008 432 432 144 252 2016

cl3c2 f3 1 5 cl?c3f3 clc4f3 cl*f1f3 1 5
s clc2” f3+ - + - —— cl“c2f1f3-
1440 480 1440 1440 2160 540

1 ) clc3flf3 c4 f1f3 1 ) 1 2 3 1 3
—— c2° f1f3 - + - —clc2f1°f3- — c1°f1°f3- — c2 f1° f3 -
720 2160 2160 96 144 144

7 . f1° 3 1 5
—— cl f1" f3 - - ——clc2f2f3+ clfi1“f2f3+
720 280 288 240 315

1 X f1f22f3 1?32 2 f3? 7 , 29 f12 f32  f2 32
—— clf2°f3+ + + + clflf3°+ - -
720 2520 288 288 720 5040 504

cl?* f4 1 X c22f4 clc3f4 c4f4 1 1 Y s
+ cl“c2 f4 + + - + —clc2flf4+ — cl1°f1°-f4 +
540 135 180 540 540 32 48

1 5 5 fl*f4 1 5 c2f2f4 31
— c2 f1* f4 + cl f1® f4 + - —cl*f2f4- — — _c1fif2f4-
48 360 84 72 72 720

131 f12f2f4 2f22f4 c1f3f4 13f1f3f4 13f4%> 5clc2f5 1 5
+ - - + - - — cl*f1f5-
5040 315 720 5040 2520 288 144

c2 f1 f5 1 5 f13f5 7clf2fs5 71f1f2f5 53f3f5 «cl>f6 c2f6
- - ——clf1°f5+ + + - - - -
144 360 504 360 5040 5040 36 36

73clfife fi12fe 89f2f6 151clf7 151 f1f7 «cl®>c2Ht 5cl3c2?Ht
- + + + + - +

720 14 2520 720 840 1728 1728

5c1c23Ht cl*c3Ht 11cl?c2c3Ht clc3?Ht cl3c4Ht 1
- + - + - ——clc2c4Ht-
1728 1728 3456 3456 1728 384

cl?c5Ht clc6Ht <cl®flHt 1 . 11cl?c2?flHt 5c23flHt
+ + - ——cl"c2flHt+ + +
1728 1728 2016 336 4032 2016

5c13c3flHt 1lclc2c3flHt c3?flHt 5cl’c4aflHt 1
+ - - - —— c2c4flHt-
4032 4032 4032 4032 448

cl? f12 f2 -

cl?c2 f22 +

1% f2 f3 +
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clc5flHt c6flHTt 1 3 ) 1 y cin 5 5
+ - —— cl°c2f1*"Ht+ — clc2“f1“Ht+ cl“c3fl“Ht-
2016 2016 192 64 192
1 2 1 4 £43 1 2 3 1 2 £43 3
——clc4fl1“Ht- — c1"f1°Ht+ — cl“c2f1°Ht+ — c2“ f1°H t + clc3f1°Ht-
192 288 72 96 288
1 3 4 1 2 5 1 5 1 6
—— c4f1I°Ht + clc2fl"Ht+ — cl“fl1°Ht+ — c2f1°Ht+ — clf1°Ht +
288 192 96 96 96
1 7 3 1 2 1 2
— f1'"Ht+ cl>c2f2Ht- — clc2“f2Ht- — cl“c3f2Ht+ clcda f2Ht +
336 144 48 144 144
1 4 1 5 1 ) 1
—— cl"fi1f2Ht- — cl“c2fl1f2Ht- — c2°fl1f2Ht- — clc3f1f2Ht+
144 36 48 144
1 5 2 5 2 3 5 3
—— c4fi1f2Ht- — clc2fl“f2Ht- — c1“f1°f2Ht- — c2 f1° f2H t -
144 72 144 144
1 4 1 5 2 2 2 2
—clf1"f2Ht- — f1°f2Ht + clc2f2“Ht+ cl“  f1f2°Ht+ c2fi1f2Ht+
24 72 144 144 144
1 1 1 1 1
— c1f12f2?2Ht+ — f13f22Ht- — cl1f2°Ht- — f1f23Ht- — cl*f3Ht+
16 36 72 72 720
1 ) ) 1 1
—— cl“c2f3Ht+ c2-f3Ht+ clc3f3Ht- — c4f3Ht- —clc2flf3Ht-
180 240 720 720 72
1 2 £412 1 2 1 3 7 4 1 2
— cl*f1“f3Ht- — c2f1°f3Ht- — cl1 f1°f3Ht- — f1"f3Ht- — c1“ f2 f3Ht -
48 48 24 360 144
1 2 2 1 2 7 2
—— c2f2f3Ht+ f1c f2 f3Ht + f2f3Ht+ — c1 f3*Ht+ — f1f3“Ht+
144 120 360 48 360
1 1 ) 1 1 ) 11 3
— clc2f4Ht+ —cl“fl1fa4Ht+ — c2fl1f4Ht+ —clfl°f4Ht+ — f1°f4Ht-
18 16 16 8 180
1 31 1 5 ) 5
—clf2f4Ht- — f1f2f4Ht- — f3f4Ht- — c1“f5Ht- — c2 f5Ht-
12 360 360 144 144
1 1 ) 1 73
— clfi1f5Ht- — f1“f5Ht+ f2f5Ht- —clfeHt- — f1f6Ht+
24 180 180 6 360
151 f7Ht cl1®H?t2 1 . , ., 1lcl?c2?H*t? 5c2°H?t? 5cl®c3H t?
+ - —— Ccl"c2H t° + + + +
360 1728 288 3456 1728 3456
11clc2c3H?>t? c32H?t? 5cl?2c4H?t? 1 ,., Clc5H*t? c6H*t?
- - - —— C2c4H t° - + -
3456 3456 3456 384 1728 1728
1 3 2 .2 1 2 2 4.2 1 2 2 .2 1 2 .2
—— cl>c2f1lH t°+ — clc2°flH t°+ — cl“c3f1H t“ - — clc4 f1H t° -
192 64 192 192
1 4 2 42 42 1 2 2 42 42 1 2 2 42 42 1 2 42 42
— cl”f1°H t°+ — cl“c2 f1“H t°+ — c2“ f1“H  t“+ — c1c3 f1°H" t° -
192 48 64 192
1 2 42 42 5 3 42 42 5 2 4 142 2 5 4 142 £ 2 1 5142 42
— c4fl°H t“+ — clc2f1°H t°+ — c1°f1"H t°+ — c2 f1"H  t°+ — c1 f1°H  t° +
192 96 192 192 32
1 6 142 2 1 4 2 42 1 2 2 42 1 2 2 .2 1 2 .2
— f1°H°t“+ — c1"f2H t°- — cl°c2f2H t°- — c2°f2H t°- — clc3 f2H t° +
96 144 36 48 144
1 2 .2 5 2 42 5 2 2 2 42 5 2 2 42
—— c4f2H t“- — clc2flf2H t°- — c1“fl1°f2H t°- — c2 f1° f2 H" t° -
144 48 72 72
5 3 2 42 1 4 2 .2 5 2 2 42 4.2 5 2 42 42
— clf1°fa2H t*- — f1"f2H t°+ — cl“ f2°H t°+ — c2 f2°H t° +
48 24 144 144
5

1 1 1
— clflf2?H %+ — F12F22H2 2 - — f2PH2 %2+ — clc2 f3H*t> - — c1? f1 f3H? 2 -
48 16 72 48 72



r=7,n=8-new.nb | 35

1 1 1 1 1
— c2f1f3H*t?- — c1f12f3H t?- — fI3f3H>t°- — c1f2f3H*t>+ — f32H*t%+
72 16 24 48 48

1

1 3 1 1
— cl?faH*t?+ — c2FfaH? 2+ — c1flfaH?t?+ — F12faH? 2 - — f2 f4H?t% -
18 18 16 8 12
5 1 1 7cl3c2H3 3 7
— cl1f5H*t?- — f1f5H*t? - — f6H* t?- —— +
48 24 6 1728 576

7cl?>c3H3t® 7clcaHdtd

clc2?H3t3+

1 1 1
el IR e’ 2 IR — 22 f1HEE3 .

1728 1728 288 72 96
1 3 43 1 3.3 5 2 43 +3 5 2 3 3 +3
—— clc3flH t°- — c4flH t°+ — clc2 f1°H t°+ — c1° f1°H> t° +
288 288 96 144

5 3 3 +3 5 4 143 4.3 1 5 43 +3 5 3,3 5 2 3.3
— c2fI°Ht°+ — clf1"H t°+ — f1I°H t°- — clc2f2H t° - — cl“f1f2H  t° -
144 96 48 72 72
5 3.3 5 2 3.3 5 3 3.3 5 2 43 +3 5 2 43 +3
— c2frfoH3t3- —c1f12for3t3- — f13f2H3 3+ — c1f22H3t3+ — f1f22H3¢3+
72 36 72 72 72
1 2 3 43 1 3 4.3 1 3.3 1 2 3 43 1 3 43
el 3y — 23RS 1 f1if3HEER . — FI?f3HRER . — f2f3H3ER s
72 72 36 24 72
1 1 5 7 cl? H* 4 7
—clfari 3y —frfaRd3 3 — f5H3ES - — 4 cl? c2 H* t* +
9 8 72 3456 864
7c2?2H*t* Tclc3H*t* 7caH*t? 5 4.4 5 S o4 s

+ - + clc2 f1H " t%+ — c1° f1°H" t" +

1152 3456 3456 192 192

5 5 5 5 5
2 fIPHY Yy — el FI3HA Y — FIMHA Y - —— c1?f2Hf - —— c2 f2HY Y-
192 96 192 144 144
5 4 .4 5 2 4 4 5 2 yé + 4 1 4 4 1 4 4
CclflfoH*t - — f12f2H%t r — F22H*t* 4+ — c1f3H*t - — flf3H*t*+
48 72 144 48 72
1 7 1 1 1
ARttt cle2HY R — el FIHY R — 2 f1IHPES s — c1F1ZHOES 4
18 576 96 96 32
1 1 1 1 7cl?Hot® 7 c2HOt®
 fIHY S . el f2 MR - — f1f2HY Sy — f3HPEY s + +
48 24 24 120 1728 1728
1 1 1 1 1 8 8
 clflH®t®+ — f12H®t®- — f2H®tP+ — CcIH t'+ — FIH t'+ —
96 96 72 288 336 1152

ini7el:= FunctionExpand[1l - Binomial[5-d, 5]]

out[76]=
l,i (1-d) (2-d) (3-d) (4-d) (5-d)
120
in[771:= Expand[(1/4) * 11 %12 % f1l +
(1/4) % (1182 +12) % (F1A2-2%F2) + (1/2) 11 (F1A3 -3 % fl«f2+3%F3) +
(1/4) * (fLA4 -4 f1r2%xf2+4%xflxf3+2%xf272) -42xd+42%%76]

out[77]=

539d 315d® 119d® 21d* 7d°> f1° , f22
- + - + +— -fl°f2+ — +f1f3+
10 4 4 4 20 4 2

f1311 3fif211 3f311 fi1211?2 f211%? f1212 f212 fili1l2

+ + + +

2 2 2 4 2 4 2 4
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ini7el:- Expand[%77 /. {11 > (6-d) *xH, 12> (d*"2-6%d+15) *xHA2, f1 - (7/2) »x (d-1) =H,
£2 5 (7/24) % (d-1) % (19%d-17) xHA2, f3 > (35/48) % (d-1)A2% (T+d-5) xHA3}]

Out[78]=
539d 315d* 119d® 21d* 7d°

+ —

+

10 4 4 4 20
60389 H* 1715dH* 9583 d*H* 119d3H* 2947 d*H*
+ - +
1152 24 576 24 1152

in(7ol= Expand[%78 /. {H"4 - d}]

out[79]=
8519d 175d?> 7553d® 245d* 16751d°
- + - +

5760 24 576 24 5760

infgo}:= Expand[ (1/d) = %79]

out[80]=
8519 175d 7553d? 245d® 16751d*
+ - +

5760 24 576 24 5760

ing1:= Factor [%80]

out[81]=

7 (-1+d) (-1217 + 4783 d - 6607 d* + 2393 d°)

5760
inis2l:= FunctionExpand[1l - Binomial[6 -d, 6]]

out[82]=

1
1-—— (-6+d) (-5+d) (-4+d) (-3+d) (-2+d) (-1+d)
720



r=7,n=8-new.nb | 37

nieal- Expand[24 %7 % (HA5 - %82) - (1/5) % (F1A5) + (F1A3) % (f2) - (f1A2) % (f3) -
(F1) % (F212) + (F1) % (f4) + (f2) % (f3) + (1/2) % (f172-2%F2) »12% (d-T7) *xH +
(1/30) *»flx ((d-7)A4*H "4 -4 % (d-T7T)"2xHA2%x12+ (d-7) *Hx13-3%x1222+14) +
(1/2) » (f1rM4 -4 %xf1lr2%xf2+4%xflxf3+2%xf222-4%xf4) » (d-T7) xH-
(1/3) % ((d-7)22%*H"r"2+12) » (f1A3-3xflxf2+3xf3)]

out[83]=

2058d 5684d* 343d® 245d* 49d° 7d® f1° s 5
- + - + - + - — +f1° f2 - f1 f2° -
5 15 2 6 10 30 5
f1*H 1
f12 f3+ f2 f3+ f1 f4 - +—df1l*H+14 f12 f2H-2d f12 f2H -7 f22H +
2 2
X 49 f13H? 14 -
df2°H-14f1f3H+2df1f3H+14f4H-2df4H- — + — df1®H>-

3 3

1
— d? f13H? + 49 f1 f2H? - 14d f1 f2H? + d?> f1 f2 H? - 49 f3H2 + 14d f3H? - d? f3 H? +
3

2401 f1H* 686 49 14 1 f13 12
— — dfiH*+ — d®f1lH*- — 3 f1H*+ — d* f1H*+ 168 H° - +
30 15 5 15 30 3

7 1 98
fi1f212-f312- — f1?2H12+ —df1?H12+7f2H12-df2H12- — f1H?>12+
2 2 15
28 2 f1122 7f1H13 1 f114
— dfiH?12- — d’f1H?>12- - + — dflH13 +
15 15 10 30 30 30

inig4l= Expand[%83 /. {12 » (d*2-7%xd+21) *H*2, 13> (35-21%d+7%d”"2-d"3) xH"3,
14> (d"4-7%d"3+21%d"2-35+d+35)*xH"4,
flo (7/2) % (d-1) *H, f2 > (7/24) % (d-1) % (19%d - 17) *xHA2,
f3-5(35/48) * (d-1)"2% (7*xd-5) *xH"3, f4 > %81xH"4}]

Out[84]=
2058 d 5684d> 343d® 245d* 49d> 7d® 105287H°

- + - + - + + -
5 15 2 6 10 30 256
96439 dH> 63623d2H> 12887d3H> 413d*H> 595d°H°
+ - + +
256 384 384 768 768

inigsl= Expand[%84 /. {HA5 - d}]

Out[85]=
413d 8519d? 2233d® 931d* 16751d° 3871d°
+ - + - +

1280 3840 384 128 3840 3840

infgel:= Expand[ (1/d) = %85]

out[86]=
413 8519d 2233d?> 931d® 16751d* 3871d°
+ - + - +

1280 3840 384 128 3840 3840
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ing71:= Factor [%86]

out[87]=

7 (-1+d)* (-3+7d) (59-150d+79d?)

3840

inissl:= FunctionExpand[1l - Binomial[7 -d, 7]]

Out[88]=

(-7+d) (-6+d) (-5+d) (-4+d) (-3+d) (-2+d) (-1+d)
5040

1+

infgol:= Expand[120 * 7 x (%88 - HA6) - (f1/12) » (1123 %12-3 %11 %1222 -1122%13 + 11 x14) -

(1/12) * (L1724 xf17r2-4% 1122 %12 % f17A2 -3 %1222 %xf1lA2-11 %13 % f1A2+ 14 xf1r2 -
2%1174%f2+8%1122%x12%f2+6%x1222%xf2+2%x 11 %13 %xf2-2%14%f2) +

(5/6) * 11 %x12% (f123 -3 % flxf2+3%xf3) + (5/12) » (11122 +12) %

(f1r4 -4 %xf1lr2%xf2+2%xf2202+4xf1lxf3-4xf4) + (11/2) *

(fIA5 -5 %xf1lA3 % f2+5%xflxf22A2+5%xflA2%xf3 -5xf2%xf3-5xFflxf4+5%f5) +

(1/6) * (f126-6%xf124%xf2+9%xf1r2%xf2202-2xf223+6%Ff1LA3xf3 -
12%flxf2%xf3+3xf322-6%xf1lr2%xf4+6xf2xf4+6%xf1xf5)]

Out[89]=
6566 d> 6769d3> 980d* 161d> 14d® d7 f1° . 3 f12 22 23
2178 d - + - + - 4 —t —-f1"f2+ — - — 4
3 6 3 3 3 6 6 2 3
5 32 5 . f1°11 5 5
f1>f3-2f1f2f3+ — - f12f4+ f2f4+f1lf5-840H®+ - —f13f211+
2 2 2

5 5 _, 5f2f311 5f1f411 5f511 5 f1*11?
f1f2211+ — f12 f3 11 - - + + _
2

2 2 2 12

5

2

5 5 522112 5 5 5f4 112 f1211% f211* 5f1412
—fi1f211°+ — + — f1f311°- - + + -
3 6 3 3 12 6 12
5
3
5

5 5f2212 5f1f312 5f412 5 5 5
f12 f212 + + - +—f131112- - fr1f21112+
6 3 3 6 2

fatttz 1 2 5 1 5 12122 f212?
- 4+ f1%211%12- - f211%°12- — f111% 12+ - +
2 3 3 12 4 2

1 1 f21113 1 f1214 f214 f1l114
—firl112?2+ — f121113- —— + — f111%213- + -
4 12 6 12 12 6 12
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infeol:= Expand [%89 /.
{11 > (8-d) *H, 12> (d*"2-8%xd+28) *xH"2, 13> (56-28xd+8%xd"2-d"3) *xH"3,
14 (d"4-8%xd"3+28%xd"2-56%xd+70) xH" 4,
15> (56-70*d +56%*d"2-28xd"3+8+xd"4-d"5) xH"5,
flo (7/2) % (d-1) %H, f2 5 (7/24) % (d-1) % (19%d - 17) *xHA2,
f3 -5 (35/48) * (d-1)"2% (7T*xd-5) *xH"3, f4 > %81xH"4, f5 > %87 xHA5}]

Oout[90]=

6566 d> 6769d3> 980d* 161d> 14d® d7 903246323H° 8403241dH®

2178 d - + - + - + — - + -
3 6 3 3 3 6 414720 3840
31158533 d2H® 124607 d3H® 7133819d*H® 4683d°H® 3619 d°H®
+ - + +
27648 384 138240 1280 82944

info11:= Expand[%90 /. {HA6 » d}]

out[91]=
13837d 413d? 33019d® 833d* 285061d> 3871d® 17443d’
- + - + - +

414720 1280 27648 384 138 240 3840 82944

inf921:= Expand[ (1 /d) %= %91]

out[92]=
13837 413d 33019d®> 833d® 285061d* 3871d> 17443d°
+ - + - +

414720 1280 27648 384 138 240 3840 82944

inf931:= Factor [%92]

Out[93]=

(-1+d) (-13837+119975d - 375310 d* + 524330 d° - 330853 d* + 87215 d°)

414720

infoal:- FunctionExpand[1l - Binomial[8 -d, 8]]

out[94]=

(-8+d) (-7+d) (-6+d) (-5+d) (-4+d) (-3+d) (-2+d) (-1+d)
40320

1-




40 | r=7,n=8-new.nb

inesl:= d7 = -c1l76 % (dl) /42 + (1/7) *cl™4%xc2xdl- (11/84) xcl”2%c272xdl -
5xc273% (dl) /42 - (5/84) *xclA3xc3xdl- (11/84) xclxc2xc3*xdl+
€372 (d1) /84 + (5/84) #ClA2xcAxdl+3+C2xcdx (dl) /28 + clc5* (dl) /42 -
C6% (d1l) /42 + (1/4) xclA34c2%dlA2 - (3/4) xclxc272%d1A2 -
(1/4) *xcl?2%xc3%d1lr2+ (1/4) xclxcdxdl 2 +cl?r4% (d1r3) /6 -
(2/3) *xcl?2%xc2%d1lrA3-c272% (d173) /2-(1/6) *xclxc3xd1l" 3+
c4x (d173) /6 - (5/4) +clsc2+d1lA4 - clA2x (d1A5) /2 -c2« (d1A5) /2 -
clx (d176) /2- (d1AT7) /7-(1/2)%*cl?r3%xc2%xd2+ (3/2)*xcl*xc2”2xd2+
(1/2) *cl?2xc3xd2-clxcd4*(d2) /2-(1/2)*clPr4xdlxd2+2xcl?2xc2+xdlxd2+
(3/2)*c272xdlxd2+ (1/2)*clxc3xdlxd2-c4xdlx (d2)/2+
S5xclxc2%xdl”2%xd2+ (5/2) *xcl?2%d17r3%xd2+ (5/2) *c2xd1l 3 xd2+
3xclxdl”r4%d2+d1r5xd2- (5/2) *xclxc2%xd2”r2-(5/2)%cl?2xdlxd2"2-
(5/2) *c2%dlxd2722-(9/2) *clxdl?r2%xd2722-2%xd173%xd2722+clxd2/73 +
dl*d223+cl?4% (d3) /2-2%xcl?2%c2%xd3-3%xc222% (d3)/2-clxc3*(d3)/2+
c4%(d3) /2-5%xclsc2xdl«d3 - (5/2) +clAr2%d1Ar2%d3- (5/2) xc2+d1A2+d3 -
3xclxdlr3xd3-d1r4xd3+ (5/2)*cl?2xd2*xd3 +5%xc2xd2x (d3) /2+
6xCclxdlxd2*d3 +3%xd1l”r2xd2xd3-d222xd3 -3 %xclx (d3722)/2-d1xd372+
5xclxc2xd4+ (5/2) xcl?2xdlxd4+5%xc2xdl*(d4) /2+3xclxdlr2xd4+
dir3+xd4-3%xclxd2+d4-2+xdl*xd2+xd4+d3xd4-5%cl”?2% (d5)/2-5»c2* (d5)/2-
3xclxdlxd5-d1”r2xd5+d2xd5+3xcl*xd6+dl*xd6-720xChi*r+720xdxr

Out[95]=

cl®d1 1 . i 5c23d1 5 s 11 c3?2d1
- +—¢cl"c2dl- —cl“c2“dl- ——— - — c1°c3dl- —clc2c3dl+ +

42 7 84 42 84 84 84

5 5 3c2c4dl clc5dl c6dl 1 3 5 3 ) 1o 1 5 5
— clcadl+ + - +—cl°c2dl“- —clc2°dl - —cl“c3d1l+
84 28 42 42 4 4 4
1 , cl*di® 2 , c2?2d1® 1 , c4d1® 5 .
—-clc4dl*+ —— - —cl1°c2dl>- —— - —clc3dl’+ - —clc2d1l”-
4 6 3 2 6 6 4
c12d1® ¢2d1® c1d1® di7 1 s 3 5 1, clc4d2

- - - — -—cl>c2d2+ -clc2“d2+ -cl“c3d2 - —— -

2 2 2 7 2 2 2 2

1 4 ) 3 ) 1 c4 dld2 )
—cl”dld2+2cl°c2dld2+ —c2°dld2+ —-clc3dld2- —— +5clc2dl“d2+
2 2 2 2
5 2 3 5 3 4 5 5 2 5 2 2 5 2
—cl“dl>d2+ —c2d1°d2+3cl1dl"d2+d1°d2- —clc2d2“- —cl°dl1d2°- — c2dld2“-
2 2 2 2 2

9 5 s s s 5 , cl*ds 5 3c22d3  clc3d3
—cldl“d2c-2d1°d2“+cl1d2°+d1d2°+ — -2cl“c2d3 - - +

2 2 2 2

c4 d3 5 ) ) 5 ) 3 4 5 )

-5c1c2dld3- —c1°d1“d3- —c2d1“d3-3¢c1d1°d3-d1"d3+ —cl°d2d3+

2 2 2 2

5c2d2d3 X X 3cl1d3? X
—— +6cldld2d3+3d1“d2d3-d2“d3 - ——— -d1d3“+5clc2d4+

2 2

5 ) 5c2dld4 ) 3

—cl“dld4+ —— +3cldl“d4+d1°d4-3cld2d4-2d1d2d4 +d3d4 -

2 2

5cl?d5 5c2d5 X )
- -3cldld5-d1*°d5+d2d5+3cld6+dld6-720Chir+720dr

2 2
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inloel:= Expand[%95 /. {r » 7, Chi -» %94, c1 - (9-d) xH,
c2-> (d"2-9%d+36) *xHA"2, c3 > (84-36xd+9%xd"2-d"3) *xHA3,
c4-5 (d"4-9%xd"3+36xd"2-84%xd+126) xH 4,
C5- (126-126+d +84%d"2-36%d"3+9xdA4-dA5) xHAS,
c6-> (84-126%xd+126%xd"2-84xd*"3+36+xd*"4-9xd"5+d"6) xH"6,
dlo (7/2) % (d-1) *H, d2 > (7/24) % (d-1) % (19%d - 17) *H"2,
d3 - (35/48) » (d-1)"22% (7T+*d-5) *xHA3,
d4 5 %81%H"4, d5 > %87 *HA5, d6 » %93 *x HA 6} ]

out[96]=

29531d?> 16821d3® 22449d* s 273d® 9d’ d®
-8658d + - + -567d” + - +— +
2 2 8 4 2 8

7181290607 H’ 12247082483dH’ 465062045d?°H’ 775774573 d3H’
_ N _

829440 829440 55296 276480
156680111 d*H’ 18805619d°H’ 729053d°H’ 83821d"H’

— + —

276480 276480 165888 829440

+

ine71= Expand[%96 /. {HAT - d}]

out[97]=
913d 13837d?> 4963d® 62867d* 84049d> 64141d® 17443d” 19859d?®
+ - + - + - +

829440 829440 55296 276480 276480 276480 165888 829440

infosl:= Expand [ (1/d) % %97]

out[98]=

913 13837d 4963d?> 62867d® 84049d* 64141d> 17443d°® 19859d’
+ - + - + - +

829440 829440 55296 276480 276480 276480 165888 829440

inf99l:= Factor [%98]

out[99]=

(-1+d)? (-1+7d) (913 -5620d + 10170 d* - 6380 d* + 2837 d*)

829440
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In[100]:=
Expand[pl /. {cl-> (10 -d) %H,
c2- (d"2-10%d+45) xH"2, c3 > (120-45%*d +10%d”"2-d"3) xH" 3,
c4-5 (d"4-10%xdr3+45xd"2-120%xd +210) xH 4,
c5-> (252-210%d+120%*d”*2-45xd"3+10xd"4-d~"5) *xHAS5,
c6-> (d"6-10%dA5+45xd"4-120%d"3 +210xd”"2-252%xd+210) xH"6,
C7 - (120-210%d +252%d"*2-210%d"3 +120xd"4 -45xd*5+10xd"6-d"7) xHAT,
c8-> (45-120%d +210xd"2-252%d"3 +210%xd"4-120xd"5 +
45 %d"6-10%xdA7 +d”"8) xHA8, f1 - (7/2) % (d-1) xH,
f25 (7/24) « (d-1) % (19%d-17) xHA2, f3 5 (35/48) % (d-1)A2% (T+d-5) xHA3,
f4 5 %81%HA4, f5 5 %87 *HA5, f6 5 %93 +HAG, 7 > %99 x HAT}]

Out[100]=

784611428561 H% 781dH® 37936816247 d?>H® 2513d3H®
+ + + -

143327232000 80 7166361600 2880
6545449687 d*H® 203 d°H® 39463103d°H® 17d"H® 71618561 d®H?

- + + + +

23887872000 1440 7166361600 2880 143327232000
781H8t 75077dH®t 22981d*°H®t 14609d3H®t 343d*H®t 217d°H®t

+ + +

40 2880 2160 11520 1080 1920

7d°H8t 17d"H®t T75077HEt? 38423dH®t? 47383d2H®t?2 203 s 8o
+ + + + + —— dH® t° -
2160 11520 2880 1440 5760 288
1127 d* H® t2 7 6.0 T d® H® t2 38423 H8t3 26719dHEt3
— R + + +
8640 240 17280 2160 1920
343 o, 217 d®H®t3® 49d*H®t3 7d°H®t3 26719HEt* 1169 .
— dH"t + - - + + dH® %+
108 1152 2160 2880 3840 288
1127 d? H® t* T L., 49 d*HE® t* 1169H®t> 3857dHEt> 49 ) s s
—— + — d°H® t" - + + + — d“H®t +
1728 288 34560 720 5760 720
7d3H® t> 3857 HE t° 7 s.s 49 d?HE t® HetT 1 HE 8
+ + dH® t° + + + D
5760 17280 120 17280 60 480 1920

+

In[101]:=

Expand[%100 /. {HA8 -» d}]

Oout[101]=

784611428561d 781d?> 37936816247d® 2513d* 6545449687d° 203d°

+ + + - - +
143327232000 80 7166361600 2880 23887872000 1440
39463103d7 17d® 71618561 d° 781dt 75077d*t 22981d3t 14609d*t
+ + + + + + -
7166361600 2880 143327232000 40 2880 2160 11520
343d°t  217d°t 7d't 17d®t 75077dt® 38423d*t* 47383d°t> 203d*t?
- + + + + + + -
1080 1920 2160 11520 2880 1440 5760 288
1127d°t*  7d°t? 7d't* 38423dt® 26719d*t® 343d°t® 217d*t?
- + + + + + -
8640 240 17280 2160 1920 108 1152
49d°t3 7d®t3 26719dt* 1169d2t* 1127d3t* T7d*t* 49d>t* 1169d+t°
- + + + + - + +
2160 2880 3840 288 1728 288 34560 720
3857d2t> 49d3t> 7d*t5 3857dt® 7d*t® 49d3t® dt7 d*t’  dt8
+ + + + + + + +

5760 720 5760 17280 120 17280 60 480 1920
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In[102]:=
Expand[p2 /. {cl-> (10 -d) %xH,
c2- (d"2-10%d+45) xH"2, c3 > (120-45%*d +10%d”"2-d"3) xH" 3,
€4 (d"4-10%xd*3 +45+d"2-120+d +210) xHA4,
c5-> (252-210%d+120%*d”*2-45xd"3+10xd"4-d~"5) *xHAS5,
c6-> (d"6-10%dA5+45xd"4-120%d"3 +210xd”"2-252%xd+210) xH"6,
€7 > (120-210+d +252%d*2-210+d*3 +120+d*4-45+dA5+10xd 6 -dA7) xHAT,
c8 - (45-120%d+210xd*2-252%d*3+210xd"4-120xd" 5+
45 %d"6-10%xdA7 +d”"8) xHA8, f1 - (7/2) % (d-1) xH,
f2 5 (7/24) » (d-1) « (19%xd-17) *xH*2, f3 > (35/48) * (d-1)"2% (7T*xd-5) *xH"3,
f4 5 %81xHA4, f5 > %87 +HA5, f6 > %93 xHA6, f7 > %99 +HAT}]
out[102]=
4588414559H% 760879dH® 3020091833d2H® 10927d3H® 2397401447 d*H8
4478976000 : 103680 : 223948800 ’ 1080 : 746 496 000 :
3577 d5H® 48436783 d°H® 3101d"H® 23844241d%H® 760879HEt 23227de“c
34560 223948800 51840 4478976000 : 103680 : 810 :
77273 d?H8 t 27601d3H®t 147637d*HE®t 427d°H®t 7007d®HEt 443d HEt
2160 : 1440 : 34560 : 8640 51840 25920 :
23227 H®t? 18473 37247 d?H8 t2 15239 d3H®t?2 34727 d*HEt?
+ dH® 2 + + + +
1620 480 1080 1152 17280
49d°H®t2 1001d°H®t? 18473H®t® 215173dH®t3 18473d2HEt3
5760 51840 : 1440 : 8640 : 1152 :
3661 2303d*H8 3 7d°H®t® 215173H8t* 10045dHEt?
—  d®HE 3 + + + +
864 5760 8640 34560 1152
13391 d? H8 t* 245 329d*HE t* 2009 HEt> 973 539 d2 H® t°
S ——. £ + + dH® > — &
3456 384 11520 1152 576 1152
8 4+6 2 48 46 8 4+7 8 +8
Ld3H8t5+973H t . 49 dH8t6+77d HE t +7H t . 1 dH8t7+H7t

192 3456 288 3456 288 144 1152
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In[103]:=

Expand[%102 /. {HA8 -» d}]

out[103]=

4588414559d 760879d?> 3020091833d3 10927d* 2397401447d° 3577d°

+ + +

+ +
4478976000 103680 223948800 1080 746496 000 34560
48436783d7 3101d® 23844241d° 760879dt 23227d*t 77273d3t
- - + + + +
223948 800 51840 4478976000 103680 810 2160
27601d*t 147637d°t 427d°t 7T7007d t 443d%t 23227dt?
+ + - - + +
1440 34560 8640 51 840 25920 1620
18473d?t?> 37247d3t?2 15239d*t? 34727d°t? 49d°t? 1001d’t?
+ + + + - +
480 1080 1152 17280 5760 51840
18473dt3 215173d*t3 18473d3t3® 3661d*t® 2303d°t3 7d°+3
+ + + + + +
1440 8640 1152 864 5760 8640
215173dt* 10045d2t* 13391d3t* 245d*t* 329d°t* 2009dt°
+ + + + + +
34560 1152 3456 384 11520 1152
973d%*t> 539d3t> 7d*t® 973dt® 49d*t® T77d3t® Tdt’T d*t’ dtB
+ + + + + + + +

576 1152 192 3456 288 3456 288 144 1152
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In[104]:=
Expand[p2 /. {t— (t+ (7/2) * (d-1)), cl- (10 -d) H,

c2- (d"2-10%d+45) xH"2, c3 > (120-45%*d +10%d”"2-d"3) xH" 3,

c4-5 (d"4-10%xdr3+45xd"2-120%xd +210) xH 4,

c5-> (252-210%d+120%*d”*2-45xd"3+10xd"4-d~"5) *xHAS5,

c6-> (d"6-10%*dA5+45xd"4-120%d"3 +210xd”*2-252%d+210) *xH"6, c7 >
(120-210%d +252%d"2-210%d"*3 +120xd"*4 -45%xd"5+10xd"*"6-d 7) *xH A7, c8 »
(45-120%d +210%xd"2-252%d"*"3 +210xd*4-120%d"5+45%xd"6-10xd "7 +d"8) «
HA8, fl > -(7/2) % (d-1) xH, f2 > (7/24) » (d-1) % (19%d - 17) *HA2,

f3-5-(35/48) * (d-1)"2% (7T*xd-5) *xH"3, f4 5 %81xH" 4,

f5 - - (%87) *xHA5, f6 - %93 xH 6, f7 » - (%99) xHAT}]

Oout[104]=
2913392207 H® 289dH® 2495665111d*H® 194803 d*H® 17081536969 d*H®
- + + + + +
8957952000 46080 447897 600 15360 1492992000
74137 d°H® 370588639d°H® 709d"H® 136744607d®H® 289H®t 207569dHEt
+ - - + + +
15360 447897600 46080 8957952 000 69120 27648
309113d?H8t 1583323d3H®t 466627d*H®t 51569d°H®t 623d°H®t
+ + + + -
11520 46080 23040 9216 1080
709d" H®8t 207569H®t2 47047dH®t?> 2545613d2H®t2 7889 s 8o
+ + + + d® H® t° +
138240 82944 2560 69120 256
329651 d*H® > 5103 d°H®t®> 623d°H®t> 47047H®t® 389767dH®t?
+ + + + +
27648 2560 6480 11520 23040
25529 d*H8 t° 28049d’H®t® 3647d*H®t® 567d°H®t® 389767 H®t?
+ + + + +
1152 2304 1280 2560 138240
245 ., 91049 d?H8 t* 35 s 8.4 3647 d*H8 t* 49H®t> 175 -
—dH*t"+ ——— + — dH t" + + + dH®t7+
32 13824 16 15360 48 96
91 7 175H3 % 7 91d?H3t® HEtT 1 HE 8
— d?HE s — BPHEE s ——— + — dHE O + +—dH Ty ——

96 48 864 32 1728 48 96 1152
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In[105]:=

Expand[%104 /. {HA8 » d}]

out[105]=

2913392207d 289d? 2495665111d3® 194803d* 17081536969d°

8957952000 : 46080 : 447 897 600 : 15360 : 1492992000 :
74137d® 370588639d’ 709d® 136744607d° 289dt 207569d%t
15360 : 447897600 46080 8957952000 : 69120 : 27648 :
309113d3t 1583323d*t 466627d°t 51569d°t 623d°t 709d%t
11520 : 46080 ' 23040 ' 9216 : 1080 138240 :
207569dt?> 47047d?>t?2 2545613d3t2 7889d*t? 329651d°t?2 5103d°t2
82944 : 2560 : 69120 : 256 : 27648 : 2560 :
623d7 t2 47047dt® 389767d*t3 25529d3t® 28049d*t® 3647d°t3
6480 : 11520 : 23040 ' 1152 ' 2304 ' 1280 '
567d°t3 389767dt* 245d%t* 91049d3t* 35d*t* 3647d°t* 49dtd
2560 : 138240 : 32 ’ 13824 : 16 ’ 15360 : 48 :
175d2t> 91d3t® 7d*td 175dt® 7d?t® 91d3t® dt? d?t’ dtd
+ + + + + + + +

96 96 48 864 32 1728 48 96 1152
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In[106]:=
Expand[pl /. {t— (t+ (7/2) * (d-1)), cl- (10 -d) H,

c2- (d"2-10%d+45) xH"2, c3 > (120-45%*d +10%d”"2-d"3) xH" 3,

c4-5 (d"4-10%xdr3+45xd"2-120%xd +210) xH 4,

c5-> (252-210%d+120%*d”*2-45xd"3+10xd"4-d~"5) *xHAS5,

c6-> (d"6-10%*dA5+45xd"4-120%d"3 +210xd”*2-252%d+210) *xH"6, c7 >
(120-210%d +252%d"2-210%d"*3 +120xd"*4 -45%xd"5+10xd"*"6-d 7) *xH A7, c8 »
(45-120%d +210%xd"2-252%d"*"3 +210xd*4-120%d"5+45%xd"6-10xd "7 +d"8) «
HA8, fl > -(7/2) % (d-1) xH, f2 > (7/24) » (d-1) % (19%d - 17) *HA2,

f3-5-(35/48) * (d-1)"2% (7T*xd-5) *xH"3, f4 5 %81xH" 4,

f5 - - (%87) *xHA5, f6 - %93 xH 6, f7 » - (%99) xHAT}]

out[106]=

4053139039H% 137dH® 10744423513d>H® 4403 d3H® 188962273913 d*H?
- + + +

143327232000 192 7166361600 2304 23887872000
9667 d® H® 28941086063 d°H® 2099d"H® 11282180561d%H® 137H®t

+ + + - -

1152 7166361600 2304 143327232000 384
17713dH8t 39361d?°H®t 1477 154721d*H®8t 153643d°H8t

+ + d>HE t + + +

11520 13824 90 6912 11520
50113 d°H®8t 2099d"H®t 17713 H®t? 3269dH®t? 36239d?H®t? 26915d3HEt2

+ - + + + +
13824 5760 46080 2304 2880 1152
2464609 d*H8 t2 1533 50113 d°H8® t2 3269H®t3 8141dH®t3

+ d® HE t2 + + + +

138 240 256 69120 13824 1920

82915d? H® t3 2387 73829d*H® t3 511 8141 H® t* 875
+ dBPHE s —— s dPHEER s ——
6912 192 13824 640 15360 288

66283 d?H® t* 805 73829d*H®t* 175H®t> 35 497

SEEE—————. £ + + — dHEt>+ — d?HE o+
13824 288 138240 576 36 576

161 35H8t* 7 497 d?H® t® HE T 1 HE 8

— KBt s — + — dHBtO . + + —_—

720 432 48 8640 96 120 1920

dH® t*+
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In[107]:=

Expand[%106 /. {HA8 » d}]

out[107]=

4053139039d 137d?> 10744423513d% 4403d* 188962273913d°

- - - + + +

143327232000 192 7166361600 2304 23887872000
9667 d® 28941086063d7 2099d® 11282180561d° 137dt 17713d’t

+ + + - - +

1152 7166361600 2304 143327232000 384 11520
39361d3t 1477d*t 154721d°t 153643d°t 50113d't 2099d®t

+ + + + + -

13824 90 6912 11520 13824 5760
17713dt?> 3269d2t?> 36239d3t? 26915d*t? 2464609d°t?> 1533d°t2

+ + + + + +

46080 2304 2880 1152 138240 256
50113d7t> 3269dt3 8141d?t3® 82915d3t3 2387d*t3® 73829d°t3

+ + + + + +

69120 13824 1920 6912 192 13824
511d®t3 8141dt* 875d?>t* 66283d3t* 805d*t* 7T73829d°t* 175dt°

+ + + + + + +

640 15360 288 13824 288 138240 576
35d%2t> 497d3t> 161d*t® 35dt® 7d*t® 497d3t® dt7 d?t7 dtd

+ + + + + + + +

36 576 720 432 48 8640 96 120 1920

In[108]:=
Expand[%101 /. {tsm- (7/2) % (d-1)}]

Oout[108]=

513397845100961d 3234753d?2 136776814811687d°> 4128509 d*

- + - +

143327232000 256 7166361600 256
199155939265913d> 2073001d® 3827890074863d7 45341d°®
_ . _

23887872000 768 7166361600 768
399973316561d° 1078251dm 32769729d?’m 3134579d3m

+ - + -

143327232000 256 2560 192
43508143d*m 10646671d°m 25508329d°m 166117d'm 45341d®m

+ - + - +

3840 2304 23040 1152 5760
10923243dm? 2803269d?’m? 132147757d3m?> 803915d*m?
_ N _

5120 512 23040 256
131018209d°m* 76517d°m? 166117d'm? 934423dm°> 4924423d%md

- + + - +

138240 512 17280 1536 3840
2441915d®m® 494683d*m® 393029d°m® 76517d°m® 4924423dm?

— + — + —

2304 1152 4608 11520 46080
11375d?m* 1502683d3m* 1855d*m* 393029d>m* 2275dm®> 175d’m°®

+ + +

64 13824 64 138240 192 12
1127d3m®>  371d*m® 175dm® 21d*m® 1127d®m® dm’ d®*m’ dmé

- + - + + +

192 480 216 32 8640 32 80 1920

+

+

+
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In[109]:=
Expand[%103 /. {t->m- (7/2) » (d-1)}]

out[109]=

29526126063793d 870925783d? 6358487753911d% 294039053 d*

8957 952 000 ) 82944 : 447897 600 ) 27648 :
7197243852169d5 37304239d° 101311255039d” 1699061 d®
1492992 000 ) 27648 | 447897600 " 82044
6668724193d° 870925783dm 954207685d’m 452976139d3m
8957952000 207 360 ) 82944 : 34560 ;
24727451d*m 198599989d°m 16427285d°m 1697017d’'m 242723d%m
3072 : 69120 ) 27648 : 25920 BEPYYYVER
190841537dm? 8158843d?m? 342945617d°m? 5528915 d* m?
82944 ) 1536 : 69120 ) 2304 :
17497907d°m?> 396361d°m? 242431d"m? 8158843dm® 18533767d?m?
27648 ) 4608 " s1sa0 11520 : 13824 :
1136261d3m® 2436245d*m® 703787d°m® 56623d°m® 18533767dm*
1152 ) 6912 : 11520 13824 138240 )
57575d?m* 1502249d3m* 1225d*m* 100541d°m* 2303dm°® 5075d?m°
288 : 13824 : 48 " 4080 144 288
1813d®m®> 35d*m® 1015dm® 245d’°m® 259d®*m® 7dm’ 5d’m’ dmd
288 48 8e4 288 1728 144 288 1152

In[110]:=

Expand [%105 /. {t>m- (7/2) % (d-1)}]

e 7572278446559d 245528881d2 1247393724473d® 1549457 d*
4478976000 51840 : 223948800 ) 432 i
1027698058247d> 5515783d® 9546382577d” 14573d® 242742959 d°
746496 000 17280 ' 223948800 5184 ' 4478976000 i
245528881dm 18412031d*m 24240853d®m 94465d*m 30740983d°m
103 680 ) 3240 i 4320 ) 32 i 34560 )
328181d°m 689689d'm 1121d®m 18412031dm? 42952d?m? 39926159d3m?
2160 : 51840 2592 : 12960 ) 15 : 17280 )
549731d*m? 1830661d°m?> 68341d°m?> 53053d'm?> 21476dm3
576 : 8640 ) 2880 ’ 51840 i 45 )
3396673d?m® 573937d®m® 32753d*m® 127127d°m® 5257d°m® 3396673dm*
4320 : 1152 ) 216 i 5760 4320 i 34560 )
73255d%m*  102613d3m* 2275d*m* 9779d°m* 14651dm® 3493d?m°
576 : 1728 ) 192 T 520 : 1152 288 :
3493dm® 91d?m® 329d®m® 13dm’ d*’m’ dmd

4277d®*m®  35d%m°
- + + + - +
1152 96 3456 144 3456 288 72 1152
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In[111]:=
Expand [%107 /. {to>m- (7/2) % (d-1)}]

out[111]=

67498793060561d 177759d? 7800211243127d%® 369677d* 4303569007913d°

- + - +

143327232000 160 7166361600 640 23887872000
31871d® 24709497023d” 359d® 743464961d° 59253dm 475569d%m
960 : 7166361600 1920 : 143327232000 : 80 ) 320 :
583093d®m 2011037d*m 45941d°m 99407d®m 1687d'm 359d®m
480 ) 3840 : 360 5760 : 1440 11520 :
158523 dm?> 265503d?m? 634865d3m? 11879d*m? 143339d°m? 469 d°m?
320 ) 320 : 1152 ) 64 : 4320 160 :
1687d"m?> 88501dm® 481957d?’m® 2345d®m® 37079d*m® 5411d°md
17280 : 480 ) 1920 : 18 : 1152 : 1440
469d°m® 481957dm* 2849d’m* 3661d3m* 175d*m* 5411d°m* 2849dm°
2880 : 11520 64 : 216 : 64 : 34560 : 480
8897 d?m> 553d®m® 35d*m®> 8897dm® 21d?’m® 553d®m® dm’ d?’m’ dmd
1920 : 480 384 : 17280 80 : 17280 : 40 160 : 1920
In[112]:=
FunctionExpand[Binomial[m+ 9, 9] - Binomial[9+m-d, 9] +
6 * (Binomial[m- (7/2) * (d-1) +9, 9] -Binomial[9+m- (7/2) * (d-1) -d, 9]) -
5x7xdxBinomial[8+m- (7/2) % (d-1), 8] +4%%108 - 3% %109 + 2 *%110 - %111]
out[112]=

67498793060561d 177759d?> 7800211243127d%> 369677d*
_ N _ . _
143327232000 160 7166361600 640
4303569007913d> 31871d® 24709497023d” 359d® 743464961d°
+ - + - -
23887872000 960 7166361600 1920 143327232000
1
—  d(-23+7d-2m) (-21+7d-2m) (-19+7d-2m) (-17+7d-2m)
294912
1
(-15+7d-2m) (-13+7d-2m) (-11+7d-2m) (-9+7d-2m) - ——
30965760
(-25+7d-2m) (-23+7d-2m) (-21+7d-2m) (-19+7d-2m) (-17+7d-2m)
1
(-15+7d-2m) (-13+7d-2m) (-11+7d-2m) (-9+7d-2m) + ——
30 965760
(-25+9d-2m) (-23+9d-2m) (-21+9d-2m) (-19+9d-2m) (-17+9d-2m)
1
(-15+9d-2m) (-13+9d-2m) (-11+9d-2m) (-9+9d-2m) + ——
362880

(-9+d-m) (-8+d-m) (-7+d-m) (-6+d-m) (-5+d-m) (-4+d-m)
59253dm 475569d’m 583093d3m

(-3+d-m) (-2+d-m) (-1+d-m) - + - +
80 320 480
2011037d*m 45941d°m 99407d®m 1687d'm 359d®m 158523 dm?
- + - + - +
3840 360 5760 1440 11520 320
265503d°m?> 634865d°m? 11879d*m? 143339d°m? 469d°m?> 1687 d’ m?
_ + _ + _ _
320 1152 64 4320 160 17280
88501dm* 481957d’m®> 2345d®m® 37079d*m® 5411d°m® 469d°m’
+ - + - + -

480 1920 18 1152 1440 2880



481957dm* 2849d?m* 3661d°m*

r=7,n=8-new.nb

175d*m* 5411d°m* 2849dm°

+ - + - - +
11520 64 216 64 34560 480
8897 d’m> 553d*m> 35d*m> 8897dm® 21d’m® 553d*m® dm’ d*m’
- + - + - - + -
1920 480 384 17286 80 17286 40 160
dmd (L+m) (2+m) (3+m) (4+m) (5+m) (6+m) (7+m) (8+m) (9+m)

+

+

1920 362880

513397845100961d 3234753d2

136776814811687d% 4128509d*

+

+

143327232000 256 7166361600 256
199155939265913d> 2073001d°® 3827890074863d" 45341d°8
23887872000 ) 768 " 7166361600 7168
399973316561d° 1078251dm 32769729d?’m 3134579d%m
143327232000 256 ) 2560 : 192 )
43508143d*m 10646671d°m 25508329d°m 166117d'm 45341d®m
3840 i 2304 ) 23040 : 1152 " 5760

10923243dm? 2803269d°m? 132147757d3m?> 803915d*m?

- +

- +

5120 512 23040 256
131018209d°m? 76517d°m? 166117d'm? 934423dm® 4924423d*m?
- + + - +
138240 512 17280 1536 3840

2441915d®m® 494683 d*m3

393029d°m® 76517d°m® 4924423dm?

+

+ —

2304 1152 4608 11520 46080
11375d?m* 1502683d3m* 1855d*m* 393029d°m* 2275dm® 175d?m®
64 : 13824 } 64 " 138240 192 12 :
1127d3m®  371d*m®> 175dm® 21d?’m® 1127d®m® dm’ d?m’ dmd
192 488 216 32 se40 32 se 1920
29526126063793d 870925783d?> 6358487753911d> 294039053 d*
8957952000 ) 82944 : 447897 600 ) 27648 :

7197243852169d° 37304239d°

101311255039d” 1699061 d®

+

1492992000 27648
6668724193d° 870925783dm

+

447897 600 82944
954207685d’m 452976139d3m

+

+ -

8957952000 207 360 82944 34560
24727451d*m 198599989d°m 16427285d°m 1697017d'm 242723d®m
+ - + - +
3072 69120 27648 25920 82944

190841537dm?> 8158843d?m?

342945617d°*m?> 5528915 d* m?

+

82944 1536

17497907 d°m? 396361d°m?> 242431d"m? 8158843dm® 18533767d’m?

+

69120 2304

+

27648 4608

+

51840 11520 13824

+

1136261d3m® 2436245d*m® 703787d°m® 56623d°m® 18533767dm?

- +

1152 6912

57575d?m* 1502249d3m* 1225d*m* 100541d°m* 2303dm® 5075d’m°

— + —

11520 13824 138 240

+

+ + +

288 13824 48 46 080 144 288

1813d3m® 35d*m®
- +

1015dm® 245d?m® 259d®m® 7dm’ 5d’m’ dmd

288 48 864

+ + + +

288 1728 144 288 1152
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7572278446559d 245528881d2 1247393724473d® 1549457 d*

+ +

4478976000 51840 223948800 432
1027698058247d%> 5515783d® 9546382577d’ 14573d°®
746496 000 " 17280 223948800 5184
242742959d° 245528881dm 18412031d?’m 24240853dm
4478976000 103680 ) 3240 : 4320 )
94465d*m 30740983d°m 328181d°m 689689d'm 1121d®m
32 : 34560 ) 2160 " s1s4a0 2592
18412031dm? 42952d?m? 39926159d3m? 549731d*m? 1830661d°m?
12960 ) 15 : 17280 ) 576 : 8640
68341d°m?> 53053d'm? 21476dm* 3396673d?m® 573937d%m?
2880 51840 45 4320 YT i,
32753d*m®  127127d°m® 5257d°m® 3396673dm* 73255d%’m?
216 ' 5760 " 4320 34560 ) 576 !
102613d3m* 2275d*m* 9779d°m* 14651dm® 3493d?m® 4277d3m°
1728 ) 192 " Ti1s20 | 1152 288 s
35d*m® 3493dm® 91d?m® 329d®m® 13dm’ d?m’ dmé
96 3456 144 3456 288 72 1152
In[113]:=
Expand [%]

Out[113]=

22024437079d 667859d?> 9602823917d® 9997253d*

28665446400 82944 286654464 138240
426516947647 d> 1817291d° 8245412741d" 2861741d®
4777574400 27648 286654464 414720
19863510439d° 94541dm 1903321d?’m 1245769d®m 989695d*m
28665446400 414720 829440 138240 55296
2703953d°m 3324433d°m  1638373d'm 88423d®m 13837 dm?
138240 276480 414720 165888 829440
413d2m? 33019d®m? 833d*m? 285061d°m? 3871d°m?> 17443d'm?
2560 55206 168 276480 7680 165888
In[114]:=
vl = %113 /. {m-> 0}
Out[114]=

22024437079d 667859d®> 9602823917d® 9997253d*
- + - +

28 665446 400 82944 286 654 464 138240
426516947647 d> 1817291d® 8245412741d” 2861741d® 19863510439d°

- + - +

4777574400 27648 286 654 464 414720 28665446 400
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In[115]:=

Factor [%]
Out[115]=
1
28 665446 400
(—l+d)d(—22024437079+208787633321d4—751494758379d2+l321535623701d3—
1237566062181 d* + 646601246619 d° - 177940 027481 d° + 19863510439 d’)
In[116]:=
vl=%113 /. {m> 1}
Out[116]=
29037317719d 2905241d> 61786105057d®> 8414287 d*
- + - +
28665446 400 276480 1433272320 92160
524891417407d> 7212233d® 47039988313d” 2055199d® 19863510439d°
- + - +
4777574400 92160 1433272320 276 480 28665446 400
In[117]:=
Factor [%]
out[117]=
1
28 665 446 400
(—l+d)d(—29@37317719+272178069161d-—963544031979d2+1653635796501d3—
1495712707941d4+747580244379d5-193219521881d6+19863510439dﬂ
In[118]:=
DZ = Expand[%93 x d]
Out[118]=
13837d 413d? 33019d® 833d* 285061d> 3871d® 17443d’
- + - + - +
414720 1280 27648 384 138240 3840 82944
In[119]:=
Factor [%]
Oout[119]=
(-1+d)d (-13837+119975d - 375310 d* + 524330 d* - 330853 d* + 87215 d°)
414720
In[120]:=
HK = Expand[DZ + 2 » (vO - v1)]
Out[120]=
94541d 1903321d?> 1245769d3> 989695d*
_ . _ N _
207 360 414720 69120 27648
2703953d> 3324433d® 1638373d" 88423d°®
+ - +
69120 138240 207 360 82944
In[121]:=
Factor [%]
out[121]=
1
—(-1+d)d
414720

<1890824—l7l4239d4+5760375d2——9085050d34—7138668d4——2834631d54—442115d6)
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In[122]:=

K2 = Expand[ (9 +d - 27) *HK - (1/4) % (9 +d - 27) A2 % DZ]

out[122]=

382729d 1201021d?> 24920093d® 17870503d*

- + - +
61440 18432 92160 30720
1372483d> 3214477d® 2326523d’ 4970071d® 196705d°
- + - +
1920 6144 10240 92160 36 864

In[123]:=
Factor [%]

Out[123]=
————(-3+d) (-1+d) d(382729-3493098d +
184 320
11828355d” - 18805500 d* + 14902671 d* - 6006 042 d° + 983525 d°)
In[124]:=
C2 = Expand[- (1/120) % (12529 - 8592 xd + 1463 xd”2) xDZ + (1/5) * (26 xd - 71) * HK]
Out[124]=
29766391d 1739809d?> 81862907d> 5273303d*
- + - +
9953280 55296 622 080 18432
591328801d> 4894897d° 146775601d” 1596743d® 29656843d°
- + - +
1658880 18432 1244160 55296 9953280
In[125]:=
Factor [%]
Out[125]=
1
9953280
(-1+d) d (-29766391 + 283399229 d - 1026407283 d* + 1821176337 d*> - 1726796469 d* +
916447911d° - 257756897 d° + 29656843 d”)
In[126]:=
Expand[12 » vO - K2 - C2]
Out[126]=
281d 913 d3 39473 d° 41737d” 615881 d°
_ + _ N _
2388787200 119439360 398131200 119439360 2388787200
In[127]:=
Factor [%]
Oout[127]=

(-1+d)d(1+d) (-1+7d) (1+7d) (281-4210d*+12569d*)

2388787200



